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Instructions / સૂચના
Candidate must ensure compliance to the instructions mentioned below, else objections 
shall not be considered: - 
(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically. 
(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet) 

published on the website. 
(3) All suggestions are to be submitted with reference to the Master Question Paper with 

provisional answer key (Master Question Paper), published herewith on the website. 
Objections should be sent referring to the Question, Question No. & options of the Master 
Question Paper.  

(4) Suggestions regarding question nos. and options other than provisional answer key (Master 
Question Paper) shall not be considered. 

(5) Objections and answers suggested by the candidate should be in compliance with the 
responses given by him in his answer sheet. Objections shall not be considered, in case, if 
responses given in the answer sheet /response sheet and submitted suggestions are differed. 

(6) Objection for each question shall be made on separate sheet. Objection for more than one 
question in single sheet shall not be considered & treated as cancelled. 

ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.
(3) ઉમેદવાર ેપોતાન ેપરીԟામા ંમળેલ ԐՇપુિչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વેબસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેતે સંદભӪમાં
રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 
(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અન ેિવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવેલ જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ
કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં 

(6) એક ԐՇ માટે એક જ વાંધા-સૂચન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે
હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001.	 çkwæÄLkku MkkhLkkÚk ¾kíkuLkk «Úk{ WÃkËuþLke ½xLkk Lke[uLkk Ãkife fÞk Lkk{u yku¤¾kÞ Au ?

	 (A) {nk¿kkLk-«kÂÃík		  (B) {nkÃkherLkðkoý

	 (C) Ä{o[¢«ðíkoLk		  (D) {nkr¼rLk»¢{ý

002.	 {kiÞo ðneðxeíktºk{kt {wÏÞ fh W½hkðLkkh fÞk Lkk{u yku¤¾kíkku níkku ?

	 (A) Mk{kníkko (B) MkÂLLkÄkíkk

	 (C) {nkûkÃkx÷efk (D) «rîðufk

003.	 Lke[uLkk Ãkife fÞk hkòyu økehLkkh ÃkkMkuLkk MkwËþoLk ík¤kðLkwt Mk{khfk{ fhkÔÞwt ?

	 (A) [tÿøkwÃík-II		  (B) MfLËøkwÃík

	 (C) Mk{wÿøkwÃík		  (D) fw{khøkwÃík-I

004.	 Lke[uLkk Ãkife fÞku ÃkÕ÷ð hkò [k÷wõÞ hkò Ãkw÷fuþe II MkkÚku ÷zâku ?

	 (A) {nuLÿð{oLk (B) ®Mknð{oLk

	 (C) LktrËð{oLk (D) rð»ýwøkkuÃkð{oLk

005.	 MkwrðÏÞkík hký-fe-ðkðLkk rLk{koýLkwt ©uÞ Lke[uLkk Ãkife fE hkýeLku ykÃkðk{kt ykðu Au ?

	 (A) {kÄðe (B) yÃÃkkËuðe

	 (C) çkfw÷kËuðe (D) WËÞ{íke

006.	 Lke[uLkk Ãkife fkuLkk Mk{Þ ËhBÞkLk xeÃkw Mkw÷íkkLk MkkÚku ºkeswt yUø÷ku-{iMkwh ÞwæÄ ÷zkÞwt níkwt ?

	 (A) ðkphLk nuMxªøMk		  (B) [kÕMko fkuLkoðkur÷Mk

	 (C) hkuçkxo õ÷kEð		  (D) ðu÷uM÷e

007.	 ¼khík{kt þwÂæÄ yktËku÷LkLke þYykík fkuýu fhe ?

	 (A) hkò hk{{kunLkhkÞ	 (B) ËÞkLktË MkhMðíke

	 (C) fuþð[tÿ MkuLk (D) hk{f]»ý Ãkh{ntMk

008.	 ¼khíkeÞ hk»xÙeÞ fkUøkúuMkLkk fÞk yrÄðuþLkLkk «{w¾ MkhËkh ðÕ÷¼¼kE Ãkxu÷ níkk ?

	 (A) ÷knkuh, 1930		  (B) fhkt[e, 1931

	 (C) LkkøkÃkwh, 1932		  (D) {wtçkE, 1934

009.	 ¼kðLkøkh hkßÞ{kt Lke[uLkk Ãkife fkuýu hkßÞ Ãkrh»kËLke MÚkkÃkLkk îkhk MktðiÄkrLkf hksLke þYykík fhe ?

	 (A) ¼kð®MknS-II		  (B) sþðtík®MknS

	 (C) íkÏík®MknS		  (D) Äwýk®MknS

010.	 Lke[uLkk Ãkife fÞk ÃkÕ÷ð hkòyu {nkçk÷eÃkwh{ ¾kíku ¾zfLku fkÃkeLku MkwrðÏÞkík hÚk çkLkkÔÞk ?

	 (A) Ãkh{uïhð{oLk-I		  (B) Lkh®Mknð{oLk-I

	 (C) LktrËð{oLk-II		  (D) Ãkh{uïhð{oLk-II
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001.	 By which of the following name is the event of Buddha’s first sermon at Sarnath  
known ?

(A) Mahagyan prapti		  (B) Mahaparinirvana

(C) Dharmachakra pravartana	 (D) Mahabhinishkramana

002.	 What was the chief tax-collector in the Mauryan administration known as ?

(A) Samaharta		  (B) Sannidhata

(C) Mahakshapatlika		  (D) Pradvivaka

003.	 Which of the following king got the Sudarshana lake near Girnar repaired?

(A) Chandragupta-II		  (B) Skandagupta

(C) Samudragupta		  (D) Kumaragupta-I

004.	 Which of the following Pallava kings fought with the Chalukya king Pulakeshin II ?

(A) Mahendra Verman I		 (B) Simhavarman

(C) Nandivarman		  (D) Vishnugopavarman

005.	 Which of the following queens is credited with the construction of the famous stepwell  
Rani-ki-vav ?

(A) Madhavi		  (B) Appadevi

(C) Bakuladevi		  (D) Udayamati

006.	 The third Anglo-Mysore War was fought with Tipu Sultan during the time of which of the 
following ?

(A) Warren Hastings		  (B) Charles Cornwallis

(C) Robert Clive		  (D) Wellesley

007.	 Who started the Suddhi movement in India ?

(A) Raja Ram Mohan Roy	 (B) Dayananda Saraswati

(C) Keshav Chandra Sen	 (D) Ramakrishna Paramahansa

008.	 For which session of the Indian National Congress was Sardar Vallabhbhai Patel  
President ?

(A) Lahore, 1930		  (B) Karachi, 1931

(C) Nagpur, 1932		  (D) Bombay, 1934

009.	 Who among the following introduced the constitutional rule in Bhavnagar state by 
establishing a council of state ?

(A) Bhavsinhji-II		  (B) Jaswantsinhji

(C) Takhtasinhji		  (D) Dhunasinhji

010.	 Which of the following Pallava king built the famous rock-cut Rathas at Mahabalipuram ?

(A) Parmesvara Varman-I	 (B) Narasimha Varman-I

(C) Nandi Varman-II		  (D) Parmesvara Varman-II
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011.	 Lke[uLkk Ãkife fkuýu {kuhçke hkßÞ{kt xu÷eVkuLk MktËuþkÔÞðnkh þY fÞkuo ?
	 (A) fLÞkS hkðS (B) sÞkS hkðS
	 (C) ÷¾ÄehS hkðS (D) ðk½S hkðS-II

012.	 ®MkÄw MktMf]ríkLkk Lke[uLkk Ãkife fÞk MÚk¤kuyu Þ¿kðuËeyku yku¤¾e fkZðk{kt ykðe Au ?
i. ÷kuÚk÷ ii. çkLkkð÷e iii. nhÃÃkk iv. fk÷eçktøkk

	 (A) Võík i yLku ii (B) Võík i yLku iii
	 (C) Võík i yLku iv		 (D) i, ii, iii yLku iv

013.	 MkÃxuBçkh 1923{kt “Mðhks yk©{ Mkt½”Lkk «{w¾ íkhefu fkuý rLkÞwõík ÚkÞk níkk ?
	 (A) økktÄeS		  (B) ðÕ÷¼¼kE Ãkxu÷
	 (C) yLkMkqÞkçkuLk Mkkhk¼kE		  (D) [wLke÷k÷ {nuíkk

014.	 Lke[uLkk Ãkife fÞku fk¤¢{ Mkk[ku Au ?
	 (A) «Úk{ økku¤{uS Ãkrh»kË – Ëktze fq[ – økktÄe EhðeLk fhkh – fku{e [wfkËkLke ònuhkík
	 (B) «Úk{ økku¤{uS Ãkrh»kË – fku{e [wfkËkLke ònuhkík – Ëktze fq[ – økktÄe EhðeLk fhkh
	 (C) Ëktze fq[ – «Úk{ økku¤{uS Ãkrh»kË – økktÄe EhðeLk fhkh – fku{e [wfkËkLke ònuhkík
	 (D) «Úk{ økku¤{uS Ãkrh»kË – Ëktze fq[ – fku{e [wfkËkLke ònuhkík – økktÄe EhðeLk fhkh

015.	 Mkki «Úk{ ykÞo Mk{ksLke MÚkkÃkLkk .......... ¾kíku ÚkE níke.
	 (A) hksfkux (B) {wtçkE
	 (C) ÃkqLkk (D) òuÄÃkwh

016.	 yur«÷ 1934{kt Lke[uLkk Ãkife fkuýu yøkúøkÛÞ {rn÷k MktMÚkk “ßÞkurík Mkt½”Lke MÚkkÃkLkk fhe níke ?
	 (A) yLkMkqÞkçkuLk Mkkhk¼kE	 	 (B) [tÃkkçkuLk {nuíkk
	 (C) {]Ëw÷k Mkkhk¼kE		  (D) ÃkuheLkk r{Mºke

017.	 Lke[uLkk Ãkife fÞku çkLkkð MkkiÚke Ãknu÷ku çkLÞku níkku ?
	 (A) [kihe-[kihk çkLkkð (B) fkfkuhe çkLkkð
	 (C) hkp÷ux MkíÞkøkún (D) çkkhzku÷e MkíÞkøkún

018.	 fE çkkiæÄ Ãkrh»kË çkkË {nkÞkLk Mkt«ËkÞLke [Zíke ÚkE ?
	 (A) «Úk{	 (B) çkeS (C) ºkeS (D) [kuÚke

019.	 ÃkkuíkkLkku Ëhßòu ðÄkhðk {kxu íku{s MÚkkLk {sçkqík fhðk {kxu [tÿøkwÃík çkeòyu Lke[uLkk Ãkife fÞk hksðtþku MkkÚku ðiðkrnf 
òuzký fÞko ?
i. r÷åArð ii. ðkfkxf iii. Lkkøk iv. fËtçk

	 (A) Võík i yLku iii (B) Võík ii yLku iii
	 (C) Võík i, ii yLku iii		 (D) i, ii, iii yLku iv

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight



M

[PSP] 5

011.	 Who among the following introduced the telephone communication in Morbi state ?

(A) Kanyaji Ravaji		  (B) Jayaji Ravaji

(C) Lakhdirji Ravaji		  (D) Waghji Ravaji-II

012.	 At which of the following sites of Indus Valley Civilization “five alters” have been  
identified ?

i. Lothal ii. Banawali iii. Harappa iv. Kalibangan

(A) Only i and ii	 (B) Only i and iii	 (C) Only i and iv	 (D) i, ii, iii and iv

013.	 Who was appointed as the president of “Swaraj Ashram Sangh” in September 1923 ?

(A) Gandhiji		  (B) Vallabhbhai Patel

(C) Ansuyaben Sarabhai	 (D) Chunilal Mehta

014.	 Which of the following sequences is chronologically correct ?

(A) �First round table conference – Dandi March – Gandhi-Irwin Pact – Announcement of 
communal award

(B) �First round table conference – Announcement of communal award – Dandi March – 
Gandhi-Irwin Pact

(C) �Dandhi March – First round table conference – Gandhi-Irwin Pact – Announcement of 
communal award

(D) �First round table conference – Dandi March – Announcement of communal award – 
Gandhi-Irwin Pact

015.	 Arya Samaj was first formed at _______ .

(A) Rajkot	 (B) Bombay	 (C) Poona	 (D) Jodhpur

016.	 Who among the following founded ‘Jyoti Sangh’, a premier woman organization in April 
1934?

(A) Ansuyaben Sarabhai	 (B) Champaben Mehta

(C) Mrudula Sarabhai		  (D) Perina Mistry

017.	 Which of the following was the first event to take place ?

(A) Chauri – Chaura episode	 (B) Kankori episode

(C) Rowlatt Satyagrah		  (D) Bardoli Satyagrah

018.	 After which Buddhist council did the rise of Mahayana sect take place ?

(A) First	 (B) Second	 (C) Third	 (D) Fourth

019.	 With which of the following dynasties did Chandragupta II enter into matrimonial alliance to 
enhace his status and strengthen his position ?

i. Lichchhavis ii. Vakatakas iii. Nagas iv. Kadambas

(A) Only i and iii		 (B) Only ii and iii

(C) Only i, ii and iii		 (D) i, ii, iii and iv
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020.	 YÿË{LkLkk E.Mk. 150 Lkk sqLkkøkZLkk rþ÷k÷u¾ku .......... {kt Au.
	 (A) «kf]ík (B) Ãkkr÷ (C) íkkr{÷ (D) MktMf]ík

021.	 1918{kt þY ÚkÞu÷ .......... {sqh Mkt½ rLkÞr{ík MkÇÞÃkË yLku ÷ðks{ MkkÚkuLkku «Úk{ {sqh Mkt½ níkku.
	 (A) {ÿkMk (B) {wtçkE (C) f÷f¥kk (D) {ËwhkE
022.	 MkíÞþkuÄf Mk{ksLke MÚkkÃkLkk {nkhk»xÙ{kt 1873{kt .......... îkhk ÚkE níke.
	 (A) çke. ykh. yktçkuzfh		  (B) ßÞkuríkçkk Vq÷u
	 (C) çkk÷øktøkkÄh íke÷f		  (D) Mkkðhfh

023.	 Mkk÷çkkELke MktrÄ 1782{kt .......... yLku ytøkúuòu ðå[u ÚkE.
	 (A) þe¾	 (B) økwh¾k	 (C) {hkXk (D) rLkÍk{

024.	 ®MkÄw ¾eý MktMf]ríkLkk Lke[uLkk Ãkife fÞk MÚk¤kuyu ÄkLÞ ¼hðkLke ð¾khku {¤e ykðe Au ?
i. {kunU-òu-zhku ii. nhÃÃkk iii. fk÷eçktøkk iv. çkLkkð÷e

	 (A) Võík i yLku iii (B) Võík ii yLku iv
	 (C) Võík i yLku ii (D) Võík ii yLku iii

025.	 W¥khkrÄfkh {kxuLke ÷zkE{kt fÞk {tºkeyu yþkufLku íkuLkk ¼kEykuLke rðYæÄ {ËË fhe ?
	 (A) Ãkw»ÞøkwÃík	 (B) fkirxÕÞ	 (C) ðkMkwøkwÃík (D) hkÄkøkwÃík

026.	 {kiÞo fk¤{kt ÃkLÞkæÞûk .......... níkk.
	 (A) ðuÃkkh yLku ðkrýßÞLkk ðzk (B) Mkhfkhe ¾uíkeLkk Mkt[k÷f
	 (C) xtfþk¤Lkk yrÄfkhe		  (D) støk÷kuLkk Mkt[k÷f

027.	 økwÃíkk fk¤ ËhBÞkLk “LkðLkeíkf{” .......... Lkku MkwrðÏÞkík økútÚk níkku.
	 (A) ßÞkurík»k rðãk (B) økrýík
	 (C) yki»kÄ (D) Äkíkw rð¿kkLk

028.	 [ku÷k {trËhku{kt {kuxk¼køku Ëuð .......... nkuÞ Au.
	 (A) rþð (B) rð»ýw
	 (C) f]»ý (D) çkúñk

029.	 1949{kt Lke[uLkk Ãkife fkuýu ÃkkuhçktËh ¾kíku {nkí{k økktÄe feŠík {trËhLkwt WËT½kxLk fÞwO ?
	 (A) WåAtøkhkÞ Zuçkh		  (B) ELËw÷k÷ Þkr¿kf
	 (C) MkhËkh Ãkxu÷		  (D) {kuhkhS ËuMkkE

030.	 çkk¤ ÷øLk yLku VhSÞkík rðÄðkÃkýkLkku rðhkuÄ fhðk {kxu Lke[uLkk Ãkife fkuýu 1885{kt {wtçkE ¾kíku ‘Mkuðk MkËLk’Lke 
MÚkkÃkLkk fhe ?

	 (A) çkunh{S yu{. {÷çkkhe	 (B) ykh. S. ¼tzkhfh
	 (C) rþð LkkhkÞý yÂøLknkuºke	 (D) çke. fu. sÞfh
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020.	 The Junagadh Rock inscriptions of Rudradaman of AD 150 are in _______ .

(A) Prakrit	 (B) Pali	 (C) Tamil	 (D) Sanskrit

021.	 The first trade union with regular membership and subscription was the _______ union 
started in 1918.

(A) Madras	 (B) Bombay	 (C) Calcutta	 (D) Madurai

022.	 The Satyashodhak Samaj was founded in 1873 by _______ in Maharashtra.

(A) B. R. Ambedkar		  (B) Jyotiba Phule

(C) Bal Gangadhar Tilak	 (D) Savarkar

023.	 The treaty of Salbai was signed in 1782 between _______ and the British.

(A) Sikhs	 (B) Gurkhas	 (C) Marathas	 (D) Nizam

024.	 At which of the following sites of Indus Valley Civilization have been the granaries excavated ?

i. Mohenjo-daro ii. Harappa iii. Kalibangan iv. Banawali

(A) Only i and iii	 (B) Only ii and iv	 (C) Only i and ii	 (D) Only ii and iii

025.	 Which minister helped Ashoka to fight against his brothers in the war of succession ?

(A) Pushyagupta		  (B) Kautilya

(C) Vasugupta		  (D) Radhagupta

026.	 During Mauryan period Panyadhyaksha was _______ .

(A) Head of trade and commerce

(B) Manager of Government Agriculture

(C) Officer of mint

(D) Manager of Forests

027.	 During Gupta period “Navanitakam” was a famous book on _______ .

(A) Astrology		  (B) Mathematics

(C) Medicine		  (D) Metallurgy

028.	 The deity in most of the Chola temples is _______ .

(A) Shiva		 (B) Vishnu

(C) Krishna		 (D) Brahma

029.	 Who among the following inaugurated Mahatma Gandhi Kirtimandir at Porbandar in 1949 ?

(A) Uchharangrai Dhebar	 (B) Indulal Yagnik

(C) Sardar Patel		  (D) Morarji Desai

030.	 Who among the following founded “Seva Sadan” in 1885 at Bombay to oppose child marriage 
and compulsory widowhood ?

(A) Behramji M. Malabari	 (B) R. G. Bhandarkar

(C) Shiv Narayan Agnihotri	 (D) B. K. Jayakar
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031.	 Lke[uLkk Ãkife fE ¢ktríkfkhe MktMÚkk îkhk fkfkuhe xÙuLk fkðíkhkLkwt ykÞkusLk fhðk{kt ykÔÞwt níkwt ?

	 (A) økËh Ãkûk

	 (B) ®nËwMíkkLk heÃkç÷efLk yuMkkuMkeyuuþLk

	 (C) ®nËwMíkkLk MkkuMÞk÷eMx heÃkç÷efLk yuMkkuMkeyuþLk

	 (D) yLkwþe÷Lk Mkr{rík

032.	 Lke[uLkk Ãkife fE òuzeyku Mkk[e Au ?

i. fk÷eËkMk – {k÷rðfkÂøLkr{ºk{T ii. rðþk¾k Ë¥k – {wÿk hkûkMk

iii. þwÿf – Ãkt[íktºk iv. fk{tËf – LkeríkMkkh

	 (A) Võík i, ii yLku iv	 (B) Võík i yLku iv	 (C) Võík ii yLku iii	 (D) i, ii, iii yLku iv

033.	 hksfkux hkßÞLkk hksðe ÷k¾kÄehks îkhk Lke[uLkk Ãkife fÞk «ò fÕÞkýLke «ð]r¥kyku nkÚk Ähðk{kt ykðe níke ?

i. ík{k{ [qtxkÞu÷k MkÇÞkuðk¤e «ò «ríkrLkrÄ Mk¼kLke MÚkkÃkLkk fhe.

	 ii. f]r»k çkUfLke MÚkkÃkLkk fhe.

iii. fkXeÞkðkz nkEMfq÷ nMíkøkík fhe íkuLkwt Lkk{ ykÕ£uz nkEMfq÷ ykÃÞwt.

iv. Mºkeyku {kxu ðkt[Lkk÷Þ þY fÞwO.

	 (A) Võík i yLku iii	 (B) Võík ii yLku iv	 (C) Võík i, ii yLku iv	 (D) i, ii, iii yLku iv

034.	 Mkw¼k»k[tÿ çkkuÍ rðþu Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

i. íkuykuLkk hksfeÞ økwY Mke. ykh. ËkMk níkk.

ii. íkuykuyu 1939{kt fkUøkúuMk «{w¾ {kxuLkk økktÄeSLkk «ríkrLkrÄ Ãkèk¼e Mkeíkkhk{iÞkLku nhkÔÞk níkk.

iii. íkuykuLkwt M÷kuøkLk “[÷ku rËÕ÷e” níkwt.

iv. hrðLÿLkkÚk xkøkkuhu íkuykuLku “Ëuþ LkkÞf” íkhefu LkðkßÞk níkk.

(A) i, ii, iii yLku iv	 (B) Võík ii yLku iii	 (C) Võík i, ii yLku iii	 (D) Võík i, iii yLku iv

035.	 Mkkçkh{íkeÚke Ëktze MkwÄeLke Ëktze fq[ fux÷k rËðMk {kxu ÚkE ?
(A) 20	 (B) 22	 (C) 24	 (D) 30

036.	 “rðÄkLk Mk¼kyku{kt çkuXfku yÚkðk LkkufheykuLkk MðYÃku f[zkÞu÷k ðøkkuoLkk rníkkuLkwt hûký fhðwt sYhe Lk níkwt Ãkhtíkw 
sz{q¤Úke yMÃk]~Þíkk LkkçkqË fhðe sYhe níke.” – ykðwt fkuýu fÌkwt níkwt ?

	 (A) X¬h çkkÃkk		  (B) rfþkuhe÷k÷ {þYðk÷k

	 (C) zkp. çke. ykh. yktçkuzfh		  (D) økktÄeS

037.	 Mðíktºk ¼khík{kt MkhËkh Ãkxu÷Lku Lke[uLkk Ãkife fÞk {tºkk÷Þku ykÃkðk{kt ykÔÞk níkk ?

i. øk]n ii. MknkÞ yLku ÃkwLk:ðMkðkx

iii. {krníke yLku «Mkkhý iv. f]r»k

	 (A) Võík i yLku iii (B) Võík i, ii yLku iii

(C) i, ii, iii yLku iv (D) Võík i yLku ii
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031.	 The Kakori train conspiracy was organised by which of the following revolutionary 
organizations ?

	 (A) Ghadar Party

	 (B) Hindustan Republican Association

	 (C) Hindustan Socialist Republican Association

	 (D) Anushilan Samiti

032.	 Which of the following pairs are correct ?

	 i. Kalidas – Malavikagnimitram	 ii. Visakhdutta – Mudrarakshas

	 iii. Shudrak – Panchtantra	 iv. Kamandaka – Nitisar

	 (A) Only i, ii and iv	 (B) Only i and iv	 (C) Only ii and iii	 (D) i, ii, iii and iv

033.	 Which of the following public welfare activities were undertaken by Lakhadhiraj, ruler of  
Rajkot state ?

	 i. Established Praja Pratinidhi Sabha of all elected members

	 ii. Established Agriculture Bank

	 iii. Had taken over Kathiawad High School and renamed it as Alfred High School

	 iv. Had started a library for women

	 (A) Only i and iii	 (B) Only ii and iv	 (C) Only i, ii and iv	 (D) i, ii, iii and iv

034.	 Which of the following statements about Subhas Chandra Bose are correct ?

	 i. His political guru was C. R. Das

	 ii. He defeated Gandhiji’s nominee Pattabhisitaramiyya for Congress president in 1939

	 iii. His slogan was ‘Chalo Delhi’

	 iv. Rabindranath Tagore regarded him as ‘Desh Nayak’

	 (A) i, ii, iii and iv	 (B) Only ii and iii	 (C) Only i, ii and iii	 (D) Only i, iii and iv

035.	 For how many days Dandi march from Sabarmati to Dandi lasted ?

	 (A) 20	 (B) 22	 (C) 24	 (D) 30

036.	 Who said, “What was needed was not the protection of the so-called interests of the 
Depressed classes in terms of seats in legislatures or jobs but the ‘root and branch’ 
eradication of untouchability” ?

	 (A) Thakkar Bapa		  (B) Kishorilal Mashruwala

	 (C) Dr. B. R. Ambedkar		  (D) Gandhiji

037.	 Which of the following ministries were assigned to Sardar Patel in independent India ?

	 i. Home		  ii. Relief and Rehabilitation

	 iii. Information and Broadcasting	 iv. Agriculture

	 (A) Only i and iii	 (B) Only i, ii and iii	 (C) i, ii, iii and iv	 (D) Only i and ii
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038.	 ÉøkðuË Mk{Þ ËhBÞkLk MºkeykuLke ÂMÚkrík çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt LkÚke ?

	 i. fLÞkyku {kxu Ãký WÃkLkÞLk-Þ¿kkÃkðeík rðrÄ fhðk{kt ykðíke níke.

	 ii. rfþkuhkuLke su{ fLÞkyku Ãký rþûký «kÃík fhíke níke yLku çkúñ[ÞoLkwt Ãkk÷Lk fhíke níke.

	 iii. Mºkeyku Ãký ðuËkuLkku yÇÞkMk fhíke níke.

	 iv. yLkuf Mºke áükykuyu ðirËf MºkkuíkkuLke h[Lkk fhe níke.

	 (A) Võík i		  (B) Võík iv

	 (C) Võík i yLku iv		  (D) WÃkhkuõík Ãkife fkuE Lknª

039.	 çktøkk¤Lke fkÞ{e s{kçktÄe, 1793 çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 i. s{eLk {nuMkq÷ ¼hðkLke þhíku s{eLkËkhkuLku s{eLkLkk {kr÷f íkhefu økýðk{kt ykÔÞk.

	 ii. {nuMkq÷ s{kçktÄe fkÞ{e heíku rLkÞík fhðk{kt ykðe.

	 iii. ¼kzkLkk 50% hkßÞ {ktøkýk íkhefu rLkÞík fhðk{kt ykÔÞwt.

	 (A) Võík i yLku ii	 (B) Võík i yLku iii	 (C) Võík ii yLku iii	 (D) i, ii yLku iii

040.	 “òu rðï{kt fkuE ÃkkÃk Au íkku íku Lkçk¤kE Au, ík{k{ Lkçk¤kE xk¤ku, Lkçk¤kE ÃkkÃk Au, Lkçk¤kE {]íÞw Au.” – ykðwt fkuýu 
fÌkwt ?

	 (A) Mðk{e rððufkLktË		  (B) yh®ðËku ½ku»k

	 (C) çkk÷ øktøkkÄh íke÷f		  (D) rçkÃkeLk[tÿ Ãkk÷

041.	 “ÃkûkkÃkûke íÞkt Lknª Ãkh{uïh, Mk{árüLku Mkðo Mk{kLk” – fÞk frðLke ÃktÂõíkyku Au ?

	 (A) {ehkçkkE	 (B) Lkh®Mkn {nuíkk	 (C) ¼k÷ý	 (D) «u{kLktË

042.	 sqLke siLk ÃkkuÚke{kt yøkúMÚkkLku fkuLku {qfðk{kt ykðu Au ?

	 (A) Mktøkúnýe Mkqºk	 (B) çkk÷økkuÃkk÷ Míkwrík	 (C) fÕÃkMkqºk	 (D) [kihÃkt[krþfk

043.	 y{ËkðkËLkk fktfrhÞk ík¤kðLkwt {q¤ Lkk{ þwt níkwt ?

	 (A) nShku	 (B) y÷e{Ãkwh	 (C) nkusu fwíkwçk	 (D) økkuÃke ík¤kð

044.	 AkuxkWËuÃkwhLkk Ãkqðo ¼køk{kt Mkku{ðkh {kxu fÞku þçË «[r÷ík Au ?

	 (A) rËíkðkh	 (B) økwshe	 (C) hkÃk[kurhÞku	 (D) ËuðLkku

045.	 ykrËðkMkeyku{kt ÷øLkLkk rËðMkku{kt fÞw Lk]íÞ {nËtþu Ãkwhw»kku îkhk ÚkkÞ Au ?

	 (A) fqËrýÞwt	 (B) nk÷uýe	 (C) {kx÷e Lk]íÞ	 (D) yktçk÷e økkuÄku

046.	 ykrËðkMkeyku ftX WÃkh Ãkèk suðe su {k¤k Ãknuhu Au íkuLkwt Lkk{ sýkðku.

	 (A) AktrxÞk	 (B) Mkzk	 (C) økkuðuý	 (D) ½q½hku

047.	 MkktÚk÷kuLke {kLÞíkk yLkwMkkh íku{Lke WíÃkr¥k Lke[uLkk Ãkife þk{ktÚke ÚkE ?

	 (A) fçkqíkh	 (B) ntMk	 (C) ðkLkh	 (D) ¼UMk
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038.	 Which of the following statements about the position of women in Rig Vedic times is/are not 
correct ?

	 i. Upanayana Yajnopavita was performed for girls also.

	 ii. Girls received education and observed Brahmacharya like boys.

	 iii. Women studied the Vedas.

	 iv. Several women seers composed Vedic hymns.

	 (A) Only i		  (B) Only iv

	 (C) Only i and iv		  (D) None of the above

039.	 Which of the following statements about the permanent settlement of Bengal, 1793 are 
correct ?

	 i. �Zamindars were considered as the owners of the land subject to the payment of land 
revenue

	 ii. Revenue settlement was fixed permanently

	 iii. State demand was fixed at 50% of rentals

	 (A) Only i and ii		  (B) Only i and iii

	 (C) Only ii and iii		  (D) i, ii and iii

040.	 Who said, “If there is a sin in the world it is weakness; avoid all weakness, weakness is sin, 
weakness is death”?

	 (A) Swami Vivekananda	 (B) Aurobindo Ghosh

	 (C) Bal Gangadhar Tilak	 (D) Bipin Chandra Pal

041.	 “Pakshapakshi tya nahi Parmeshwar, Samdrashtine sarva saman” – are the lines of which 
poet ?

	 (A) Mirabai	 (B) Narsinh Mehta	 (C) Bhalan	 (D) Premanand

042.	 Which book is kept at prime position in old Jain books ?

	 (A) Sangrahni Sutra		  (B) Balgopal Stuti

	 (C) Kalpsutra		  (D) Chaurpanchasika

043.	 What was the original name of Ahmedabad’s Kankaria lake ?

	 (A) Hajiro	 (B) Alimpur	 (C) Hoje Kutub	 (D) Gopi Talav

044.	 Which word is prevalent of Monday in the Eastern part of Chhotaudaipur ?

	 (A) Ditwar	 (B) Gujari	 (C) Rapchoriyo	 (D) Devno

045.	 Which dance is mostly performed by the men in tribals during the wedding days ?

	 (A) Kudaniyu	 (B) Haleni	 (C) Matlinrutya	 (D) Ambali godho

046.	 Name the belt-like chain worn around the neck by the tribals.

	 (A) Chhantiya	 (B) Sada	 (C) Goven	 (D) Ghugharo

047.	 According to the belief of Santhals, they have originated from which of the following ?

	 (A) Pegion	 (B) Swan	 (C) Monkey	 (D) Buffalo
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048.	 fkøk¤ Ãkh s¤htøkðk¤wt hkÄkLkk ðuþ{kt f]»ýLkwt hu¾ktfLk hksMÚkkLk{kt fE f÷{ íkhefu yku¤¾kÞ Au ?

	 (A) fkuxk f÷{	 (B) sÞÃkwh f÷{	 (C) çkwtËe f÷{	 (D) rfþLkøkZ f÷{

049.	 E÷kuhk{kt yuf ¾zf{ktÚke fkuíkhu÷wt fkuLkwt {trËh Au ?

	 (A) Äw{÷eLkwt {trËh		  (B) hkshksuïh {trËh

	 (C) fi÷kMkLkkÚk {trËh		  (D) ®÷økhks {trËh

050.	 “ík{u Ãkeþku {k, Ãkeþku {k, Ëkhðku Ãkeþku {k....” ykrËðkMke Mk{ks{kt ËkYLkk Ëq»ký rðYæÄ òøk]rík ÷kðLkkhLkk økeíkLkk 
frðLkwt Lkk{ sýkðku.

	 (A) swøkíkhk{ Ëðu	 (B) Sðý®Mkn økk{eík	 (C) X¬h çkkÃkk	 (D) rfMkLk®Mkn økk{eík

051.	 Lke[uLkk Ãkife fkuý økwshkíkLkk {nkLk ykÞwðuorËf r[rfíMkf níkk ?

	 (A) [hf	 (B) Mkw©wík	 (C) Ítzw	 (D) LkkøkkswoLk

052.	 òuzfkt òuzku.

	 a. rLkþkLk-ztfk	 i. yðLkã ðkã

	 b. hkðý nÚÚkku	 ii. íktíkw ðkã

	 c. Ãkkðhe	 iii. Mkqr»kh ðkã

	 d. {ký	 iv. ½Lk ðkã
	 (A) a - i, b - ii, c - iii, d - iv	 (B) a - i, b - ii, c - iv, d - iii
	 (C) a - ii, b - i, c - iii, d - iv	 (D) a - ii, b - i, c - iv, d - iii

053.	 òuzfkt òuzku.

	 a. LnkLkk÷k÷ frð	 i. ßÞkt ßÞkt ðMku yuf økwshkíke íÞkt íÞkt MkËkfk¤ økwshkík

	 b. W{kþtfh òuþe	 ii. sÞ sÞ økhðe økwshkík

	 c. Lk{oËþtfh frð	 iii. økwshkíkLke yuf Ãkkt¾ Lke÷e Lku yuf Ãkkt¾ ÷e÷e

	 d. yhËuþh ¾çkhËkh	 iv. økwshkík {kuhe {kuhe hu
	 (A) a - i, b - ii, c - iii, d - iv	 (B) a - i, b - ii, c - iv, d - iii
	 (C) a - iii, b - iv, c - ii, d - i	 (D) a - iii, b - iv, c - i, d - ii

054.	 Ãkwrü{køko Mkt«ËkÞLkk ykãMÚkkÃkf ðÕ÷¼k[kÞoSyu økwshkík{kt f]»ý ¼ÂõíkLke MkkÚku Mktøkeík {rn{k ðÄkÞkuo. yk MktË¼uo 
Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 i. Mktøkeík îkhk Mkt«ËkÞLkk ½ýk ík¥ðku ÷kufku MkwÄe ÃknkU[e þõÞk.

	 ii. ði»ýð {trËhkuLkwt Mktøkeík nðu÷e MktøkeíkLkk rðrþü Lkk{u yku¤¾kðk ÷køÞwt.

	 iii. íkuyku “Mktøkeík Lknª íkku Mkt«ËkÞ Lknª” yu {íkLkk ÃkwhMfíkko níkk.

	 (A) Võík i yLku ii		  (B) i, ii yLku iii

	 (C) Võík iii		  (D) WÃkhkuõík Ãkife fkuE Lknª
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048.	 By which kalam in Rajasthan is the water colour drawing on paper of Krishna in costume of 
Radha known ?

	 (A) Kota kalam		  (B) Jaipur kalam

	 (C) Bundi kalam		  (D) Kishangadh kalam

049.	 Whose temple has been carved out from one rock at Ellora ?

	 (A) Temple of Ghumli		  (B) Rajrajeshwar temple

	 (C) Kailasnath temple		  (D) Lingraj temple

050.	 “Tame pisho ma, pisho ma, darvo pisho ma...” – Name the poet of this song who brought 
awareness in the tribal society against the vice of alcohol.

	 (A) Jugatram Dave		  (B) Jivansinh Gamit

	 (C) Thakkar Bapa		  (D) Krishansinh Gamit

051.	 Who among the following was the great Ayurvedic doctor of Gujarat ?

	 (A) Charak	 (B) Shushrut	 (C) Zhandu	 (D) Nagarjun

052.	 Match the column.

	 a. Nishan Danka	 i. Percussion instrument with skinhead

	 b. Ravan hattho	 ii. String instrument

	 c. Pavri	 iii. Wind instrument

	 d. Mann	 iv. Solid instrument

	 (A) a - i, b - ii, c - iii, d - iv	 (B) a - i, b - ii, c - iv, d - iii

	 (C) a - ii, b - i, c - iii, d - iv	 (D) a - ii, b - i, c - iv, d - iii

053.	 Match the column.

	 a. Nahnalal Kavi	 i. Jya jya vase ek gujarati, tya tya vase sada kal Gujarat

	 b. Umashankar Joshi	 ii. Jai Jai Garvi Gujarat

	 c. Narmad Shankar Kavi	 iii. Gujarat ni ek pankh nili ne ek pankh lili

	 d. Ardeshar Khabardar	 iv. Gujarat mori mori re

	 (A) a - i, b - ii, c - iii, d - iv	 (B) a - i, b - ii, c - iv, d - iii

	 (C) a - iii, b - iv, c - ii, d - i	 (D) a - iii, b - iv, c - i, d - ii

054.	 The founder of Pushtimarg sect (Sampradaya), Vallabhacharyaji, increased the importance 
of Krishna worship with music in Gujarat. Which of the following statement(s) is/are correct 
regarding this reference ?

	 i. Many elements of the sect could reach through music to the people.

	 ii. �The music of Vaishnav temples started to be known with a special name Haveli music 
(Sangeet)

	 iii. He coined the opinion that “If there is no music, there is no sect (Sampradaya)”

	 (A) Only i and ii		  (B) i, ii and iii

	 (C) Only iii		  (D) None of the above
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055.	 {nk{rík «kýLkkÚkLkk Mkt«ËkÞLkwt Lkk{ .......... Au.

	 (A) rLkòLktË (B) økkuzeÞ ði»ýð	 (C) ðkhfhe (D) hk{ËkMke

056.	 Lke[uLkk Ãkife fkuý yüAkÃk frð Au ?

	 (A) LktËËkMk (B) MkwtËhËkMk (C) økwhwËkMk (D) rLkù÷ËkMk

057.	 økwshkíkLkk Mkw÷íkkLk {nB{Ë çkuøkzkyu ßÞkhu ÃkkðkøkZ Ãkh yk¢{ý fÞwO íÞkhu fÞk hkòLkk hkýe yLku yLÞ Mºkeykuyu 
òinh fÞwO níkwt ?

	 (A) sÞ®Mkn	 (B) ftrÃk÷eËuð	 (C) híLk®Mkn	 (D) {kLk®Mkn

058.	 Ërûký ¼khík{kt ÃkÕ÷ð ðtþLkk þkMkLkfk¤{kt fE þi÷eLkku ÃkkÞku Lkt¾kÞku ?

	 (A) nkuÃkMk¤	 (B) Lkkøkh	 (C) [ki÷wõÞ (D) ÿrðz

059.	 “sLkLkeLke òuz Mk¾e Lknª szu hu ÷ku÷....” – yk økeíkLkk frðLkwt Lkk{ sýkðku.

	 (A) çkkuxkËfh (B) ¾çkhËkh (C) fkLík (D) f÷kÃke

060.	 ¼ku. su. yæÞÞLk-MktþkuÄLk rðãk¼ðLk õÞkt ykÔÞwt Au ?

	 (A) hksfkux	 (B) ðzkuËhk (C) Mkwhík (D) y{ËkðkË

061.	 ykurhMMkk{kt [iíkLÞ «¼wLkk «¼kðÚke su Mkt«ËkÞu ÷kuf¼k»kk{kt ÃkkuíkkLke ¼Âõík Äkhk hu÷kðe íku fÞk Lkk{u «[r÷ík çkLÞku ?

	 (A) þhrýÞk	 (B) MknrsÞk	 (C) Ãkt[Mk¾k	 (D) EM{kEr÷Þk

062.	 fÞw ð]ûk ykrËðkMke rðMíkkhLkwt fÕÃkð]ûk {LkkÞ Au ?

	 (A) ðktMk	 (B) ¾k¾h (C) Mkkøk (D) íkkz

063.	 íku÷kð {kíkkLkku {u¤ku õÞkt ¼hkÞ Au ?

	 (A) {uðkMk (B) çkkhkðkz (C) Ãkk÷ (D) zktøk

064.	 fÞk ÷kuf{u¤k{kt ŸxLke {kuxe økwshe ¼hkÞ Au ?

	 (A) ¼ðLkkÚk	 (B) íkhýuíkh (C) {kÄðhkÞ (D) ðkiXk

065.	 òuzfkt òuzku.

a. {kýufXkhe ÃkqLk{Lkku {u¤ku	 i. yÂøLkËuð

b. {u½ {u¤ku ii. ðhËkrÞLke {kíkk

c. YÃkk÷Lke ÃkÕ÷eLkku {u¤ku iii. {u½hkò

d. [q÷ {u¤ku iv. hýAkuzhkÞS
(A) a - i, b - ii, c - iii, d - iv	 (B) a - i, b - ii, c - iv, d - iii
(C) a - iv, b - iii, c - ii, d - i	 (D) a - iv, b - iii, c - i, d - ii
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055.	 The name of sect of Mahamati Prannath is _______

	 (A) Nijanand		  (B) Godiya Vaishnav

	 (C) Vaarkari		  (D) Ramdasi

056.	 Who among the following is an “astachhap” poet ?

	 (A) Nanddas	 (B) Sundardas	 (C) Gurudas	 (D) Nischaldas

057.	 When the Sultan of Gujarat Mohammad Begada attacked Pavagadh, which king’s queen 

and other women committed Johar ?

	 (A) Jaisinh	 (B) Kampilidev	 (C) Ratnasinh	 (D) Maansinh

058.	 The foundation of which style was laid during the reign of Pallava dynasty in South India ?

	 (A) Hoysal	 (B) Nagara	 (C) Chaulukya	 (D) Dravida

059.	 Name the poet of the song – “Janani ni jod sakhi nahi jade re lol....”

	 (A) Botadkar	 (B) Khabardar	 (C) Kant	 (D) Kalapi

060.	 Where is B. J. Study-Research Vidhya Bhavan (B. J. Adhayan - Sanshodhan Vidhya Bhavan) 

situated ?

	 (A) Rajkot	 (B) Vadodara	 (C) Surat	 (D) Ahmedabad

061.	 By which name the sect which spread the worship in lingua franca with the influence of 

Chaitanya Mahaprabhu in Orissa became prevalent ?

	 (A) Saraniya	 (B) Sahajiya	 (C) Panchsakha	 (D) Ismailiya

062.	 Which tree in tribal area is believed as Kalpvriksha – (a wish fulfilling divine tree) ?

	 (A) Bamboo	 (B) Khakhar	 (C) Teak	 (D) Palm

063.	 Where does the Telavmata fair take place ?

	 (A) Mewas	 (B) Barawad	 (C) Paal	 (D) Dang

064.	 The big “gujari” (market) of camel takes place in which folk fair ?

	 (A) Bhavnath	 (B) Tarnetar	 (C) Madhavrai	 (D) Vautha

065.	 Match the column:

	 a. Manekthari Punam fair	 i. Agnidev

	 b. Megh fair	 ii. Vardaryini Mata

	 c. Rupal ni Palli fair	 iii. Meghraja

	 d. Chul fair	 iv. Ranchhodraiji

	 (A) a - i, b - ii, c - iii, d - iv	 (B) a - i, b - ii, c - iv, d - iii

	 (C) a - iv, b - iii, c - ii, d - i	 (D) a - iv, b - iii, c - i, d - ii
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066.	 òuzfkt òuzku.

	 a. ½hþk¤k	 i. ¼kðLkøkh

	 b. økkuðÄoLkhk{ MkkrníÞ Mk¼k	 ii. LkrzÞkË

	 c. økwshkík MkkrníÞ Mk¼k	 iii. y{ËkðkË

	 d. LktËeøkúk{	 iv. Äh{Ãkwh
	 (A) a - iii, b - iv, c - i, d - ii	 (B) a - iii, b - iv, c - ii, d - i
	 (C) a - i, b - ii, c - iv, d - iii	 (D) a - i, b - ii, c - iii, d - iv

067.	 òuzfkt òuzku.

	 a. Mkwhuïh ËuMkkE nðu÷e	 i. Mkwhík

	 b. þktríkËkMk ËuMkkE nðu÷e	 ii. ¼Y[

	 c. r¼¾kheËkMk nðu÷e	 iii. y{ËkðkË

	 d. {unhS hkýe {uLþLk	 iv. ðzkuËhk
	 (A) a - i, b - ii, c - iii, d - iv	 (B) a - i, b - ii, c - iv, d - iii
	 (C) a - iv, b - iii, c - ii, d - i	 (D) a - iv, b - iii, c - i, d - ii

068.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 i. ðzkuËhkLkk {nkhkò MkÞkShkð økkÞfðkzLkk Ëhçkkh{kt íkktòðqhÚke LkŠíkfkyku yLku MktøkeíkðkãLkk rLk»ýkík økwYykuLku 
çkku÷kððk{kt ykÔÞku.

	 ii. yk økwYyku{ktÚke fwçkuhLkkÚk íktòðqhfhLku ðzkuËhk{kt MÚkkÞe fhðk{kt ykÔÞk.

	 iii. yu{Lkk Úkfe økwshkík{kt yk heíku ¼híkLkkxâ{TLkku WËÞ ÚkÞku.

	 (A) i, ii yLku iii		  (B) Võík ii

	 (C) Võík iii		  (D) WÃkhkuõík Ãkife fkuE Lknª

069.	 çkux îkhfkLkk {wÏÞ {trËh LkSf .......... nLkw{kLkLkwt ¼ÔÞ {trËh ykðu÷wt Au ?

	 (A) Ëktzeðk¤k		  (B) f[kuheÞwt

	 (C) ©e f]»ý {trËh		  (D) yürMkæÄ

070.	 økwshkík{kt Lke[uLkk Ãkife fÞk ÞwLkuMfku (UNESCO) rðï Ähkunh MÚk¤ku ykðu÷kt Au ?

	 i. hkýfe ðkð		  ii. Äku¤kðehk

	 iii. MkqÞo{trËh, {kuZuhk		  iv. [ktÃkkLkuh-ÃkkðkøkZ Ãkwhkík¥ð Ãkkfo

	 (A) Võík i yLku ii		  (B) Võík ii yLku iii

	 (C) Võík ii yLku iv		  (D) Võík i yLku iv

071.	 ÃkûkeËþoLk yLku fwËhík «u{eyku {kxu rðÏÞkík ðZðkýk ík¤kð (ðux÷uLz) õÞkt ykðu÷wt Au ?

	 (A) z¼kuE		  (B) MkkÃkwíkkhk

	 (C) Ãkk÷LkÃkwh		  (D) hksfkux
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066.	 Match the column:

	 a. Gharshala	 i. Bhavnagar

	 b. Goverdhanram Sahitya Sabha	 ii. Nadiad

	 c. Gujarat Sahitya Sabha	 iii. Ahmedabad

	 d. Nandigram	 iv. Dharampur

	 (A) a - iii, b - iv, c - i, d - ii	 (B) a - iii, b - iv, c - ii, d - i

	 (C) a - i, b - ii, c - iv, d - iii	 (D) a - i, b - ii, c - iii, d - iv

067.	 Match the column:

	 a. Sureshwar Desai Haveli	 i. Surat

	 b. Shantidas Desai Haveli	 ii. Bharuch

	 c. Bhikharidas Haveli	 iii. Ahmedabad

	 d. Meherji Rani Mansion	 iv. Vadodara

	 (A) a - i, b - ii, c - iii, d - iv	 (B) a - i, b - ii, c - iv, d - iii

	 (C) a - iv, b - iii, c - ii, d - i	 (D) a - iv, b - iii, c - i, d - ii

068.	 Which of the following statement(s) is/are correct ?

	 i. �In the court of the Maharaja of Vadodara, Sayajirao Gaekwad, dancers and expert gurus of 
musical instruments from Thanjavur were called.

	 ii. From these Gurus Kubernath Thanjavurkai was made to settle in Vadodara.

	 iii. Through him the emersion of Bharatanatyam in Gujarat took place.

	 (A) i, ii and iii		  (B) Only ii

	 (C) Only iii		  (D) None of the above

069.	 The magnificient _______ Hanuman temple is situated close to the Bet Dwarka’s main 
temple.

	 (A) Dandiwala		  (B) Kachoriya

	 (C) Sri Krishna temple		  (D) Astasiddhi

070.	 Which of the following are UNESCO world heritage sites in Gujarat ?

	 i. Rani-ki-vav

	 ii. Dholavira

	 iii. Sun Temple, Modhera

	 iv. Champaner, Pavagadh archaeological park

	 (A) Only i and ii		  (B) Only ii and iii

	 (C) Only ii and iv		  (D) Only i and iv

071.	 Where is Vadhvana lake (wetland), famous for bird watching and nature lovers situated ?

	 (A) Dabhoi		  (B) Saputara

	 (C) Palanpur		  (D) Rajkot
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072.	 òuzfkt òuzku.

	 a. ÃkkhLkuhk	 i. røkhLkkh

	 b. yk¼Ãkhk	 ii. çkLkkMkfktXk

	 c. suMkkuh	 iii. ¼kýðz

	 d. LkðLkkÚk Äqýk	 iv. ð÷Mkkz
	 (A) a - i, b - ii, c - iii, d - iv	 (B) a - i, b - ii, c - iv, d - iii
	 (C) a - iv, b - iii, c - ii, d - i	 (D) a - iv, b - iii, c - i, d - ii

073.	 økwshkík{kt ykuxku ðÕzo ðeLxus fkh Mktøkúnk÷Þ õÞkt ykðu÷wt Au ?

	 (A) hksfkux	 (B) ðktfkLkuh	 (C) økkUz÷	 (D) y{ËkðkË

074.	 økwshkík{kt E.yu{.E. – Ërûkýk{qŠík {trËh õÞkt ykðu÷wt Au ?

	 (A) ð÷Mkkz	 (B) Mkwhík	 (C) ¼Y[	 (D) ðzkuËhk

075.	 fçkk økktÄeLkku zu÷ku, økktÄe M{]rík õÞkt ykðu÷wt Au ?

	 (A) ÃkkuhçktËh	 (B) hksfkux	 (C) økkUz÷	 (D) Ëktze

076.	 .......... ¼økíkLkwt økk{ íkhefu òýeíkwt Au.

	 (A) Ëktíkk	 (B) MkkÞ÷k	 (C) ytòh	 (D) nkSÃkeh

077.	 Mkkihk»xÙ{kt [khýku stíkhLku fÞk ¼økðkLkLkwt MðYÃk {kLku Au ?

	 (A) çkúñk	 (B) f]»ý	 (C) rð»ýw	 (D) Yÿ

078.	 ykrËðkMkeyku{kt nku¤eLk]íÞ «Mktøku yLku Mk{qnLk]íÞ «Mktøku su ½q½hk ðøkkzkÞ Au íkuLkwt Lkk{ sýkðku.

	 (A) ºkktMkk	 (B) Ík÷h	 (C) [erÃkÞku	 (D) h{Íku¤

079.	 rMkÞkuíkLke «ÏÞkík økwVkyku fÞk rsÕ÷k{kt ykðu÷e Au ?

	 (A) hksfkux	 (B) zktøk	 (C) fåA	 (D) MkwhuLÿLkøkh

080.	 y{ËkðkË ¾kíku ykðu÷ hkýeLkku nShk çkkçkíku Lke[uLkk Ãkife fÞku rðfÕÃk Mkk[ku Au ?

	 (A) íku hkýe ¼kLkw{íkeLkku {nu÷ níkku.

	 (B) íkuLkwt rLk{koý rMkæÄhks sÞ®Mkn îkhk fhðk{kt ykÔÞwt níkwt.

	 (C) íku yuf {fçkhku Au.

	 (D) íku Mkku÷tfe hkòykuLkk Mk{Þ ËhBÞkLk ÍðuhkíkLkwt çkòh níkwt.

081.	 14{k LkkýkÃkt[ yLkwMkkh Lke[uLkk Ãkife fÞwt fuLÿÚke hkßÞkuLku fhLkwt nMíkktíkhý {kxuLkwt {kÃkËtz Lk níkwt ?

	 (A) 2011Lke ðMíkeøkýíkhe yLkwMkkh ðMíke	 (B) ðLkkðhý

	 (C) LkkýkfeÞ rþMík		  (D) LkkýkfeÞ ûk{íkk
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072.	 Match the column:

	 a. Parnera	 i. Girnar

	 b. Aabhapara	 ii. Banaskantha

	 c. Jasore	 iii. Bhanvad

	 d. Navnath Dhuna	 iv. Valsad

	 (A) a - i, b - ii, c - iii, d - iv	 (B) a - i, b - ii, c - iv, d - iii

	 (C) a - iv, b - iii, c - ii, d - i	 (D) a - iv, b - iii, c - i, d - ii

073.	 Where is the Auto World Vintage Car Museum situated in Gujarat ?

	 (A) Rajkot		  (B) Wankaner

	 (C) Gondal		  (D) Ahmedabad

074.	 Where is the EME - Dakshinamurthy temple situated in Gujarat ?

	 (A) Valsad		  (B) Surat

	 (C) Bharuch		  (D) Vadodara

075.	 Where is Kaba Gandhi No Delo, Gandhi Smruti situated ?

	 (A) Porbandar	 (B) Rajkot	 (C) Gondal	 (D) Dandi

076.	 _______ is known as “bhagat nu gaam”

	 (A) Danta	 (B) Sayla	 (C) Anjar	 (D) Hajipir

077.	 Jantar is considered as a form of which God by the Charans in Saurashtra ?

	 (A) Brahma	 (B) Krishna	 (C) Vishnu	 (D) Rudra

078.	 Name the “gughara” which are played on the occasion of Holi dance and group dance in 
tribals.

	 (A) Transa	 (B) Zhalar	 (C) Chipiyo	 (D) Ramzol

079.	 The famous Siyot caves are situated in which district?

	 (A) Rajkot	 (B) Dang	 (C) Kutch	 (D) Surendranagar

080.	 Which of the following option is correct regarding “Rani no Hajiro” situated at  
Ahmedabad ?

	 (A) It was the palace of queen Bhanumati.

	 (B) It was constructed by Siddhraj Jaysinh.

	 (C) It is a tomb.

	 (D) It was a jewellery market during the time of Solanki kings.

081.	 Which of the following was not the criterion of tax devolution from the Centre to States, as 
per the 14th Finance Commission?

	 (A) Population as per 2011 census	 (B) Forest Cover

	 (C) Financial discipline		  (D) Fiscal capacity
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082.	 Lke[uLkk Ãkife fE ònuh Ëuðwt ½xkzðk {kxuLke heík LkÚke ?
	 (A) yLkwËkLk MknkÞ (Grant-in-aid)	 (B) x{eoLk÷ yuLÞwExeÍ (Terminal Annuities)

	 (C) {qze fh (Capital Levy)	 (D) WÃkhkuõík Ãkife fkuE Lknª

083.	 ®nËw ð]ÂæÄ Ëh yux÷u ¼khíkeÞ yÚkoíktºk îkhk «Úk{ A Ãkt[ð»keoÞ ÞkusLkkyku ËhBÞkLk «kÃík fhu÷ 3.70% ðkŠ»kf ð]ÂæÄ 
Ëh. yk ®nËw ð]ÂæÄ ËhLkku ÏÞk÷ .......... îkhk yÃkkÞku.

	 (A) su. yuLk. ¼økðíke		  (B) fu. yuLk. hks
	 (C) hks f]»ý		  (D) Mkw¾{kuÞ [¢çkkuíkeo

084.	 ¼khíkeÞ {qze çkòh çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 (A) r¢rMk÷ (CRISIL) Lke MÚkkÃkLkk 8{e Ãkt[ð»keoÞ ÞkusLkk ËhBÞkLk ÚkE níke.
	 (B) r¢rMk÷ (CRISIL) ònuh ûkuºkLkk ËuðkLkk MkkÄLkku (Debt Instruments) Lkwt rLkÄkohý (rating) fhu Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª

085.	 Mk{økú ¼khík sÚÚkkçktÄ ¼kð Mkq[f yktf (WPI) çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 i. Mk{økú ¼khík WPI {kxu ÃkkÞkLkwt ð»ko 2004-05 Úke çkË÷eLku 2011-12 fhðk{kt ykÔÞwt Au.
	 ii. MkwÄkhu÷e ©uýeyku{kt WPI çku {wÏÞ sqÚkkuLkwt çkLku÷wt hnuþu – «kÚkr{f [esðMíkwykuLku yLku WíÃkkrËík çkLkkðxku.
	 iii. WPI Lke Lkðe ©uýeyku{kt Mktf÷Lk {kxu WÃkÞkuøk{kt ÷uðk{kt ykðu÷e ®f{íkku Ãkhkuûk fhðuhkykuLkku Mk{kðuþ fhíke LkÚke.
	 (A) Võík i		  (B) Võík i yLku iii
	 (C) Võík ii yLku iii		  (D) i, ii yLku iii

086.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 (A) ¾ktzLke Ëhuf MkeÍLk (Season) {kxu fuLÿ Mkhfkh ðiÄkrLkf ykuAk{kt ykuAe (rLkBLkík{) ®f{ík Lk¬e fhu Au.
	 (B) ykð~Þf [esðMíkw yrÄrLkÞ{ nuX¤ ¾ktz yLku þuhze ykð~Þf [esðMíkwyku Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª

087.	 ¼khíkeÞ YÃkeÞku MktÃkqýoÃkýu .......... YÃkktíkheík Au.
	 i. [k÷w ¾kíkkLke [qfðýeykuLkk Mktíkw÷Lk (balance of payments) yLðÞu
	 ii. {qze ¾kíkkLke [qfðýeykuLkk Mktíkw÷Lk (balance of payments) yLðÞu
	 iii. MkkuLkk{kt
	 (A) Võík i		  (B) Võík i yLku ii
	 (C) Võík ii yLku iii		  (D) i, ii yLku iii

088.	 ¼khík Mkhfkhu økheçke hu¾k .......... Lkk MðYÃk{kt {kÃkðkLkwt Lk¬e fÞwO Au.
	 (A) ½høkÚÚkw ðÃkhkþ		  (B) ½høkÚÚkw çk[ík
	 (C) ½høkÚÚkw hkufký		  (D) ½h{kt ykr©ík MkÇÞku
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082.	 Which of the following is not a method for reducing public Debt?

	 (A) Grant-in-aid		  (B) Terminal annuities

	 (C) Capital Levy		  (D) None of the above

083.	 The term Hindu rate Growth refers to the 3.70% per annum growth rate achieved by the 
Indian economy over the first six Five Year Plans. The term was coined by _______.

	 (A) J. N. Bhagawati		  (B) K. N. Raj

	 (C) Raj Krishna		  (D) Sukhmoy Chakraborthy

084.	 Which of the following statement(s) is/are correct regarding Indian Capital market?

	 (A) CRISIL was set up during 8th Five Year Plan.

	 (B) CRISIL rates the debt instruments of the public sector.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

085.	 Which of the following statement(s) is/are correct regarding All India Wholesale Price  
Index (WPI)?

	 1. The base year for All India WPI has been revised from 2004-05 to 2011-12

	 2. �In the revised series WPI will constitute two major groups namely primary articles and 
manufactured products

	 3. In the new series of WPI prices used for compilation do not include indirect taxes

	 (A) 1 only		  (B) 1 and 3 only

	 (C) 2 and 3 only		  (D) 1, 2 and 3

086.	 Which of the following statement(s) is/are correct?

	 (A) �The Union Government fixes the statutory minimum price of sugarcane for each sugar 
season

	 (B) Sugar and sugarcane are essential commodities under the Essential Commodities Act

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

087.	 The Indian Rupee is fully convertible _______.

	 1. In respect of current account of the balance of payments

	 2. In respect of capital account of the balance of payments

	 3. Into gold

	 (A) 1 only		  (B) 1 and 2 only

	 (C) 2 and 3 only		  (D) 1, 2 and 3

088.	 The Government of India has decided to measure poverty line in terms of _______.

	 (A) Household consumption	 (B) Household savings

	 (C) Household investment	 (D) Dependent members in a household
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089.	 LkuþLk÷ «kuøkúk{ ykuV yußÞwfuþLk Vkuh økÕMko yux yu÷e{uLxhe ÷uð÷ (NPEGEL) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku 
Mkk[kt Au ?

	 i. íku Mkqû{ (Micro) Míkhu {wÆkyku æÞkLk{kt ÷u Au.
	 ii. íkuLkwt y{÷efhý þiûkrýf heíku ÃkAkík ç÷kuõMk{kt ÚkkÞ Au.
	 iii. íku þk¤kyku{kt fLÞkykuLke sYheÞkíkku æÞkLk{kt ÷u Au.
	 (A) i, ii yLku iii	 (B) Võík ii yLku iii	 (C) Võík i yLku ii	 (D) Võík i yLku iii

090.	 økwshkík çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 (A) 2013{kt økwshkík{kt Mkkík Lkðk rsÕ÷kyku çkLkkððk{kt ykÔÞk.
	 (B) NITI ykÞkuøku {kuhçke yLku Lk{oËkLku MkkiÚke ÃkAkík rsÕ÷kyku íkhefu rLkÞík fÞko Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª

091.	 {kLkð rðfkMk Mkq[fktf çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?
	 i. 2017Lkk {kLkð rðfkMk Mkq[fktfLkk ynuðk÷ yLkwMkkh 36 hkßÞku{ktÚke økwshkíkLkku ¢{ 21{ku Au.
	 ii. {kLkð rðfkMk Mkq[fktf{kt Ãktòçk «Úk{ ¢{u Au.
	 iii. �1995 Lke Mkh¾k{ýe{kt 2017{kt {kLkð rðfkMk Mkq[fktf{kt ¼÷u MkwÄkhku nkuÞ Ãký økwshkík hk»xÙeÞ Mkhuhkþ fhíkkt 

Lke[u Au.
	 (A) i, ii yLku iii	 (B) Võík ii yLku iii	 (C) Võík i yLku ii	 (D) Võík i yLku iii

092.	 Ãkt[ð»keoÞ ÞkusLkkyku çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 (A) 12{e Ãkt[ð»keoÞ ÞkusLkk yu ÍzÃke, xfkW yLku ðÄw Mk{krðü ð]ÂæÄ WÃkh ¼kh {qõÞku.
	 (B) 9{e Ãkt[ð»keoÞ ÞkusLkk ¼khík{kt rLkfkMk yLðÞu ð]ÂæÄLke ÔÞqnh[LkkLku yLkwMkhu Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª

093.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?
	 i. ¼khík{kt huÃkku hux (Repo Rate) heðMko huÃkku hux (Reverse Repo Rate) fhíkkt ykuAku Au.
	 ii. ¼khík{kt çkUf hux (Bank Rate) huÃkku hux (Repo Rate) fhíkkt ðÄkhu Au.
	 iii. ¼khík{kt hkufz yLkk{ík økwýku¥kh (Cash Reserve Ratio) huÃkku hux fhíkkt ykuAku Au.
	 (A) i, ii yLku iii	 (B) Võík i yLku iii	 (C) Võík i yLku ii	 (D) Võík ii yLku iii

094.	 ¼khíkeÞ çkuLfªøk ÔÞðMÚkkLkk MktË¼uo Lke[uLkk Ãkife fÞk ûkuºkku yøkúíkk ûkuºk rÄhký (Priority Sector Lending) nuX¤ 
ykðu Au ?

	 i. ÃkwLk:«kÃÞ Qòo (Renewable Energy)

	 ii. ykðkMk (Housing)

	 iii. Mkqû{, LkkLkk yLku {æÞ{ fûkkLkk MkknMkku (micro, small and medium enterprises)

	 iv. Mkk{kSf yktíkh {k¤¾wt (social infrastructure)

	 (A) Võík i, ii yLku iii	 (B) Võík i, ii yLku iv	 (C) Võík i, iii yLku iv	 (D) i, ii, iii yLku iv
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089.	 Which of the following statements are correct regarding  National Programme for Education 
of Girls at Elementary Level (NPEGEL)?

	 1. It addresses issues at micro level

	 2. It is implemented in educationally backward blocks

	 3. It addresses the needs of girls in schools

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1 and 3 only

090.	 Which of the following statement(s) is/are correct regarding Gujarat?

	 (A) Seven new districts were created in Gujarat in 2013.

	 (B) NITI Aayog has identified Morbi and Narmada as most backward districts.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

091.	 Which of the following statements are correct regarding Human Development Index?

	 1. As per Human Development Index report of 2017 Gujarat ranks 21st out of 36 states

	 2. Punjab ranks 1st in Human Development Index

	 3. �Though there is an improvement in HDI in 2017 as compared to 1995 the HDI of Gujarat 
is below the national average

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1 and 3 only

092.	 Which of the following statement(s) is/are correct regarding Five Year Plans?

	 (A) Twelfth Five Year Plan emphasized on faster, sustainable, and more inclusive growth

	 (B) Ninth Five Year Plan had followed Export-led growth strategy in India

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

093.	 Which of the following statements are correct?

	 1. Repo rate is less than Reverse Repo Rate in India

	 2. Bank Rate is more than Repo Rate in India

	 3. Cash Reserve Ratio is less than Repo Rate in India

	 (A) 1, 2 and 3	 (B) 1 and 3 only	 (C) 1 and 2 only	 (D) 2 and 3 only

094.	 Which of the following sectors fall under Priority Sector Lending with reference to Indian 
Banking System?

	 1. Renewable Energy

	 2. Housing

	 3. Micro, Small and Medium Enterprises

	 4. Social infrastructure

	 (A) 1, 2 and 3 only	 (B) 1, 2 and 4 only	 (C) 1, 3 and 4 only	 (D) 1, 2, 3 and 4
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095.	 òu fkuE ËuþLkwt [qfðýkLkwt Mktíkw÷Lk (Balance of Payments) nfkhkí{f (Positive) nkuÞ íkku Lke[uLkk Ãkife fÞwt Lknª ÚkkÞ?
	 (A) MkkuLkkLke ykÞkík
	 (B) rðËuþ rðrLk{Þ (nqtrzÞk{ý) Mkuðkyku{kt ðÄkhku
	 (C) yLÞ Ëuþku ÃkkMkuÚke xqtfk økk¤kLke yLku ÷ktçkk økk¤kLke ÷kuLkku (rÄhkýku) {u¤ððe
	 (D) yLÞ ËuþkuLku {qze ÷kuLk (rÄhký)

096.	 ELzeÞk ÃkkuMx Ãku{uLx çkUf çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku ¾kuxkt Au ?
	 i. íku 100% Mkhfkhe RÂõðxe MkkÚkuLke ÃkkuMx ¾kíkk nuX¤Lke ònuh ûkuºk ftÃkLke Au.
	 ii. íku hkt[e{kt ÃkkÞ÷kux «kusuõx íkhefu þY fhðk{kt ykðe níke.
	 iii. íku ELzeÞk ÃkkuMx Ãku{uLx çkUf Mkt[kh {tºkk÷Þ nuX¤Lkk ÃkkuMx ¾kíkk nuX¤ fkÞo fhu Au.
	 iv. íku ÷kuLk yLku ¢uzex fkzo ykÃke þfu Au.
	 (A) Võík i, ii yLku iii	 (B) Võík iv	 (C) Võík ii yLku iii	 (D) i, ii, iii yLku iv

097.	 økwshkíkLke rðãk ÷û{e ÞkusLkk çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 (A) yk ÞkusLkk yuðk økk{zkykuLku ykðhe ÷u Au fu ßÞkt Mºke Mkkûkhíkk Ëh 35% fhíkk ykuAku nkuÞ.
	 (B) �Äkuhý-1 {kt «ðuþ ÷uíke fLÞkykuLku Yk. 2000 Lkk Lk{oËk rLkrÄ çkkuLz Ãkqhk Ãkkzðk{kt ykðu Au yLku Äkuhý-8 Ãkqýo fÞko 

çkkË fLÞkykuLku ÔÞks MkkÚku [qfðýe fhðk{kt ykðu Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª

098.	 økwshkíkLkk 2019-20 Lkk ytËksÃkºkLke “Lk÷ Mku s÷ ÞkusLkk” çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / 
Mkk[kt Au ?

	 (A) �ík{k{ ½hkuLku Lk¤ îkhk ÃkeðkLkwt Ãkkýe Ãkqhwt Ãkkzðk {kxu Yk. 20,000 fhkuz ykðLkkhk ºký ð»kkuo ËhBÞkLk ¾[o fhðk{kt 
ykðþu.

	 (B) 2019-20 {kt yk ÞkusLkk nuX¤ Yk. 4,500 fhkuzLke Vk¤ðýe fhðk{kt ykðe Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª

099.	 Lke[uLkk Ãkife fÞwt {{íkk yr¼ÞkLkLkku rnMMkku LkÚke ?
	 (A) {{íkk rËðMk (økúkBÞ MðkMÚÞ yLku Ãkku»ký rËðMk)	 (B) {{íkk {w÷kfkík (sL{ ÃkAeLke fk¤S ½h {w÷kfkík)
	 (C) {{íkk MktË¼o (huVh÷ yLku Mkuðkyku)	 (D) WÃkhkuõík Ãkife fkuE Lknª

100.	 zu{kuøkúkrVf rzrðzLz çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 (A) �zu{kuøkúkrVf rzrðzLzLku ðMíke{kt fk{ fhíke ðÞLkk ÷kufkuLkk ðÄíkk síkk rnMMkkLkk fkhýu ykŠÚkf ð]ÂæÄLkk ûkuºk{kt ðÄkhk 

íkhefu ÔÞkÏÞkrÞík fhðk{kt ykðu Au.
	 (B) yk ½xLkk ðÄíkk síkk sL{ Ëh yLku ðMíkeLkk ðÞ {k¤¾k{kt fk{ fhíke ÃkwÏík ðÞ íkhV Ãkheýk{u Ãk÷xkLke MkkÚku ÚkkÞ Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª
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095.	 If the Balance of Payments of any country is positive which of the following will not happen?

	 (A) Import of Gold

	 (B) Increase in foreign exchange service

	 (C) Receiving of short term and long term loans from other countries

	 (D) Capital loan to other countries

096.	 Which of the following statements about India Post Payments Bank is INCORRECT?

	 1. It is a public sector company under Department of Post with 100% government equity

	 2. It was launched as a pilot project in Ranchi

	 3. IPPB operates under Department of Post under ministry of communications

	 4. It can issue loans and credit cards

	 (A) 1, 2 and 3 only		  (B) 4 only

	 (C) 2 and 3 only		  (D) 1, 2, 3 and 4

097.	 Which of the following statement(s) is/are correct regarding Vidya Laxmi Scheme of Gujarat?

	 (A) This scheme covered those village in which the literacy rate of female is less than 35%.

	 (B) �The Narmada Nidhi’s bond of INR 2000 is provided to the girls enrolled in the standard 
1st and is paid with interest to the girls after the completion of 8th standard.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

098.	 Which of the following statement(s) is/are correct regarding “Nal Se Jal Yojana” of Gujarat 
Budget 2019-20?

	 (A) �Rs 20,000 crore will be spent during the next three years for providing drinking water 
through tap to all households.

	 (B) INR 4,500 crore has been allocated under this scheme in 2019-20.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

099.	 Which of the following is not part of Mamta Abhiyan?

	 (A) Mamta Divas (Village Health and Nutrition Day)

	 (B) Mamta Mulakat (Postnatal Care Home visit)

	 (C) Mamta Sandarbh (Referral and Services)

	 (D) None of the above

100.	 Which of the following statement(s) is/are correct regarding Demographic Dividend?

	 (A) �Demographic Dividend is defined as a rise in the area of economic growth due to a rising 
share of working age people in a population.

	 (B) �This phenomenon occurs with a rising birth rate and consequent shift in the age structure 
of the population towards the adult working ages.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)
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101.	 LkuþLk÷ MkuBÃk÷ Mkðuo ykuVeMk yLkwMkkh nk÷Lkk çkuhkusøkkhe / hkusøkkheLke ËirLkf ÂMÚkrík çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku 
Mkk[kt Au ?

	 i. �su ÔÞÂõík yuf f÷kf {kxu fk{ fhu Ãký [kh f÷kf fhíkkt ykuAwt fk{ fhu íkku íkuýu yzÄku rËðMk {kxu fk{ fÞwO nkuðkLkwt 
økýkþu.

	 ii. ßÞkhu ÔÞÂõík rËðMk ËhBÞkLk [kh f÷kf fu íkuÚke ðÄkhu fk{ fhu íkku íku yk¾k rËðMk {kxu fkÞohík Au yu{ økýkþu.
	 iii. nk÷Lkku ËirLkf ÂMÚkrík çkuhkusøkkheLkku Ëh fkuLxÙkõx Ëh (Contract rate) Au.
	 (A) i, ii yLku iii		  (B) Võík ii yLku iii
	 (C) Võík i yLku ii		  (D) Võík i yLku iii

102.	 f{o[khe hkßÞ ðe{k ÞkusLkk (Employees’ State Insurance Scheme) nuX¤ Lke[uLkk Ãkife fE MktMÚkkykuLkk 
f{o[kheyku Mkk{kSf Mkwhûkk LÞkÞ (Social Security Coverage) Ähkðu Au ?

	 i. nkux÷ yLku huMxkuhLx	 	 ii. {kuxh xÙkLMkÃkkuxo yLzhxufªøk
	 iii. Mk{k[khÃkºkku {nuf{ku		  iv. ¾kLkøke íkçkeçke MktMÚkkyku
	 (A) Võík i, ii yLku iii		  (B) Võík iii yLku iv
	 (C) i, ii, iii yLku iv		  (D) WÃkhkuõík Ãkife fkuE Lknª

103.	 økwshkík{kt BIG 2020 ..........Lkwt rðÍLk zkuõÞw{uLx (Vision Document) Au.
	 (A) Wãkuøk ûkuºk	 (B) f]r»k ûkuºk	 (C) yktíkh{k¤¾wt	 (D) rðËuþe ðuÃkkh

104.	 ykÃku÷k Mk{Þ {kxu ËuþLke hk»xÙeÞ ykðf{kt .......... þk{u÷ Au.
	 i.   Mkhfkh îkhk fhðk{kt ykðu÷ ðÃkhkþ yLku hkufký ¾[o.
	 ii.  rðËuþ{kt ¼khíkeÞku îkhk fhðk{kt ykðu÷ ðÃkhkþ yLku hkufký ¾[o
	 iii. ¾kLkøke ûkuºk îkhk fhðk{kt ykðu÷ ðÃkhkþ yLku hkufký ¾[o
	 (A) Võík i yLku ii		  (B) Võík ii yLku iii
	 (C) Võík i yLku iii		  (D) i, ii yLku iii

105.	 ¼rð»Þ{kt ykŠÚkf rðfkMkLkku yusLzk Mk{krðü ð]ÂæÄ Au. Mk{krðü ð]ÂæÄLke ÔÞqnh[Lkk .......... WÃkh æÞkLk fuLÿeík  
fhíke LkÚke.

	 (A) þiûkrýf íkfku{kt ðÄkhku
	 (B) ÃkAkík ðøkkuo{kt økheçke{kt ½xkzku
	 (C) ykrËðkMke ðMíke {kxu ykSrðfkLkwt ðirðæÞefhý fhðwt
	 (D) WÃkhkuõík Ãkife fkuE Lknª

106.	 çkUfkuyu íkuykuLke íkh÷ yMfÞk{íkku yLku fw÷ ÚkkÃkýku ðå[uLkku økwýku¥kh ò¤ððk Ãkzu Au. yk økwýku¥khLku .......... fnu Au.
	 (A) hkufz yLkk{ík økwýku¥kh (Cash Reserve Ratio)

	 (B) ðiÄkrLkf «ðkrníkk økwýku¥kh (Statutory Liquidity Ratio)

	 (C) ÃkÞkoÃíkíkk {qzeLkku økwýku¥kh (Capital Adequacy Ratio)

	 (D) fuLÿeÞ «ðkrníkk økwýku¥kh (Central Liquid Ratio)
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101.	 Which of the following statements are correct regarding Current Daily Status of 
Unemployment/employment as per National Sample Survey Office?

	 1. �A person who works for one hour but less than four hours is considered having worked for 
half a day.

	 2. �When a person works for four hours or more during a day, he is considered as employed 
for the whole day.

	 3. The current daily status unemployment rate is contract rate.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1 and 3 only

102.	 The employees of which of the following organizations have Social Security coverage under 
Employees' State Insurance Scheme?

	 1. Hotel and Restaurants

	 2. Motor Transport Undertaking

	 3. Newspaper establishments

	 4. Private medical Institutions

	 (A) 1, 2 and 3 only		  (B) 3 and 4 only

	 (C) 1, 2, 3 and 4		  (D) None of the above

103.	 BIG 2020 is the vision document of _______ in Gujarat.

	 (A) Industry Sector		  (B) Agriculture Sector

	 (C) Infrastructure		  (D) Foreign Trade

104.	 The national income of a country for a given period includes _______.

	 1. Consumption and investment expenditure incurred by the government

	 2. Consumption and investment expenditure incurred by Indians abroad

	 3. Consumption and investment expenditure incurred by private sector

	 (A) 1 and 2 only		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

105.	 Inclusive Growth is the agenda of Economic development in the future. The strategy of 
inclusive growth does NOT focus on _______.

	 (A) Enhancement of Education opportunities

	 (B) Reduction of poverty among backward classes

	 (C) Diversifying livelihood for tribal population

	 (D) None of the above

106.	 The banks are required to maintain a certain ratio between their liquid assets and total 
deposits. This ratio is called _______.

	 (A) Cash Reserve Ratio		 (B) Statutory Liquidity Ratio

	 (C) Capital Adequacy Ratio	 (D) Central Liquid Ratio
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107.	 {nuMkq÷e ¾kÄ (Revenue Deficit) çkkçkíku Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 i. íku Võík yuðk s ÔÞðnkhkuLkku Mk{kðuþ fhu Au fu su MkhfkhLke [k÷w ykðf yLku ¾[oLku yMkh fhu.
	 ii. íku Mkhfkh îkhk ÷eÄu÷ [k÷w WÄkhLku Ãký æÞkLku ÷u Au.
	 iii. �Ä VeMkf÷ heMkÃkkuLMkeç÷exe yuLz çksux {uLkus{uLx yrÄrLkÞ{ yLkwMkkh Mkhfkhu {nuMkq÷e ¾kÄ ½xkzeLku GDP Lkk 

3% fhðkLke hnu Au.
	 (A) Võík i	 (B) i, ii yLku iii	 (C) Võík i yLku iii	 (D) Võík i yLku ii

108.	 2020-21 Ãknu÷kt heÍðo çkuLf ykuV ELzeÞkLkwt rnMkkçke ð»ko .......... Au.
	 (A) yur«÷ Úke {k[o		  (B) sw÷kE Úke sqLk
	 (C) ykuõxkuçkh Úke MkÃxuBçkh	 	 (D) WÃkhkuõík Ãkife fkuE Lknª

109.	 ¼khík{kt ðkrýßÞ çkUfkuLkk fkÞkuo{kt .......... Lkku Mk{kðuþ ÚkkÞ Au.
	 (A) økúknfku ðíke þuh yLku MkeõÞwhexeÍLke ¾heËe yLku ðu[ký.
	 (B) ðe÷ (Will) Lkk ðneðxfíkko yLku xÙMxe íkhefu fkÞo fhðwt.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª

110.	 ¼khík{kt fhðuhk ÃkæÄrík çkkçkíku Lke[uLkk Ãkife fÞkt rðÄkLkku Mkk[kt Au ?
	 i. �«íÞkøk{Lkû{ fh (Regressive tax) yuðk fhðuhk Au fu su ðÄw ykðfðk¤k fhíkkt ykuAe ykðfðk¤k ÔÞÂõíkyku WÃkh 

ðÄw yMkh fhu Au.
	 ii. «{kýMkh fhðuhk (Proportional tax)Lku ^÷ux fhðuhk (Flat tax)Lkk MktË¼uo Ãký òuðk{kt ykðu Au.
	 iii. �«íÞûk fhðuhk yu yuðe ðMkw÷kík Au fu su fkuE ¾kMk ÔÞÂõíkykuLkk sqÚk WÃkh ÷kËðk{kt ykðu Au íku{s ðMkq÷ ÷uðk{kt 

ykðu Au.
	 (A) Võík i yLku ii	 (B) Võík ii yLku iii	 (C) Võík i yLku iii	 (D) i, ii yLku iii

111.	 yktíkhhk»xÙeÞ «ðkneíkk (International liquidity) Lke Mk{MÞk .......... Lke rçkLk WÃk÷çÄíkk MkkÚku Mktf¤kÞu÷e Au.
	 (A) ðMíkwyku yLku Mkuðkyku	 	 (B) MkkuLkw yLku [ktËe
	 (C) zku÷h yLku yLÞ nkzo (hard) [÷ýku (currency)	 (D) WÃkhkuõík Ãkife fkuE Lknª

112.	 MkeÄw rðËuþe hkufký (FDI) yLku rðËuþe MktMÚkkfeÞ hkufký (FII) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk ¾kuxwt Au ?
	 (A) FDI yLku FII çktLku yÚkoíktºk{kt {qze ÷kðu Au.
	 (B) FDI Lkk «ðuþ WÃkhLkk rLkÞtºkýku FII fhíkkt ykuAk Au.
	 (C) FDI, FII fhíkkt ðÄw ÂMÚkh nkuðkLkwt økýkÞ Au.
	 (D) WÃkhkuõík Ãkife fkuE Lknª

113.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 (A) ßÞkhu GDP [k÷w ¼kðu ytËksðk{kt ykðu Au íÞkhu íku Lkkur{Lk÷ GDP Ëþkoðu Au.
	 (B) ðkMíkrðf (hey÷) GDP Lkku ytËks ÂMÚkh ¼kðu fhðk{kt ykðu Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª
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107.	 Which of the following statement(s) is/are correct regarding Revenue Deficit?

	 1. �It includes only those transactions that affect current income and expenditure of 
government

	 2. It considers the current borrowings by the government

	 3. �As per the Fiscal Responsibility and Budget Management Act the government is required 
to reduce the Revenue Deficit to 3% of the GDP

	 (A) 1 only		  (B) 1, 2 and 3

	 (C) 1 and 3 only 		  (D) 1 and 2 only

108.	 The Accounting year of the Reserve Bank of India is _______ before 2020-21.

	 (A) April to March		  (B) July to June

	 (C) October to September	 (D) None of the above

109.	 The function of commercial banks in India includes _______.

	 (A) Purchase and sale of shares and securities on behalf of customers

	 (B) Acting as executors and trustees of Wills

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

110.	 Which of the following statements are correct regarding Taxation System in India?

	 1. �Regressive Taxes are those that have a greater impact on low income individuals than high 
income earners.

	 2. A proportional tax is also referred to as flat tax.

	 3. �A direct tax refers to any levy that is both imposed and collected on a specific group of 
people.

	 (A) 1 and 2 only	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1, 2 and 3

111.	 The problem of International liquidity is related to the non-availability of _______.

	 (A) Goods and Services	 (B) Gold and Silver

	 (C) Dollars and other hard currencies	 (D) None of the above

112.	 Which of the following statements is INCORRECT regarding Foreign Direct Investment (FDI) 
and Foreign Institutional Investment (FII)?

	 (A) Both FII and FDI bring capital into the economy

	 (B) The restrictions on the entry of FDI are lower than that on FII

	 (C) FDI is considered to be more stable than FII

	 (D) None of the above

113.	 Which of the following statement(s) is/are correct?

	 (A) When the GDP is estimated at current prices, it exhibits nominal GDP

	 (B) Real GDP estimation is made at Constant Prices

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)
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114.	 çkuLfªøk çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 i. ðkrýßÞ çkUfkuLkwt rLkÞ{Lk [wMík heíku ÚkkÞ Au ßÞkhu þuzku çkuLfªøk (shadow banking)Lkwt rLkÞ{Lk ÞkuøÞ heíku Úkíkwt LkÚke.

	 ii. �ðkrýßÞ çkuLfªøkLkk Éý (sðkçkËkheyku)Lkku ðe{ku nkuÞ Au, ßÞkhu þuzku çkuLfªøkLkk Éý (sðkçkËkheyku)Lkku ðe{ku 
nkuíkku LkÚke.

	 iii. �ðkrýßÞ çkUfku s{kfíkko MktMÚkkyku (depository institutions) nkuðkÚke LkkýkLkwt MksoLk fhe þfíke LkÚke ßÞkhu þuzku 
çkUfku LkkýkLkwt MksoLk fhe þfu Au.

	 (A) i, ii yLku iii	 (B) Võík ii yLku iii	 (C) Võík i yLku ii	 (D) Võík i yLku iii

115.	 ¼khík{kt yð÷tçkLk økwýku¥kh (Dependency ratio) Lke økýíkhe {kxu Lke[uLkk Ãkife fÞwt Mkqºk ðÃkhkÞ Au ?

	 (A) ðMíke ( ð»ko) yLku ( ð»ko yLku WÃkh)
fk{ fhíke ðMíke ( ð»ko)
0 - 14  60 

15 - 59 

	 (B) 
fk{ fhíke ðMíke ( ð»ko)15 - 59 

ðMíke ( ð»ko) yLku ( ð»ko yLku WÃkh)0 - 14  60 

	 (C) 
ðMíke ( ð»ko) yLku ( ð»ko yLku WÃkh)

fk{ fhíke ðMíke ( ð»ko)
0 - 18  59 

19 - 58 
	 (D) WÃkhLkk Ãkife fkuE Lknª

116.	 ykuÍkuLk ½xkzíkkt ÃkËkÚkkuoLkk WÃkÞkuøkLku rLkÞtrºkík yLku íkçk¬kðkh ytík ÷kððk MkkÚku Lke[u ÃkifeLkwt fÞwt Mktf¤kÞu÷wt Au ?

	 (A) {kuLxÙeÞ÷ «kuxkufku÷		  (B) õÞkuxku fkuLVhLMk

	 (C) LkøkkuÞk fkuLVhLMk		  (D) WÃkhLkk Ãkife fkuE Lknª

117.	 òu fkuE ÔÞÂõík økehLkk støk÷{ktÚke ÃkMkkh ÚkE hne Au íkku Lke[uLkk Ãkife fÞwt «kýe òuE þfðkLke Mkt¼kðLkk Au ?

	 i. yurþÞkE ®Mkn	 ii. f¤ýLkku {økh	 iii. støk÷e Mkqðh	 iv. ðkLkh

	 (A) Võík i, ii yLku iii	 (B) Võík ii yLku iii	 (C) Võík ii yLku iv	 (D) i, ii, iii yLku iv

118.	 Lke[uLkk Ãkife fÞk òuzfktLku ÞkuøÞ heíku òuzðk{kt ykÔÞk Au ?

	 hk»xÙeÞ WãkLk / y¼ÞkhÛÞ		  {wÏÞ «kýeyku

	 1. [tÿ«¼k y¼ÞkhÛÞ		  økehLkk ®Mkn, Mkkçkh

	 2. Ëktzu÷e y¼ÞkhÛÞ		  ðk½, nkÚke, sh¾

	 3. rs{ fkçkuox hk»xÙeÞ WãkLk		 Lke÷ økkÞ, çkkhkMkªøkku, ËeÃkzku

	 4. økeLze hk»xÙeÞ WãkLk		  çkhVLkwt hªA, ¼qhwt hªA, Þkf

	 (A) 1, 2, 3, yLku 4		  (B) Võík 1, 2 yLku 3

	 (C) Võík 2 yLku 4		  (D) Võík 1 yLku 3

119.	 ykE.yuLk.yuMk. MkÌkkÿe n{ýkt Mk{k[khku{kt Au. íku .......... Au.

	 (A) LkkifkË¤ {Úkf		  (B) Mkçk{heLk

	 (C) r£økux ÞwØ snks		  (D) Lkuðe hefðhe ðuMk÷ (LkkifkË¤ çk[kð snks)
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114.	 Which of the following statements are correct regarding Banking?

	 1. Commercial banks are tightly regulated, shadow banking is not well regulated.

	 2. Commercial banking liabilities are insured, Shadow banking liabilities are not insured.

	 3. �Commercial banks being depository institutions cannot create money, shadow banks can 
create money.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1 and 3 only

115.	 Which of the following, formula is used to calculate dependency ratio in India?

	 (A) 
Population (0 - 14 years) and (60 years and above)

Working population (15 - 59 years)

	 (B) 
Working population (15 - 59 years)

Population (0 - 14 years) and (60 years and above)

	 (C) 
Population (0 - 18 years) and (59 years and above)

Working population (19 - 58 years)

	 (D) None of the above

116.	 Which one of the following is associated with the issue of control and phasing out of the use 
of Ozone depleting substances?

	 (A) Montreal protocol		  (B) Kyoto Conference

	 (C) Nagoya Conference	 (D) None of the above

117.	 If anybody is travelling through the Gir Forest, they are likely to see which of the following 
animals?

	 1. Asiatic Lion	 2. Marsh Crocodile	 3. Wild Boar	 4. Langur

	 (A) 1, 2 and 3 only	 (B) 2 and 3 only	 (C) 2 and 4 only	 (D) 1, 2, 3 and 4

118.	 Which of the following pairs are correctly matched?

	 National Park/Sanctuary	 Prominent Animals

	 1. Chandraprabha Sanctuary	 Gir Lions, Sambar

	 2. Dendeli Sanctuary		  Tiger, Elephant, Hyena

	 3. Corbett National Park	 Nilgai, Swamp deer, Panther

	 4. Guindy National Park	 Snow Bear, Brown bear, Yak

	 (A) 1, 2, 3 and 4		  (B) 1, 2 and 3 only

	 (C) 2 and 4 only		  (D) 1 and 3 only

119.	 INS Sahyadri was in the news recently, it is a _______ .

	 (A) Naval base		  (B) Submarine

	 (C) Frigate Warship		  (D) Navy Recovery Vessel
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120.	 Lke[uLkk Ãkife fÞk Mkq[fku rðËuþe nqtzeÞk{ýLke ÂMÚkhíkkLku Lkçk¤e Ëþkoðu Au ?

	 i. ykÞkík{kt ½xkzku

	 ii. rðËuþe ÃkkuxoVkur÷Þku hkufkýfkhku îkhk {qze «ðkn

	 iii. xqtfe {wËíkLkk çkkfe çkkÌk Ëuðk{kt ½xkzku

	 (A) Võík i yLku iii	 (B) Võík ii yLku iii	 (C) Võík i yLku ii	 (D) i, ii yLku iii

121.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 (A) �̂ ÷whkuMkuLx ÷uBÃk yu «fkþ WíÃkLLk fhðk {kxu E÷uõxÙkuLk îkhk yktËkur÷ík (W¥kursík) ÚkÞu÷k VkuMVkuhMkLkku WÃkÞkuøk  
fhu Au.

	 (B) ^÷whkuMkuLx ÷uBÃk yu ðes çk[kð (yuLkSo yurVrMkyuLx) yLku yktíkrhf ÷kE®xøk {kxu ©uc Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª

122.	 ÔnkuxTMkyuÃk xufLkku÷kuS {kxu Lke[uLkk rðÄkLkku Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 (A) ÔnkuxTMkyuÃk 128 çkex yuL¢eÃþLk xufLkku÷kuSLkku WÃkÞkuøk fhu Au.

	 (B) 128 çkex yuL¢eÃkþLk xufLkku÷kuS yrík Mk÷k{ík xufLkku÷kuS økýkÞ Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª

123.	 Lke[uLkk Ãkife fÞk rðÄkLkku fuLMkh {kxu Mkk[kt Au ?

	 i. fuLMkh {kxu sðkçkËkh ðkÞhMk{kt ðkÞh÷ ykuLfkursLk Lkk{Lkk rsLMk nkuÞ Au.

	 ii. {ur÷økLx xâq{Mko íkuLkk {q¤ MÚkkLk Ãkqhíkkt Mker{ík hnu Au.

	 iii. fuLMkhLkk fku»k MktÃkfoçktÄe «ËŠþík fhíkkt LkÚke.

	 (A) Võík i yLku iii	 (B) Võík ii yLku iii	 (C) Võík i yLku ii	 (D) i, ii yLku iii

124.	 Ãk]ÚðeLkwt Ãkrh¼ú{ý fhíkku WÃkøkún Lke[u Ãkzíkku LkÚke fkhý fu Ãk]ÚðeLkwt ykf»koý ..........

	 (A) yu ytíkhu yÂMíkíð Ähkðíkwt LkÚke.	 (B) [tÿLke r¢ÞkLku rçkLkyMkhfkhf çkLkkðu Au.

	 (C) Mkíkík økrík{kLk hnuðk sYhe ÍzÃk Ãkqhe Ãkkzu Au.	 (D) íkuLke økrík {kxu sYhe «ðuøk Ãkqhku Ãkkzu Au.

125.	 Lke[uLkk Ãkife Mkkih{tz¤Lkku fÞku økún Ãkkýe Ãkh íkhe þfu ?

	 (A) {tøk¤ yLku økwhw	 (B) þw¢ yLku LkuÃkåÞqLk	 (C) çkwÄ yLku þw¢	 (D) þrLk

126.	 ûk-rfhýkuLkk økwýÄ{kuo þwt Au ?

	 i. ûk-rfhýkuLke íkhtøk÷tçkkE á~Þ{kLk «fkþ fhíkkt ½ýe ÷ktçke nkuÞ Au.

	 ii. �ûk-rfhýkuLkk VkuxkuLk yýwykuLku ykÞkuLkkEÍTz fhðk yLku {ku÷uõÞw÷h çkkuLzªøk (ykÛðef çktÄLk) ¾kuhðe Lkk¾ðk Ãkqhíke 
WòoþÂõík Ähkðu Au.

	 iii. ûk-rfhýku ÿÔÞ MkkÚku rçk÷fw÷ r¢Þk fhíkkt LkÚke.

	 (A) Võík i yLku ii	 (B) Võík ii	 (C) Võík iii	 (D) i, ii yLku iii
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120.	 Which of the following are the indicators of weakening stability of Forex Reserves?

	 1. Decrease in Import Cover

	 2. Inflow of funds by foreign portfolio investors

	 3. Decrease in coverage of outstanding short term external debt

	 (A) 1 and 3 only		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1, 2 and 3

121.	 Which of the following statement(s) is/are correct?

	 (A) Fluorescent Lamps use Phosphorous excited by electrons and produce light

	 (B) Fluorescent lamps are energy efficient and are best for indoor lighting

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

122.	 Which of the following statement(s) is/are correct regarding WhatsApp technology?

	 (A) WhatsApp is using 128 bit encryption technology.

	 (B) 128 bit encryption technology is considered as very secured technology.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

123.	 Which of the following statements are correct regarding Cancer?

	 1. Cancer causing viruses have genes called viral oncogenes

	 2. Malignant tumors remain confined to their original location

	 3. Cancer cells do not exhibit contact inhibition

	 (A) 1 and 3 only 	 (B) 2 and 3 only	 (C) 1 and 2 only 	 (D) 1, 2 and 3

124.	 An artificial satellite orbiting around the earth does not fall down, this is so because the 
attraction of the Earth _______ .

	 (A) Does not exist at such distance

	 (B) Is neutralized by the action of the Moon

	 (C) Provides the necessary speed for its steady motion

	 (D) Provides the necessary acceleration for its motion

125.	 Which of the following planets in the solar system can float on water?

	 (A) Mars and Jupiter		  (B) Venus and Neptune

	 (C) Mercury and Venus		 (D) Saturn

126.	 What are the properties of X rays?

	 1. X rays have much longer wavelengths than visible light

	 2. X rays photons carry enough energy to ionize atoms and disrupt molecular bonds

	 3. X rays do not interact with matter at all

	 (A) 1 and 2 only	 (B) 2 only	 (C) 3 only	 (D) 1, 2 and 3
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127.	 Lke[uLkk ÃkifeLkk fÞk WíÃkkËku Ãkkhku Ähkðu Au ?
	 i. yu÷.Mke.ze.	 ii. ÷uÃkxkuÃk çkuxheÍ	 iii. y{wf ykuE÷ ÃkuELxTMk
	 (A) Võík i yLku iii	 (B) Võík ii yLku iii	 (C) Võík i yLku ii	 (D) i, ii yLku iii

128.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku hkuxk ðkÞhMk {kxu Mkk[wt / Mkk[kt Au ?
	 i. íku Lkðòík rþþw yLku çkk¤fku{kt íkeðú xkEVkuEz ÚkðkLkwt MkkiÚke Mkk{kLÞ fkhý Au.
	 ii. íku LkkLkk yktíkhzkLke rËðk÷Lkk fku»kkuLku [uÃk ÷økkze nkrLk ÃknkU[kzu Au.
	 iii. ¼khík{kt yk ðkÞhMkLku LkkÚkðk MðËuþe hkuxkðuf rðfrMkík fhðk{kt ykðe Au.
	 (A) Võík i yLku iii	 (B) Võík ii yLku iii	 (C) Võík i yLku ii	 (D) Võík ii

129.	 Lke[uLkk Ãkife fÞk òuzfkyku ÞkuøÞ heíku òuzðk{kt ykÔÞk Au ?
	 1. rðxkr{Lk A – Ãkkfk Ãke¤kt V¤ku	 2. rðxkr{Lk B1 – #zk
	 3. rðxkr{Lk E – çkËk{ yLku çkeÞkt	 4. rðxkr{Lk K – Ãkk÷f
	 (A) 1, 2, 3, yLku 4	 (B) Võík 2, 3 yLku 4	 (C) Võík 3 yLku 4	 (D) Võík 4

130.	 {kLkð þheh{kt rn{kuø÷kurçkLkLkwt fkÞo Lke[uLkk Ãkife fÞwt Au ?
	 (A) ðkÞwLkwt ðnLk
	 (B) yuLÍkEBMk Aqxkt ÃkkzðkLke r¢ÞkLku rLkÞtrºkík fhu Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª

131.	 íkksuíkh{kt Mk{k[khku{kt hnu÷k ‘{khf hkuøk-«ríkfkhf fku»k’ (rf÷h EBÞw Mku÷) yu yuðk «fkhLkk Au fu -
	 (A) Ãkktzwhkuøk (yurLkr{Þk) Mkk{u «ríkfkh fhe þfu íkuðk hõík fýku
	 (B) ^÷q ðkÞhMk Mkk{u «ríkfkh fhe þfu íkuðk ïuík fýku
	 (C) zUøÞw íkkð Mkk{u «ríkfkh fhe þfu íkuðk Ã÷ux÷uxTMk
	 (D) hkuøk «ríkfkhf þÂõík ðÄkhe þfu íkuðk Ã÷kÍ{k fku»kku

132.	 Lke[uLkk Ãkife fÞk LÞwÂõ÷Þh VeÍLk rhyuõþLk (yýw rðåAuËLk «ríkr¢Þk)Lkk økuh÷k¼ku Au ?
	 i. rðÃkw÷ {kºkk{kt rfhýkuíMkøkeo f[hku
	 ii. yÂ~{sLÞ #Äý fhíkkt ðÄw «Ëq»ký
	 iii. ÃkÞkoðhýLku LkwfMkkLk ÚkðkLke þõÞíkkyku
	 (A) Võík ii yLku iii	 (B) Võík i yLku ii	 (C) Võík i yLku iii	 (D) i, ii yLku iii

133.	 Lke[uLkk Ãkife fÞk rðÄkLkku yðfkþ «kiãkurøkfe (MÃkuMk xufLkku÷kuS) çkkçkíku Mkk[kt Au ?
	 i. MEO Ãk]ÚðeLke {æÞ{ ¼ú{ý fûkkLku {æÞðíkeo ðíkwo¤ ¼ú{ý fûkk - ELxhr{zeyux MkõÞwo÷h ykuŠçkx Ãký fnuðkÞ Au.
	 ii. MEO Lku ÄúwðeÞ ¼ú{ý fûkk Ãký fnuðkÞ Au fkhý fu WÃkøkún yk ¼ú{ý fûkk{kt Äúwð Úke Äúwð ¼ú{ý fhu Au.
	 iii. yk ¼ú{ý fûkk{kt WÃkøkún Ãk]ÚðeLkk Äúwð Úke Äúwð ¼ú{ý fhu Au.
	 (A) i, ii yLku iii	 (B) Võík ii yLku iii	 (C) Võík i yLku iii	 (D) Võík i yLku ii
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127.	 Which of the following products contain Mercury?

	 1. LCDs	 2. Laptop batteries	 3. Some oil-based paints

	 (A) 1 and 3 only	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1, 2 and 3

128.	 Which of the following statements is/are correct regarding Rotavirus?

	 1. It is the most common cause of severe typhoid among the infants and young children.

	 2. It infects and damages the cells that line the small intestine

	 3. An indigenous Rotavac has been developed by India to tackle with this virus

	 (A) 1 and 3 only		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 2 only

129.	 Which of the following pair(s) is/are correctly matched?

	 1. Vitamin A - Ripe yellow fruits

	 2. Vitamin B1 - Eggs

	 3. Vitamin E - Nuts and Seeds

	 4. Vitamin K - Spinach

	 (A) 1, 2, 3 and 4		  (B) 2, 3 and 4 only

	 (C) 3 and 4 only		  (D) 4 only

130.	 Which of the following is the function of Haemoglobin in the Human body?

	 (A) Transport of Gases		  (B) Regulating release of enzymes

	 (C) Both (A) and (B)		  (D) Neither (A) nor (B)

131.	 The ‘Killer Immune Cells’, which were in the news recently, are a type of

	 (A) Red Blood Cells, capable of fighting anaemia.

	 (B) White Blood Cells, capable of fighting the strains of flu virus.

	 (C) Platelets, capable of fighting the Dengue fever.

	 (D) Plasma Cells, capable of improving immunity.

132.	 Which of the following are the disadvantages of nuclear fission reaction?

	 1. Large Radioactive waste

	 2. Higher Pollution than fossil fuels

	 3. Possibility of environmental damage

	 (A) 2 and 3 only		  (B) 1 and 2 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

133.	 Which of the following statements are correct regarding space technology?

	 1. Medium Earth Orbit (MEO) is also called as Intermediate Circular Orbit

	 2. �The MEO is also called as Polar Orbit, because satellite in this orbit moves from  
pole to pole.

	 3. In this orbit, the satellite moves around Earth from Pole to Pole.

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1 and 2 only
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134.	 Lke[uLkk Ãkife fÞk rðÄkLkku PSLV yLku GSLV çkkçkíku Mkk[kt Au ?

	 i. Syku MxuþLkhe Mkuxu÷kEx ÷kuL[ ðunef÷ ÄúwðeÞ ¼ú{ý fûkk{kt WÃkøkúnku Akuzðk {kxu ðÃkhkÞ Au.

	 ii. GSLV Lkku «Úk{ íkçk¬ku ½Lk çk¤íký Ãkh ykÄkrhík Au.

	 iii. PSLV Lkku «Úk{ yLku ºkeòu íkçk¬ku ½Lk çk¤íký Ãkh ykÄkrhík Au.

	 iv. GSLV Lkku ºkeòu íkçk¬ku, ¢kÞkusurLkf xufLkku÷kuS Ãkh ykÄkrhík Au.

	 (A) i, ii, iii yLku iv		  (B) Võík ii, iii yLku iv

	 (C) Võík iii yLku iv		  (D) Võík ii

135.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 (A) EÚkuLkku÷ ¾kã yLku y¾kã çktLku «fkhLkk çkes{ktÚke WíÃkLLk ÚkE þfu Au.

	 (B) çkkÞkurzÍ÷ yu ¾ktz WãkuøkLke ykzÃkuËkþ {ku÷kMkeMk{ktÚke fkZe þfkÞ Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª

136.	 Lke[uLkk Ãkife fÞk òuzfkt ÞkuøÞ heíku òuzðk{kt ykðu÷ Au ?

	 1. Mkkur÷z Mxux ÷uMkMko – Mkeze, zeðeze Ã÷uÞh

	 2. økuMk ÷uMkMko – ðuÕzªøk yLku ELzMxÙeÞ÷ f®xøk

	 3. Mku{e ftzõxh ÷uMkMko – çkkhfkuz MfuLkMko

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

137.	 Lke[uLkk Ãkife fÞk rðÄkLkku hzkh yLku MkkuLkkh çkkçkíku Mkk[kt Au ?

	 i. hzkh æðrLk íkthøkkuLkku WÃkÞkuøk fhu Au.

	 ii. MkkuLkkh yÕxÙkMkkWLz íkhtøkkuLkku WÃkÞkuøk fhu Au.

	 iii. çktLku íkhtøkku ÷ûÞÚke ÃkhkðŠíkík ÚkELku heMkeðh{kt Ãkhík ykðu Au yLku heMkeðh íkuLkk Ãkh «r¢Þk fhu Au.

	 (A) i, ii yLku iii	 (B) Võík i yLku ii	 (C) Võík ii yLku iii	 (D) Võík i yLku iii

138.	 Lke[uLkk Ãkife fÞk òuzfkyku yÞkuøÞ heíku òuzðk{kt ykÔÞk Au ?

	 (A) rV®þøk – yuf MkkÞçkh ¢kE{ Au, su{kt E{u÷Úke ÞqÍhLku økuh{køkuo Ëkuhe fÃkxÃkqðof ðuçkMkkEx Ãkh ÷E òÞ Au.

	 (B) xkuÍoLk nkuMko – yuf LkwfMkkLkfíkko «kuøkúk{ Au su Ëu¾kð{kt WÃkÞkuøke ÷køkíkk zkxk yÚkðk «kuøkúk{{kt Mk{krðü nkuÞ Au.

	 (C) yuzðuh – yu MÃkkÞðuhLkku yuðku «fkh Au su{kt ÞqÍh îkhk fhðk{kt ykðíkk fe-MxÙkufLke LkkUÄ hk¾u Au.

	 (D) WÃkh Ãkife yuf Ãký Lknª

139.	 Lke[uLkk Ãkife fÞk òuzfkyku yÞkuøÞ heíku òuzðk{kt ykÔÞk Au ?

	 (A) ysowLk – MðËuþe rLkŠ{ík {wÏÞ ÞwØ xUf

	 (B) VkÕfLk – hrþÞk îkhk ¼khíkLku Ãkqhe Ãkkzðk{kt ykðu÷ ¢qÍ r{MkkE÷

	 (C) MkkhMk – MðËuþ rðfrMkík Lkkøkrhf WœÞLk snks

	 (D) ykE.yuLk.yuMk. fËtçk – fkhðkh ¾kíku ykðu÷ LkkifkË¤ {Úkf
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134.	 Which of the following statement(s) is/are correct regarding PSLV and GSLV?

1. Geostationary Satellite Launch Vehicle used to launch satellites into Polar Orbit.

2. The First Stage of the GSLV  is based on Solid Fuel

3. The First and third stages of PSLV is based on Solid fuel

4. The Third stage of GSLV is based on Cryogenic Technology

(A) 1, 2, 3 and 4		 (B) 2, 3 and 4 only

(C) 3 and 4 only		 (D) 2 only

135.	 Which of the following statement(s) is/are correct?

(A) Ethanol can be produced from both edible and non-edible seeds.

(B) Biodiesel is extracted from molasses, a byproduct of Sugar industry.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

136.	 Which of the following pairs are correctly matched?

1. Solid State Lasers – CD, DVD players

2. Gas lasers – Welding and industrial Cutting

3. Semiconductor Lasers – Barcode Scanners

(A) 1, 2 and 3		  (B) 2 and 3 only

(C) 1 and 3 only		  (D) 1 and 2 only

137.	 Which of the following statements are correct regarding Radar and Sonar?

1. The Radar uses Sound Waves

2. The Sonar uses Ultrasound waves

3. �In both waves are reflected from the target back to the receiver and are processed by the
receiver

(A) 1, 2 and 3		 (B) 1 and 2 only

(C) 2 and 3 only		 (D) 1 and 3 only

138.	 Which of the following pairs is INCORRECTLY matched?

(A) Phishing – it is a cybercrime in which spoofed email directs the user to fraudulent website.

(B) �Trojan Horse – it is a malicious programme contained within apparently desired 
programme or data.

(C) Adware – These are forms of spyware which track keystrokes made by the user.

(D) None of the above

139.	 Which of the following pairs is INCORRECTLY matched?

(A) Arjun – Indigenously produced Main Battle Tank

(B) Phalcon – Cruise Missile supplied by Russia to India

(C) Saras – Indigenously developed civilian passenger aircraft

(D) INS Kadamba – Indian Naval Base at Karwar
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140.	 Lke[uLkk Ãkife fE çkkçkík Ãkkhòtçk÷e (UV) rfhýkuíMkøko ðkuxh ÃÞkuheVkÞh rMkMx{{kt ¼køk ¼sðu Au ?

	 (A) yu nkrLkfkhf Mkqû{ SðkýwykuLku rLk»¢eÞ fhe Lkkþ fhu Au.

	 (B) íku Ãkkýe{ktÚke yrLkÂåAík ËwøkOÄ Ëqh fhu Au.

(C) (A) yLku (B) çktLku

(D) (A) yLku (B) Ãkife fkuE Lknª

141.	 ykLkwðtrþf yr¼Þtrºkfe (suLkuxef yuLSrLkÞ®høk) rsLMkLku .......... íkçkËe÷ fhðk Ëu Au.

	 (A) ðLkMÃkríkykuLke y÷øk y÷øk «òríkyku ðå[u	 (B) «kýeyku{ktÚke ðLkMÃkríkyku{kt

(C) (A) yLku (B) çktLku		 (D) (A) yLku (B) Ãkife fkuE Lknª

142.	 Lke[uLke ÞkËe-1 yLku ÞkËe-2 Lku ÞkuøÞ heíku òuzku.

	 ÞkËe-1	 ÞkËe-2

a. ne{kuVe÷eÞk i. WýÃkLkku hkuøk

b. zkÞkrçkrxMk ii. ykLkwðktrþf rðfkh

c. hefuxTMk iii. nku{kuoLk rðfkh

d. ®høkð{o iv. VwøksLÞ [uÃk
(A) a - ii, b - iii, c - iv, d - i	 (B) a - ii, b - iii, c - i, d - iv
(C) a - iii, b - ii, c - i, d - iv	 (D) a - iii, b - ii, c - iv, d - i

143.	 W»ýíkk{kLkLku Lke[uLke fE Mkt¿kk{kt íkkhðeLku ÔÞõík fhe þfkÞ ?

	 (A) Ë¤ yLku ÷tçkkE (B) Ë¤ yLku Mk{Þ

	 (C) Ë¤, ÷tçkkE yLku Mk{Þ		  (D) WÃkh ÃkifeLkwt yuf Ãký Lknª

144.	 ßÞkhu Mkeze (CD)Lku MkqÞo «fkþ{kt òuðk{kt ykðu íÞkhu {u½ÄLkw»Þ «fkhLkk htøkku Ëu¾kÞ Au. yk çkkçkíkLku .......... ½xLkkLku 
ykÄkhu Mk{òðe þfkÞ.

	 (A) ÃkhkðíkoLk yLku rððíkoLk		  (B) ÃkhkðíkoLk yLku «ðknLk

	 (C) rððíkoLk yLku «ðknLk		  (D) he£ufþ™, rððíkoLk yLku «ðknLk

145.	 LÞqÂõ÷Þh heyuõxh yLku yýwçkkuBçk ðå[u íkVkðík yu Au fu –

	 (A) LÞwÂõ÷Þh heyuõxh{kt [uELk rhyuõþLk (¢eÞk ©]t¾÷k) Úkíke LkÚke ßÞkhu yýw çkkuBçk{kt ÚkkÞ Au.

	 (B) LÞwÂõ÷Þh heyuõxh{kt [uELk heyuõþLk rLkÞtrºkík nkuÞ Au.

	 (C) LÞwÂõ÷Þh heyuõxh{kt [uELk rhyuõþLk rLkÞtrºkík nkuíke LkÚke.

	 (D) WÃkh Ãkife yuf Ãký Lknª

146.	 LkuLkku xufLkku÷kuS .......... {kt WÃkÞkuøke ÚkE þfu.

	 (A) ¾khk Ãkkýe{ktÚke {eXwt çkLkkððk {kxu (B) Ëqr»kík ÃkkýeLku þwØ fhðk {kxu

	 (C) MkkIËÞo «MkkÄLkku yLku ¾kuhkfLkk Ãkufus {kxu (D) WÃkhkuõík ík{k{
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140.	 Which of the following is the role of UV radiation in the water purification systems?

	 (A) It inactivates and kills the harmful microorganisms in water.

	 (B) It removes all the undesirable odours from the water.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

141.	 Genetic Engineering allows the genes to be transferred _______ .

	 (A) Across different species of plants	 (B) From animals to plants

	 (C) Both (A) and (B)		  (D) Neither (A) nor (B)

142.	 Match the following List-I with List-II:

	 List-I	 List-II

	 a. Haemophilia	 1. Deficiency disease

	 b. Diabetes	 2. Genetic Disorder

	 c. Rickets	 3. Hormonal Disorder

	 d. Ringworm	 4. Fungal infection

	 (A) a - 2, b - 3, c - 4, d - 1	 (B) a - 2, b - 3, c - 1, d - 4

	 (C) a - 3, b - 2, c - 1, d - 4	 (D) a - 3, b - 2, c - 4, d - 1

143.	 Temperature can be expressed as derived quantity in terms of _______ of the following.

	 (A) Length and Mass		  (B) Mass and Time

	 (C) Length, Mass and Time	 (D) None of the above

144.	 When a CD is seen in Sunlight, rainbow like colours are seen, this can be explained on the 
basis of the phenomenon of _______ .

	 (A) Reflection and Diffraction

	 (B) Reflection and Transmission

	 (C) Diffraction and Transmission

	 (D) Refraction, Diffraction and Transmission

145.	 The difference between a Nuclear reactor and an Atomic bomb is that _______ .

	 (A) �No chain reaction takes place in nuclear reactor, while in the atomic bomb there is a 
chain reaction.

	 (B) The chain reaction in nuclear reactor is controlled.

	 (C) The chain reaction in nuclear reactor is not controlled.

	 (D) None of the above

146.	 Nano Technology can be useful in _______ .

	 (A) Desalination of water

	 (B) Wastewater Treatment

	 (C) Cosmetics and Food packaging

	 (D) All of the above
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147.	 íkksuíkh{kt rðfrMkík fhðk{kt ykðu÷ sur{rLk WÃkfhý su {kAe{khku {kxu ¾qçk WÃkÞkuøke Úkþu íku .......... Au.

	 (A) {eLke Mkuxu÷kEx	 (B) Ãkkuxuoçk÷ heMkeðh	 (C) {kuçkkE÷ yuÃk	 (D) xÙkLMkÃkkuLzh

148.	 Lke[uLkk Ãkife fkuhkuLkk ðkEhMk çkkçkíku fÞwt / fÞkt Mkk[wt / Mkk[kt Au ?

	 (A) fkuhkuLkk ðkÞhMk yu ðkÞhMkkuLkku Mk{qn Au su þhËeÚke ÷ELku yuõÞqx huMÃkuhkuxhe rMkLzÙku{ MkwÄeLke rçk{kheLkwt fkhý Au.

	 (B) Lkkuð÷ fkuhkuLkk ðkÞhMk (nCOV) yu Lkðku MxÙuELk Au suLke {Lkw»Þ{kt yku¤¾ ÚkE LkÚke.

(C) (A) yLku (B) çktLku

(D) (A) yLku (B) Ãkife fkuE Lknª

149.	 MkSðíktºk{kt «fkþ Mkt&÷u»ký Ëhr{ÞkLk MkuLÿeÞ ÃkËkÚkoLkku WíÃkkËLk Ëh .......... fnuðkÞ Au.

	 (A) fw÷ «kÚkr{f WíÃkkËfíkk		  (B) [kuÏ¾e «kÚkr{f WíÃkkËfíkk

	 (C) fw÷ økkiý WíÃkkËfíkk		  (D) [kuÏ¾e økkiý WíÃkkËfíkk

150.	 økkuÕzLk {þenwh Lku IUCN îkhk ÷k÷ ÞkËe{kt ¼ÞsLkf ÂMÚkríkLke «òrík økýu÷ Au. íku .......... ðøkoLkwt Au.

	 (A) Ãkûke	 (B) MkÃko	 (C) {kA÷e	 (D) rçk÷kze

151.	 National Council of Applied Economic Research («ÞkuSík yÚkoþkMºk MktþkuÄLkLke hk»xÙeÞ Ãkrh»kË)Lke 
Land Records and Service Index (s{eLk ËVíkh yLku Mkuðk Mkqr[)Lke «Úk{ ykð]r¥k yLkwMkkh s{eLk ËVíkhLkk 
zeSxkEÍuþLk{kt økwshkík hkßÞ ..........{k ¢{u ykðu÷ Au.

(A) 1st (Ãknu÷k)		 (B) 9th (Lkð{k)

(C) 19th (ykuøkýeMk{k)		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n

152.	 ¼khík MkhfkhLkk sýkÔÞk {wsçk [tÿÞkLk-3 .......... ð»ko{kt ÷kuL[ fhðk{kt ykðþu
(A) 2020		 (B) 2021
(C) 2022		 (D) 2024

153.	 hk»xÙeÞ MðkMÚÞ «krÄfhý (National Health Authority) (NHA) Lkk rð&÷u»ký {wsçk PM-JAY - Pradhan 
Mantri Jan Arogya Yojana («ÄkLk{tºke sLk ykhkuøÞ ÞkusLkk) nuX¤ ËËeoykuLku yLÞ hkßÞku{kt {kuf÷Lkkhk 
hkßÞkuLke ÞkËe{kt .......... hkßÞ xku[Lkk ¢{u hÌkwt Au.

	 (A) økwshkík (B) {æÞ«Ëuþ (C) hksMÚkkLk (D) Íkh¾tz

154.	 íkksuíkh{kt Lke[uLkk Ãkife fÞku SAARC Ëuþ yu United Nations Human Rights Council (UNHRC) (MktÞwõík 
hk»xÙ {kLkð yrÄfkh Ãkrh»kË)Lkk økwLkkyku Mkk{u ÞwØLkk Xhkð{ktÚke Ëqh ÚkE økÞku Au ?

	 (A) çkktø÷kËuþ	 (B) yV½krLkMíkkLk	 (C) ÃkkrfMíkkLk	 (D) ©e÷tfk

155.	 RBI yu “Now Casting Indian GDP growth using a Dynamic Factor Model” rLkçktÄ (ÃkuÃkh) îkhk 
¼khíkLke ð]rØLke økýíkhe fhðk {kxu 12 Mkq[fku hsq fÞko Au. Lke[uLkk Ãkife fkuLkku Mk{kðuþ íku ÞkËe{kt Úkíkku LkÚke ?

	 (A) Mknfkhe {tz¤eyku	 (B) rLkfkMk	 (C) hu÷ {k÷ ¼kzwt	 (D) çkUf rÄhký
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147.	 The recently developed device GEMINI will be most useful for fishermen, it is a _______.

(A) Mini satellite		  (B) Portable Receiver

(C) Mobile App		  (D) Transponder

148.	 Which of the following is/are correct regarding Coronavirus?

(A) �Coronavirus is a large family of viruses that cause illness ranging from common cold to 
severe acute respiratory syndrome.

(B) �A novel Coronavirus (nCOV) is a new strain that has not been previously identified in 
human.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

149.	 In an Ecosystem the rate of production of organic matter during photosynthesis is  
called _______.

(A) Gross primary productivity	 (B) Net primary productivity

(C) Gross secondary productivity	 (D) Net secondary productivity

150.	 Golden Mahseer is an endangered species on IUCN red list, it belongs to _______ .

(A) Birds	 (B) Snakes	 (C) Fishes	 (D) Cats

151.	 According to the 1st edition of Land Records and Service Index by National Council of 
Applied Economic Research, Gujarat stands in _______ rank in digitization of Land Records.

(A) 1st	 (B) 9th	 (C) 19th	 (D) None of the above

152.	 According to the Union Government of India, Chandrayan -3 will be launched in the 
year_______.

(A) 2020		 (B) 2021

(C) 2022		 (D) 2024

153.	 According to the analysis by the National Health Authority (NHA) under PM-JAY - Pradhan 
Mantri Jan Arogya Yojana scheme _______ state tops the list in sending patients to other 
states.

(A) Gujarat		 (B) Madhya Pradesh

(C) Rajasthan		 (D) Jharkhand

154.	 Which of the following SAARC countries has withdrawn from United Nations Human Rights 
Council (UNHRC)’s resolution on war crimes recently?

(A) Bangladesh	 (B) Afghanistan	 (C) Pakistan	 (D) Sri Lanka

155.	 RBI introduced 12 indicators for calculating India’s growth by paper titled “Now casting 
Indian GDP growth using a Dynamic Factor Model”, which of the following is not in the list?

(A) Cooperative Societies	 (B) Exports

(C) Rail Freight		  (D) Bank Credit
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156.	 Department for Promotion of Industry and Internal Trade (DPIIT) (Wãkuøk yLku yktíkrhf ÔÞkÃkkh 
«kuíMkknLk rð¼køk) îkhk íkksuíkh{kt Lke[uLkk Ãkife fÞk ûkuºkku{kt 100% FDI {tsqh fhðk{kt ykðe ?

	 (A) ðe{k çkúkufªøk		  (B) ðe{k ftÃkLkeyku
	 (C) (A) yLku (B) çktLku		  (D) (A) yLku (B) yuf Ãký Lknª

157.	 «kuxeLkLkk MðkMÚÞ ÷ûke VkÞËkyku «íÞu òøk]íkíkk ðÄkhðkLkk nuíkwÚke Vuçkúwykhe, 27, 2020 Lkk hkus ¼khík{kt «Úk{ «kuxeLk 
rËðMk {Lkkððk{kt ykÔÞku. «kuxeLk rËðMk 2020 Lkku {wÏÞ rð[kh (Theme) .......... níkku.

	 (A) «kuxeLk yu ík{k{ çkkçkík Au. (Protein is everything)
	 (B) «kuxeLk {u Mkçk fwA ni
	 (C) «kuxeLk {u õÞk ni
	 (D) «kuxeLk ¾kyku Mkw¾ hnku

158.	 íkksuíkh{kt fuLÿ Mkhfkhu ......... Lkk ÷k¼kÚkuo ‘Santusht’ Lkk{Lke {kuçkkE÷ App Lkku «kht¼ fÞkuo Au.
	 (A) ESI ÷k¼kÚkeoyku (ESI Beneficiaries)	 (B) rçkLk MktøkXeík {sqh
	 (C) Mkøk¼ko Mºkeyku		  (D) çkktÄfk{ {sqh

159.	 Þw.fu. (United Kingdom), MðexÍh÷uLz yLku ¼khíkLkk rLk»ýktíkkuLke xe{u Cave fish Lke rðïLke MkkiÚke {kuxe «òrík 
.......... ¾kíkuÚke þkuÄe fkZe Au.

	 (A) fåA, økwshkík (Kutch, Gujarat)
	 (B) Lke÷økeheLke xufheyku, íkkr{÷Lkkzw (Nilgiri Hills, Tamil Nadu)
	 (C) siLxeÞk xufheyku, {u½k÷Þ (Jaintia Hills, Meghalaya)
	 (D) r[Õfk Mkhkuðh, ykurhMMkk (Chilka Lake, Odisha)

160.	 «ÄkLk {tºke ©e LkhuLÿ {kuËeyu Mkki «Úk{ ðkh ¾u÷ku ELzeÞk ÞwrLkðŠMkxe økuBMk (Khelo India University Games)Lkwt 
.......... ¾kíku WËT½kxLk fÞwO.

	 (A) rºk[e – íkr{÷Lkkzw		  (B) fxf – ykurhMMkk
	 (C) nMkLk – fýkoxf		  (D) ríkYÃkrík – yktÄú«Ëuþ

161.	 2020 Lke Asian Wrestling Championship (yuþeÞLk fwMíke [uBÃkeÞLkþeÃk){kt {uz÷Lke økýíkhe{kt òÃkkLk xku[Lkk 
¢{u hÌkwt ßÞkhu ¼khík .......... {k ¢{u ykÔÞwt

	 (A) 2nd (çkeò)	 (B) 3rd (ºkeò)	 (C) 4th ([kuÚkk)	 (D) 5th (Ãkkt[{k)

162.	 ¼khík Mkhfkhu .......... MkwÄe{kt ËqÄ «r¢Þk ûk{íkk (Milk Processing Capacity) çk{ýe fhðkLkwt Lk¬e fhu÷ Au.
	 (A) 2022	 (B) 2025	 (C) 2030	 (D) 2035

163.	 rðï ¼k»kk zuxkçkuÍ (World Language Database), Ethnologue Lke 22{e ykð]r¥k yLkwMkkh, 2019{kt rnLËe 
rðïLke .......... ¢{Lke MkkiÚke ðÄw çkku÷kíke ¼k»kk Au.

	 (A) ytøkúuS ÃkAe çkeò		  (B) {uLzheLk (Mandarin) ÃkAe ºkeò
	 (C) MÃkuLkeþ ÃkAe [kuÚkk		  (D) Ãknu÷k

164.	 íkksuíkh{kt USA yLku íkkr÷çkkLku .......... Ëuþ ¾kíku íku{Lkk yV½krLkMíkkLk ¾kíku [k÷íkk ÞwØLkku ytík ÷kððkLkk nuíkwÚke 
yiríknkrMkf Mk{sqíke Ãkh nMíkkûkh fÞko.

	 (A) ESÃík	 (B) fíkkh	 (C) ÃkkrfMíkkLk	 (D) íkwfeo
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156.	 In which of the following areas 100% FDI allowed recently by Department for Promotion of 
Industry and Internal Trade (DPIIT). 

	 (A) Insurance Broking		  (B) Insurance Companies

	 (C) Both (A) and (B)		  (D) Neither (A) nor (B)

157.	 India’s 1st Protein Day was observed on February 27, 2020 to raise awareness about the 
health benefits of protein. The theme of the Protein Day 2020 was _______.

	 (A) Protein is everything	 (B) Protein mey sub kutch hai

	 (C) Protein mey kya hai		 (D) Protein Khao Sukh Raho

158.	 Union Government recently launched the Mobile App called “Santusht” for the benefit  
of _______.

	 (A) ESI Beneficiaries		  (B) Unorganized Labour

	 (C) Pregnant Women		  (D) Construction Labour

159.	 A team of experts from the UK (United Kingdom), Switzerland and India have discovered the 
world’s largest species of cave fish in _______.

	 (A) Kutch, Gujarat		  (B) Nilgiri Hills, Tamil Nadu

	 (C) Jaintia Hills, Meghalaya	 (D) Chilka Lake, Odisha

160.	 Prime Minister Narendra Modi inaugurated the first-ever  Khelo India University Games   
at _______.

	 (A) Trichy, Tamil Nadu		  (B) Cuttack, Odisha

	 (C) Hasan, Karnataka		  (D) Tirupati, Andhra Pradesh

161.	 In the 2020 Asian Wrestling Championships, Japan ranked top in medal tally, while India 
ranked at _______ position.

	 (A) 2nd		  (B) 3rd

	 (C) 4th		  (D) 5th

162.	 Government of India decided to double the milk processing capacity by _______.

	 (A) 2022		  (B) 2025

	 (C) 2030		  (D) 2035

163.	 According to the 22nd edition of World language database, Ethnologue, Hindi is world’s 
_______ most spoken language in 2019.

	 (A) 2nd after English		  (B) 3rd after Mandarin

	 (C) 4th after Spanish		  (D) 1st

164.	 Recently USA and Taliban signed a historic agreement aimed at ending war in Afghanistan 
in _______.

	 (A) Egypt		  (B) Qatar

	 (C) Pakistan		  (D) Turkey
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165.	 WÃk¼kuõíkk Mkthûký yrÄrLkÞ{ 2019 rðþu Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?
	 1. yk yrÄrLkÞ{ nuX¤ fuLÿeÞ WÃk¼kuõíkk Mkthûký Mk¥kkrÄfkhLke MÚkkÃkLkk Úkþu.
	 2. yk yrÄrLkÞ{ yu økuh{køko Ëkuhíke ònuhkíkkuLku yxfkððk {kxu ¾kMk æÞkLk ykÃkþu.
	 3. �yk yrÄrLkÞ{ ytíkøkoík WÃk¼kufíkk Mkthûký Mk¥kkrÄfkh yu ¾kuxe ònuhkík ykÃkLkkhk ònuhkíkfkh, WíÃkkËf, ÔÞkÃkkhe 

yÚkðk Mk{ÚkoLk ykÃkLkkh Ãkh Yk. 10 ÷k¾ MkwÄeLkku Ëtz ÷økkðe þfkþu.
	 (A) 1, 2 yLku 3	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 2	 (D) {kºk 1 yLku 3

166.	 íkksuíkh{kt Lkkýk {tºke rLk{o÷k Mkeíkkhk{Lk îkhk EASE 3.0 Lkku «kht¼ fhðk{kt ykÔÞku Au. yk ÞkusLkk .......... MkkÚku 
Mkt÷øLk Au.

	 (A) çkUfªøk		  (B) Mxkuf {kfuox
	 (C) fhËkíkkyku		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n

167.	 Surrogacy Regulation Bill 2019{kt fuLÿeÞ fuçkeLkuxu Lke[uLkk Ãkife fÞk MkwÄkhk {tsqh fÞko ?
	 1. ðtæÞíð þçËLke ÔÞkÏÞk hË fhe.
	 2. �{kºk LkSfLkk Mkøkk s Lk®n Ãkhtíkw “fkuE Ãký Mºke” fu su Surrogate {kíkk çkLkðk íkiÞkh nkuÞ íku {tsqh hk¾ðk{kt 

ykðþu.
	 3. Surrogacy (Regulation) Bill yu ÷kufMk¼k{kt 2019{kt Ãkkrhík ÚkÞwt
	 (A) {kºk 2 yLku 3	 (B) {kºk 1 yLku 2	 (C) {kºk 1 yLku 3	 (D) 1, 2 yLku 3

168.	 Indra Dhanush Exercise 2020, yu rnLzkuLk yuhVkuMko MxuþLk ¾kíku ÞkuòÞu÷e ¼khík yLku .......... Ëuþ ðå[uLke 
MktÞwõík yuhVkuMko fðkÞík (exercise) Au.

	 (A) USA	 (B) UK	 (C) hrþÞk	 (D) £ktMk

169.	 ¼khík{kt íkez stíkwLkk yk¢{ý çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk /fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?
	 (A) Ãk]Úðe Ãkh íkezLke {n¥ðLke 10 «òríkyku Au fu su {kuxk ÃkkÞu LkwfMkkLk fhu Au.
	 (B) ¼khík{kt {kºk 4 òuðk {¤u Au íku hý íkez, çkkuBçku íkez, MÚk¤ktíkheík íkez yLku ð]ûk íkez.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) yuf Ãký Lk®n

170.	 ¼khíkeÞ ytíkheûk MktþkuÄLk MktMÚkk (Indian Space Research Organization) (ISRO) yu ¼khíkeÞ WÃk¾tzLkwt 
Mkíkík Lkeheûký ÚkE þfu íku {kxu .......... WÃkøkún «ûkuÃký fhþu.

	 (A) GISAT - 1		  (B) RISAT - 10
	 (C) ISATC - 10		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n

171.	 ICMR îkhk ËuþLkk LkkøkrhfkuLke ¾kuhkf rðþuLke xuðku ytøkuLkk ynuðk÷ «fkrþík fhðk çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku 
Mkk[kt Au ?

	 1. yk yÇÞkMk yLkwMkkh [hçkeLkku ðÃkhkþ þkfknkheyku yu {ktMkknkheyku fhíkkt ðÄw fhu Au.
	 2. ¼khíkLkk {nkLkøkhku{kt ðÄeoík [hçke (Added fat) Lkk ðÃkhkþ{kt rËÕne yLku y{ËkðkË ÞkËe{kt yøkúíkk ¢{u Au.
	 3. �ynuðk÷{kt yu{ Ãký sýkðkÞwt Au fu ðÄeoík [hçke (Added fat) yu 13 Úke 30 ð»koLke ðÞsqÚkLkk ÷kufku MkkiÚke ðÄw 

{kºkk{kt ÷u Au.
	 (A) 1, 2 yLku 3	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 2	 (D) {kºk 1 yLku 3

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight



M

[PSP] 45

165.	 Which of the following statements are correct regarding Consumer Protection Act 2019?

	 1. Central Consumer Protection Authority will be established under this Act.

	 2. The Act gives special focus to stop misleading advertisements.

	 3. �Under this Act the Consumer Protection Authority may impose penalty upto Rs. 10 lakhs 
on the advertiser, manufacturer, trader or even endorser for misleading advertisements.

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1 and 3 only

166.	 EASE 3.0 was launched by the Finance Minister Nirmala Sitharaman recently, this scheme is 
related to _______.

	 (A) Banking	 (B) Stock markets	 (C) Tax payers	 (D) None of the above

167.	 Which of the following changes were approved by the Union Cabinet in Surrogacy Regulation 
Bill 2019?

	 1. Deleted the definition of the Word “infertility”.

	 2. �Not only close relatives but “any woman” willing to act as a surrogate mother shall be 
allowed.

	 3. The Surrogacy (Regulation) Bill was passed in Lok Sabha in 2019.

	 (A) 2 and 3 only	 (B) 1 and 2 only	 (C) 1 and 3 only	 (D) 1, 2 and 3

168.	 Indra Dhanush Exercise 2020 is India and _______ joint air force exercise held at air force 
station Hindon.

	 (A) USA	 (B) UK	 (C) Russia	 (D) France

169.	 Which of the following statement(s) is/are correct regarding Locust Pest attack in India?

	 (A) There are 10 important locust species on the earth that cause major damages.

	 (B) �Only 4 are found in India. They are Desert Locust, Bombay Locust, Migratory Locust and 
Tree Locust.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

170.	 The Indian Space Research Organization (ISRO) is to launch _______ satellite in order to 
watch Indian sub-continent continuously.

	 (A) GISAT-1	 (B) RISAT-10	 (C) ISATC-10	 (D) None of the above

171.	 Which of the following statements are correct regarding the report on food habits of the 
citizens of the country released by ICMR?

	 1. According to the Study, vegetarians consume more fat than that of non-vegetarians.

	 2. �Among the metropolitan cities of India, Delhi and Ahmedabad topped the list in average 
consumption of added fat.

	 3. �The report also said that highest intake of added fat was in the age group of 13 to  
30 years.

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1 and 3 only
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172.	 íkksuíkh{kt ¼khíkeÞ fuçkeLkux yu Air Transport Mkuðkyku{kt .......... FDIs Lke ÃkhðkLkøkeLku {tsqhe ykÃke Au.
	 (A) 49%		  (B) 51%

	 (C) 66.6%		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n

173.	 Banking Regulation (Amendment) Bill 2020, (çkUfªøk rLkÞ{ku (MkwÄkhýk) rðÄuÞf, 2020) çkkçkíku Lke[uLkk 
Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. yk rðÄuÞf yu 1540 Mknfkhe çkUfkuLku rLkÞr{ík fhðk {kxu Au.
	 2. yk MkwÄkhýkÚke RBI ÃkkMku rLkÞtºkýLkk fkÞkuo WÃkhktíkLke ðÄkhkLke Mk¥kk ykðþu.
	 3. nk÷{kt Mknfkhe çkUfkuyu Mknfkhe {tz¤eykuLkk hSMxÙkh yLku RBI Lkk rLkÞtºký nuX¤ Au.
	 (A) 1, 2 yLku 3		  (B) {kºk 2 yLku 3
	 (C) {kºk 1 yLku 2		  (D) {kºk 1 yLku 3

174.	 Lke[uLkk Ãkife fÞk çku MÚk¤ku yu íkksuíkh{kt rðï nuhexus MÚk¤kuLke ÞkËe{kt fuLÿ Mkhfkh îkhk Lkk{ktrfík fhðk{kt ykÔÞk Au ?
	 (A) Äku÷kðehk, ËÏ¾ý MkÕíkLkíkLkk M{khfku yLku rfÕ÷kyku
	 (B) Äku÷kðehk yLku ¼wðkLkøkehe
	 (C) ¼wðkLkøkehe íkÚkk xeÃkw Mkw÷íkkLkLkk M{khfku yLku rfÕ÷kyku
	 (D) xeÃkw Mkw÷íkkLkLkk M{khfku yLku fwYÃÃk{

175.	 ¼khík Mkhfkhu hk»xÙeÞ [tçk÷ y¼ÞkhÛÞLku ÃkÞkoðhýeÞ MktðuËLkþe÷ ûkuºk (Eco-sensitive zone) íkhefu ½kur»kík fÞkuo 
Au. yk y¼ÞkhÛÞ yu .......... Lkwt rLkðkMk MÚkkLk Au.

	 1. Gangetic Dolphins 		  2. Gharials 
	 3. Olive Ridleys 		  4. Long tailed monkeys

	 (A) 1, 2, 3 yLku 4		  (B) {kºk 2 yLku 4
	 (C) {kºk 1 yLku 2		  (D) {kºk 3 yLku 4

176.	 ¼khík ÃkkMkuÚke Mðkrík hzkhLke ¾heËe {kxu Lke[uLkk Ãkife fÞk Ëuþu fhkh Ãkh nMíkkûkh fÞko Au ?
	 (A) Þw¢uLk		  (B) fkUøkku
	 (C) fÍkfeMíkkLk		  (D) yk{uoLkeÞk

177.	 ykŠÚkf Mkðuoûký 2020 yLkwMkkh, ¼khík{kt ðLk yLku ð]ûkkuLkwt ykðhý ËuþLkk fw÷ ¼kiøkkur÷f ûkuºkLkk ......... ÃknkUåÞwt Au.
	 (A) 24.56%		  (B) 14.84%

	 (C) 31%		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n

178.	 Transparency International Lkk íkksuíkhLkk Mkðuoûký yLkwMkkh çksuxLke h[Lkk{kt ¼khíkLkwt .......... hkßÞ xku[Lkk 
¢{u ykðu÷ Au.

	 (A) økwshkík	 (B) ykMkk{	 (C) rËÕne	 (D) økkuðk

179.	 Wå[ík{ LÞkÞk÷Þu ¼khík MkhfkhLku ykr£fkLkk Ëuþku{ktÚke .......... «kýe ¼khík{kt ÷kððk {kxuLke {tsqhe ykÃke.
	 (A) ShkV		  (B) ykr£fLk ®Mkn
	 (C) ykr£fLk r[¥kk		  (D) WÃkhLkk Ãkife yuf Ãký Lk®n
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172.	 Recently Indian Cabinet approved and allowed _______ FDIs in Air Transport Services.

	 (A) 49%		  (B) 51%

	 (C) 66.6%		  (D) None of the above

173.	 Which of the following statements are correct regarding Banking Regulation (Amendment) 
Bill 2020?

	 1. The Bill intends to regulate 1,540 cooperative banks.

	 2. With the amendment, RBI will have extra powers apart from regulatory functions.

	 3. �The Cooperative Banks are currently under the control of Registrar of Cooperative  
Societies & RBI.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 1 and 3 only

174.	 Which of the following two sites nominated by the union government to the world heritage 
Site List recently?

	 (A) Dholavira, Monuments and forts of Deccan sultanate

	 (B) Dholavira and Bhuvangiri

	 (C) Bhuvangiri and Monuments and forts of Tippu Sultan

	 (D) Monuments of Tippu Sultan and Kuruppam

175.	 Government of India declared National Chambal Sanctuary as Eco-Sensitive Zone. The 
Sanctuary is home to _______.

	 1. Gangetic Dolphins 		  2. Gharials

	 3. Olive Ridleys 		  4. Long tailed monkeys

	 (A) 1, 2, 3 and 4		  (B) 2 and 4 only

	 (C) 1 and 2 only		  (D) 3 and 4 only

176.	 Which of the following countries signed an agreement to purchase Swati Radar from India?

	 (A) Ukraine		  (B) Congo

	 (C) Kazakhstan		  (D) Armenia

177.	 According to the Economic Survey 2020, the forest and tree cover in India reached _______ 
of total geographical area of the country.

	 (A) 24.56%		  (B) 14.84%

	 (C) 31%		  (D) None of the above

178.	 According to the recent survey of Transparency International _______ state of India topped 
in Budget Formulation.

	 (A) Gujarat	 (B) Assam	 (C) Delhi	 (D) Goa

179.	 Supreme Court permitted the Indian Government to introduce ______ animal in India from 
the African countries.

	 (A) Giraffe		  (B) African Lion

	 (C) African Cheetah		  (D) None of the above
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180.	 fuLÿ MkhfkhLkk {íku ð»ko ......... MkwÄe{kt ¼khíkeÞ huÕðuLkwt 100% ðes¤efhý ÚkE økÞwt nþu.
	 (A) 2022		  (B) 2024
	 (C) 2025		  (D) 2026

181.	 íkksuíkh{kt ¼khík Mkhfkhu National Democratic Front of Bodoland (NDFB) Lkk Lkð sqÚk MkkÚku fhkh Ãkh 
nMíkkûkh fÞko Au. yk çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. íkuu ûkuºk{kt fk{fks fhðk {kxu çknkhLke ÔÞÂõíkykuyu ‘{tsqhe’ ÷uðe Ãkzþu.

	 2. yk fhkh yu ykMkk{{kt hnuíkk Bodo ykrËðkMkeykuLku hksfeÞ nfku Ãkqhk Ãkkzþu.

	 3. nMíkkûkh ÚkÞu÷e yk Mk{sqíke yu AuÕ÷k 27 ð»ko{kt nMíkkûkh ÚkÞk nkuðk íkuðk ºkeò fhkh Au.

	 (A) 1, 2 yLku 3		  (B) {kºk 2 yLku 3

	 (C) {kºk 1 yLku 3		  (D) {kºk 1 yLku 2

182.	 ¾Lkes fkÞËk (MkwÄkhýk) rðÄuÞf, 2020 çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. yk rðÄuÞf îkhk fku÷Mkk ûkuºk MktÃkqýo Ãkýu ðkrýÂßÞf ¾ký fk{ fhðk {kxu ¾wÕ÷w {wfkÞwt.

	 2. íku fku÷Mkk ¾kýLke nhkS{kt ytrík{ ðÃkhkþLkk rLkÞtºkýkuLku Ëqh fhðkLkku EhkËku Ähkðu Au.

	 3. nk÷{kt ¼khíkeÞ ûkuºk{kt 100%FDI {tsqh fhðk{kt ykðu Au.

	 (A) {kºk 2 yLku 3		  (B) {kºk 1 yLku 2

	 (C) {kºk 1 yLku 3		  (D) 1, 2 yLku 3

183.	 ¼khíkLkwt .......... þnuh yu 2021 {kt Science and Technology for Sustainable Development with Women 
Empowerment Lkk æÞuÞ MkkÚku 108{e ELzeÞLk MkkÞLMk fkUøkúuMkLkk Þs{kLk çkLkðkLkwt Au.

	 (A) økktÄeLkøkh		  (B) ÃkqLkk

	 (C) ¼kuÃkk÷		  (D) sÞÃkwh

184.	 rðïLkk nkufe xe{Lkk hUfªøk{kt ¼khíkeÞ nkufe xe{u Mkki«Úk{ ð¾ík .......... MÚkkLk «kÃík fÞwO.

	 (A) çkesw		  (B) ºkeswt

	 (C) [kuÚkwt		  (D) Ãkkt[{wt

185.	 rðÏÞkík Nagoba Jatara WíMkð yu íkksuíkh{kt .......... hkßÞ{kt Wsððk{kt ykÔÞku.

	 (A) íku÷tøkkýk		  (B) yktÄú «Ëuþ

	 (C) r{Íkuh{		  (D) ykMkk{

186.	 òu Ãk]Úðe y[kLkf ½q{íke çktÄ ÚkE òÞ íkku þwt ÚkkÞ ?

	 1. ðkíkkðhý íkíûký MktÃkqýoÃkýu MÚkrøkík ÚkE òÞ.

	 2. Ãk]ÚðeLkk {Úkk¤u hnu÷k ÃkËkÚkkuo yíÞtík ðuøkÚke Ëqh VUfkE òÞ.

	 3. Ãk]ÚðeLkk Ëhuf MÚk¤ {kxu yk¾k ð»ko Ãkqhíkku fkÞ{e hkrºk fu rËðMkLkku [ku¬Mk Mk{Þ çkLke òÞ.

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 2		  (D) WÃkh Ãkife fkuE Lk®n
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180.	 According to the Union Government, Indian Railways will run 100% on electricity by the  
year _______.

	 (A) 2022		  (B) 2024

	 (C) 2025		  (D) 2026

181.	 Which of the following statements are correct regarding the Government of India signed 
agreement with the nine factions of the National Democratic Front of Bodoland (NDFB) 
recently?

	 1. The outsiders will have to obtain “permit” to work in the territory.

	 2. The agreement will provide political rights to the Bodo Tribals living in Assam.

	 3. The accord is the third agreement signed in the last 27 years.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

182.	 Which of the following statements are correct regarding Mineral Laws (Amendment) Bill, 
2020?

	 1. The Bill opens up the coal sector completely for commercial mining.

	 2. It also intends to remove end use restrictions to participate in coal mine auctions.

	 3. At present 100% FDIs are allowed in Indian coal sector.

	 (A) 2 and 3 only		  (B) 1 and 2 only

	 (C) 1 and 3 only		  (D) 1, 2 and 3

183.	 _______ city of India is going to host 108th Indian Science Congress with the theme “Science 
and Technology for Sustainable Development with Women Empowerment” in 2021.

	 (A) Gandhinagar		  (B) Pune

	 (C) Bhopal		  (D) Jaipur

184.	 Indian hockey team ranked _______ position for the first time in the rankings of world 
hockey teams.

	 (A) 2nd		  (B) 3rd

	 (C) 4th		  (D) 5th

185.	  The famous Nagoba Jatara festival was celebrated recently in the state of _______.

	 (A) Telangana		  (B) Andhra Pradesh

	 (C) Mizoram		  (D) Assam

186.	 What would happen if the Earth stopped spinning immediately?

	 1. The atmosphere would come to a complete standstill instantly

	 2. Objects on the top of the Earth would be thrown away with great speed

	 3. Every spot in the Earth would have permanent daytime or Night time all year long.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 2 only		  (D) None of the above
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187.	 ¼khíkyu 82 rzøkúe yLku 30 r{rLkxLku «{ký hu¾ktþ (MxkLzzo {urhrzÞLk) íkhefu ÃkMktË fÞkuo Au fkhý fu ..............
	 (A) íku 7 rzøkúe yLku 30 r{rLkxLkk økwýktf{kt Au.
	 (B) íku ¼khíkLkk hkßÞûkuºkLkk {æÞ{ktÚke ÃkMkkh ÚkkÞ Au. íkuÚke yLÞ LkSfLkk «ËuþkuLkku [ku¬Mk Mk{Þ Ëþkoðu Au.
	 (C) (A) yLku (B) çktLku
	 (D) (A) yLku (B) Ãkife fkuE Lknª

188.	 ¼khíkeÞ Ã÷ux .......... MkwÄe rðMíkkrhík Au.
	 (A) BÞkt{khLkk h¾kELk Ãkðoík		 (B) ÃkkrfMíkkLkLkk rfhíkkh Ãkðoík
	 (C) (A) yLku (B) çktLku		  (D) (A) yLku (B) Ãkife fkuE Lknª

189.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku ¾zfku {kxu Mkk[wt / Mkk[kt Au ?
	 1. yÂøLkf]ík ¾zfkuLku «kÚkr{f ¾zfku Ãký fnuðkÞ Au.
	 2. yÂøLkf]ík yLku s¤f]ík ¾zfku yíÞtík økh{e yLku ËçkkýLku fkhýu rðf]ík ¾zfku{kt ÃkrhðíkoLk Ãkk{u Au.
	 3. huíkk¤ ¾zfku yu rðf]ík ¾zf Au.
	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 2	 (D) Võík 3

190.	 Mkk{kLÞík: ðhMkkË ðÄu òu ykÃkýu .......... íkhV sEyu.
	 (A) Lke[kýÚke ô[kE		  (B) Mk{wÿ rðMíkkhÚke yktíkrhf rðMíkkh
	 (C) ÄúwðÚke rð»kwð]¥k		  (D) WÃkh ÃkifeLkwt fkuE Ãký Lk®n.

191.	 sið ðirðæÞ .......... {kt Mkðkuoå[ nkuðkLke þõÞíkk Au.
	 (A) ÃkkLk¾h støk÷ku		  (B) Ãknkze ½krMkÞk {uËkLkku
	 (C) þtfwÿ{ støk÷ku		  (D) rð»kwð]¥keÞ çkkh{kMke ÷e÷k støk÷ku

192.	 ®MkÄw øktøkk {uËkLkkuLke {kuxk¼køkLke LkËeyku .......... çkLku÷e Au.
	 (A) hurzÞ÷ zÙuLkus rMkMx{		  (B) zuÂLzxÙef zÙuLkus rMkMx{
	 (C) xÙur÷Mk zÙuLkus rMkMx{		  (D) MkwÃkh EBÃkkuÍTz zÙuLkus rMkMx{

193.	 Lke[uLkk Ãkife fE LkËe rh^x ðu÷e (Vkx ¾eý){ktÚke ðnuíke LkÚke ?
	 (A) {nk LkËe	 (B) Lk{oËk	 (C) íkkÃke	 (D) Ëk{kuËh

194.	 Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?
	 1. {kºk Lk{oËk yLku íkkÃke yu ÷ktçke LkËeyku Au su Ãkrù{{kt ðnu Au yLku LkËe{w¾ çkLkkðu Au.
	 2. Ãkrù{ ½kx yu ¼khíkeÞ rîÃkfÕÃkLkku {wÏÞ s¤rð¼ksf Au.
	 3. Lk{oËk yu VkuÕxLku fkhýu rLk{koý ÚkÞu÷ Vkx¾eý{ktÚke ðnu Au.
	 (A) Võík 1 yLku 3	 (B) Võík 1 yLku 2	 (C) Võík 2 yLku 3	 (D) 1, 2 yLku 3

195.	 Lke[uLkk Ãkife fÞk þnuhku{kt LkiÉíðLkwt [ku{kMkwt ykðu Au ?
	 (A) LkkøkÃkwh		  (B) y{ËkðkË
	 (C) ¼wðLkuïh		  (D) WÃkhLkk Ãkife yuf Ãký Lknª
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187.	 India has selected 82 degrees and 30 minutes as its standard Meridian, because ________.

	 (A) It is a multiple of 7 degrees and 30 minutes.

	 (B) �It falls in the center of Indian Territory thus representing the time of other regions  
nearly well.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

188.	 The Indian plate extends to ____________.

	 (A) Rakhine Mountains of Myanmar	 (B) Kirthar Mountain of Pakistan

	 (C) Both (A) and (B)		  (D) Neither (A) nor (B)

189.	 Which of the following statement(s) is/are correct regarding rocks?

	 1. Igneous rocks are also called as primary rocks

	 2. �Igneous and Sedimentary rocks can change into metamorphic rocks under great heat and 
pressure

	 3. Sandstone is a metamorphic rock

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 2 only		  (D) 3 only

190.	 Rainfall generally increases as we proceed from ___________.

	 (A) Lower to Higher altitude	 (B) Coastal areas to Interior areas

	 (C) Poles to Equator		  (D) None of the above

191.	 Biodiversity is likely to be highest in ________________.

	 (A) Deciduous forests		  (B) Land of alpine meadows

	 (C) Boreal forests		  (D) Evergreen Equatorial Forests 

192.	  Most of the rivers of the Indo-Gangetic plains are of _____________.

	 (A) Radial Drainage System	 (B) Dendritic Drainage System

	 (C) Trellis Drainage System	 (D) Superimposed Drainage System

193.	 Which of the following rivers does not flow through a rift valley?

	 (A) Mahanadi	 (B) Narmada	 (C) Tapti	 (D) Damodar

194.	 Which of the following statements are correct?

	 1. The Narmada and Tapi are the only long rivers which flow west and make estuaries

	 2. Western Ghats is the main water divide in Peninsular India

	 3. Narmada flows through a rift valley formed due to faulting

	 (A) 1 and 3 only	 (B) 1 and 2 only	 (C) 2 and 3 only	 (D) 1, 2 and 3

195.	 Which among the following cities of India receive the South West Monsoon?

	 (A) Nagpur		  (B) Ahmedabad

	 (C) Bhubaneshwar		  (D) None of the above
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196.	 Lke[uLkk Ãkife fÞk rðÄkLkku ¼khíkLke ¼qøkku¤Lkk MktË¼o{kt Mkk[kt Au ?

	 1. ¼khíkLkku yûkktþeÞ yLku hu¾ktþeÞ ÔÞkÃk ytËksu 30° Au.

	 2. ¼khíkLkk hkßÞ ûkuºkLke Mke{kt Mk{wÿ íkhV 35 Lkkurxõ÷ {kE÷ ðÄw rðMíkkrhík ÚkkÞ Au.

	 3. W¥khLkk ytrík{Úke ËrûkýLkk ytrík{ MkwÄeLkwt ¾Yt ytíkh ykþhu 3214 rf{e ÚkkÞ Au.

	 (A) Võík 1 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 2	 (D) 1, 2 yLku 3

197.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku yktíkhhk»xÙeÞ Mke{k çkkçkíku Mkk[wt / Mkk[kt Au ?

	 1. MktÞwõík sB{w yLku fkÂ~{h hkßÞLku MkkiÚke ÷ktçke yktíkhhk»xÙeÞ Mke{k ÃkkrfMíkkLk, POK íkÚkk [eLk MkkÚku Au.

	 2. yYýk[÷ «ËuþLku MkkiÚke ÷ktçke yktíkhhk»xÙeÞ Mke{k ¼qxkLk, [eLk yLku BÞkt{kh MkkÚku Au.

	 3. Ãkrù{ çktøkk¤Lku ºkeò LktçkhLke MkkiÚke ÷ktçke yktíkhhk»xÙeÞ Mke{k çkktø÷kËuþ yLku BÞkt{kh MkkÚku Au.

	 4. hksMÚkkLk ÃkAe økwshkík yu Ãkkt[{e MkkiÚke ÷ktçke yktíkhhk»xÙeÞ Mke{k Ähkðu Au.

	 (A) Võík 1, 2 yLku 4	 (B) Võík 1, 2 yLku 3	 (C) Võík 1	 (D) Võík 4

198.	 Lke[uLkk Ãkife fÞk òuzfkyku ÞkuøÞ heíku òuzðk{kt ykÔÞk Au ?

	 Ãkðoíkku	 rþ¾hku

	 1. yhðÕ÷e røkhe{k¤k	 økwY rþ¾h

	 2. MkkíkÃkqzk røkhe{k¤k	 ÄqÃkøkZ

	 3. Ãkqðo ½kx	 f¤þwçkkE

	 4. {if÷ røkhe{k¤k	 y{h ftxf Ãkðoík

	 (A) 1, 2, 3 yLku 4	 (B) Võík 2, 3 yLku 4	 (C) Võík 1, 2 yLku 4	 (D) Võík 1, 2 yLku 3

199.	 Lke[uLkk Ãkife fÞk rðÄkLkku Ãkrù{e rfLkkhkLkk {uËkLkku {kxu Mkk[kt Au ?

	 1. yk {uËkLkku fåALkk hýÚke fLÞkfw{khe MkwÄe rðMíkhu÷k Au.

	 2. íku ºký Ãkuxk ¼køk{kt rð¼krsík ÚkkÞ Au. fkrXÞkðkz rfLkkhkLkk, fkUfý rfLkkhkLkk íkÚkk {÷çkkh fktXkLkk

	 3. fkrXÞkðkz rfLkkhku fåALkk hýÚke Ërûký{kt Ëeð MkwÄe rðMíkhu÷ Au.

	 (A) 1, 2 yLku 3	 (B) Võík 1 yLku 2	 (C) Võík 1 yLku 3	 (D) Võík 2 yLku 3

200.	 Lke[uLkk Ãkife fÞk «Þkøkku ÞkuøÞ heíku òuzðk{kt ykÔÞk Au ?

	 1. rð»ýw«Þkøk – Äki¤eøktøkk yLku y÷fLktËk	 2. LktË«Þkøk – LktËkrfLke yLku y÷fLktËk

	 3. Yÿ«Þkøk – {tËkrfLke yLku y÷fLktËk	 4. Ëuð«Þkøk – ¼køkehÚke yLku y÷fLktËk

	 (A) 1, 2, 3 yLku 4	 (B) Võík 2, 3 yLku 4	 (C) Võík 1, 2 yLku 4	 (D) Võík 3

201.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku økwshkíkLkk støk÷ku {kxu ¾kuxwt / ¾kuxkt Au ?

	 1. fw÷ ¼kiøkkur÷f rðMíkkhLkk 19.67% rðMíkkhLku støk÷ rðMíkkh íkhefu ònuh fhðk{kt ykÔÞku Au.

	 2. økwshkík ¼khíkLkk 13% ðkLkMÃkríkf ðirðÄkLkwt «ríkrLkrÄíð fhu Au.

	 3. «kýe Sð ðirðÄk{kt ËuþLkk 14% {íMÞ yLku 18% MkheMk]ÃkLkku Mk{kðuþ ÚkkÞ Au.

	 (A) 1, 2 yLku 3	 (B) Võík 1	 (C) Võík 2 yLku 3	 (D) Võík 2
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196.	 Which of the following statements are correct regarding Indian geography?
1. The Latitudinal and Longitudinal extent of India is roughly about 30°.
2. India’s territorial limit further extends towards the sea upto 35 nautical miles
3. �The Actual distance measured from the north to the south extremity is 3214 km

approximately.
(A) 1 and 3 only	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1, 2 and 3

197.	 Which of the following statement(s) is/are correct regarding states with International borders?
1. �United Jammu and Kashmir have longest international border with Pakistan, POK and

China
2. �Arunachal Pradesh is the state which has second longest international border with Bhutan, 

China and Myanmar
3. �West Bengal is the state which has third longest international border with Bangladesh and

Myanmar.
4. After Rajasthan, Gujarat is the state which has fifth longest international border.
(A) 1, 2 and 4 only	 (B) 1, 2 and 3 only	 (C) 1 only	 (D) 4 only

198.	 Which of the following pairs are correctly matched?

Mountain Range	 Highest Peak

1. Aravalli Range – Gurushikhar

2. Satpura range – Dhupgarh

3. Eastern Ghats – Kalsubai

4. Maikal Range – Mt. Amarkantak

(A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 1, 2 and 4 only	 (D) 1, 2 and 3 only

199.	 Which of the following statements are correct regarding West Coastal Plains?
1. These plains runs from Rann of Kutch to Kanyakumari.
2. Divided into three sub categories i.e Kathiawar Coast, Konkan Coast and Malabar Coast.
3. Kathiawar coast extends from Rann of Kutch to Diu in the south.
(A) 1, 2 and 3	 (B) 1 and 2 only	 (C) 1 and 3 only	 (D) 2 and 3 only

200.	 Which of the following Prayags are correctly matched?
1. Vishnuprayag – Dhauliganga and Alaknanda
2. Nandprayag – Nandakini and Alaknanda
3. Rudraprayag – Mandakini and Alaknanda
4. Devprayag – Bhagirathi and Alaknanda
(A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 1, 2 and 4 only	 (D) 3 only

201.	 Which of the following statement(s) is/are INCORRECT regarding forests of Gujarat?

1. Out of total geographical area, 19.67% of area is declared forest area.

2. Gujarat represents nearly 13% of the floristic diversity of the country

3. The faunal biodiversity consists of 14% fishes, 18% reptiles, of the country

(A) 1, 2 and 3	 (B) 1 only	 (C) 2 and 3 only	 (D) 2 only
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202.	 Lke[uLkk Ãkife fÞk rðÄkLkku økwshkíkLkk ½wz¾h {kxu Mkk[kt Au ?

	 1. ¼khíkeÞ ½wz¾h yu fåALkk LkkLkk hýLke {wÏÞ «òrík Au.

	 2. IUCN îkhk ¼khíkeÞ ½wz¾hLku òu¾{{kt {qfkÞu÷e «òrík økýkðu Au.

	 3. 2014 ½wz¾h økýíkheLkk ytËkòu {wsçk fåA rsÕ÷k{kt ½wz¾hLke MkkiÚke ðÄw ðMíke Au.

	 (A) 1, 2 yLku 3	 (B) Võík 1 yLku 2	 (C) Võík 2 yLku 3	 (D) Võík 1 yLku 3

203.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku økwshkíkLkk ËrhÞk rfLkkhk {kxu Mkk[wt / Mkk[kt Au ?

	 (A) ð÷Mkkz, LkðMkkhe, ¼Y[ yLku Mkwhík SÕ÷kLke Ãkrù{e MkhnË yhçke Mk{wÿ Au.

	 (B) ¼kðLkøkh, y{hu÷e, sqLkkøkZ yLku ÃkkuhçktËh rsÕ÷kykuLke ÃkqðeoÞ MkhnË yhçke Mk{wÿ Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª

204.	 Lke[uLkk Ãkife fÞk rðÄkLkku økwshkík MkhfkhLke MkkiLke (SAUNI) ÞkusLkk {kxu Mkk[kt Au ?

	 1. ®÷f (Mkktf¤) 1 – {kuhçke SÕ÷kÚke ò{Lkøkh rsÕ÷ku

	 2. ®÷f - 2 – MkwhuLÿLkøkh rsÕ÷kÚke y{hu÷e rsÕ÷ku

	 3. ®÷f - 3 – MkwhuLÿLkøkh rsÕ÷kÚke hksfkux rsÕ÷ku

	 4. ®÷f - 4 – {nuMkkýk rsÕ÷kÚke sqLkkøkZ rsÕ÷k

	 (A) 1, 2, 3 yLku 4	 (B) Võík 2, 3 yLku 4	 (C) Võík 1, 2 yLku 3	 (D) Võík 1 yLku 3

205.	 Lke[uLkk Ãkife fÞk rðÄkLkku økwshkíkLkk ykrËðkMkeyku {kxu Mkk[kt Au ?

	 1. økwshkíkLke ykrËðkMke ðMíke hkßÞLkk 48 íkk÷wfkyku{kt MktfUrÿík Au.

	 2. íkuyku hkßÞLkk 18% ¼kiøkkur÷f rðMíkkh{kt MktfUrÿík Au.

	 3. ykrËðkMke MºkeykuLkku Mkkûkhíkk Ëh 53.2% Au.

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) Võík 1 yLku 2

206.	 Lke[uLkk Ãkife fÞk rðÄkLkku økwshkíkLkk ¾Lkes çkkçkíku Mkk[kt Au ?

	 1. økwshkíkyu ¼khíkLkwt çkeò LktçkhLkwt MkkiÚke {kuxwt r÷øLkkEx WíÃkkËLk fhíkwt hkßÞ Au.

	 2. Ëuð¼qr{ îkhfk yLku fåA rsÕ÷k{kt çkkuõMkkExLke ¾kýku {¤e ykðe Au.

	 3. ^÷kuhMÃkkh ¾Lkes AkuxkWËuÃkwh rsÕ÷k{kt {¤e ykðu Au.

	 (A) Võík 1 yLku 2	 (B) Võík 2 yLku 3	 (C) Võík 1 yLku 3	 (D) 1, 2 yLku 3

207.	 Lke[uLkk Ãkife fÞwt / fÞk òuzfkyku yÞkuøÞ heíku òuzðk{kt ykÔÞk Au ?

	 1. hk{Ãkhk yÇÞkhÛÞ – Lke÷økkÞ, ðÞw, ®[fkhk

	 2. økkøkk ðLÞSð yÇÞkhÛÞ – ½kuhkz, rþÞk¤

	 3. òtçkw½kuzk ðLÞSð yÇÞkhÛÞ – ½kuhkz

	 (A) 1, 2 yLku 3	 (B) Võík 2 yLku 3	 (C) Võík 3	 (D) Võík 1 yLku 3

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight



M

[PSP] 55

202.	 Which of the following statements are correct regarding Wild Ass animal of Gujarat?

	 1. The Indian wild ass is considered as a flagship species in Little Rann of Kutch

	 2. IUCN gave endangered status to Indian Wild Ass 

	 3. �Kutch district has the highest Wild Ass population as per 2014 Wild Ass population 
estimation.

	 (A) 1, 2 and 3		  (B) 1 and 2 only

	 (C) 2 and 3 only		  (D) 1 and 3 only

203.	 Which of the following statement(s) is/are correct regarding Gujarat Coastal line? 

	 (A) Valsad, Navsari, Surat & Bharuch districts have its western boundary as Arabian sea.

	 (B) �Bhavnagar, Amreli, Junagadh & Porbandar districts have its eastern boundary as  
Arabian sea.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

204.	 Which of the following statements are correct regarding SAUNI yojana of Government  
of Gujarat? 

	 1. Link-I – Morbi District to Jamnangar District

	 2. Link-II – Surendranagar District to Amreli District

	 3. Link-III – Surendranagar District to Rajkot District

	 4. Link-IV – Mehsana District to Junagarh District

	 (A) 1, 2, 3 and 4		  (B) 2, 3 and 4 only

	 (C) 1, 2 and 3 only		  (D) 1 and 3 only

205.	 Which of the following statements are correct regarding Tribal People in Gujarat? 

	 1. Tribal population of Gujarat concentrated in 48 Talukas of the state

	 2. They concentrated around 18% geographical area of the state

	 3. Literacy rate among female in tribal people is 53.2%

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

206.	 Which of the following statements are correct regarding minerals in Gujarat?

	 1. Gujarat is the 2nd largest Lignite producing state in the country. 

	 2. Bauxite mines found in Kutch and Devbhoomi Dwaraka districts

	 3. Fluorspar mineral can be found in Chhotaudepur

	 (A) 1 and 2 only	 (B) 2 and 3 only	 (C) 1 and 3 only		  (D) 1, 2 and 3

207.	 Which of the following pairs is/are incorrectly matched?

	 1. Rampara Sanctuary – Blue bull, Wolf, Chinkara

	 2. Gaga Wild Life Sanctuary – Great Indian Bustard, Jackal

	 3. Jambughoda Wild life Sanctuary – Great Indian Bustard

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 3 only	 (D) 1 and 3 only
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208.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku s{eLkLkk ½kuðký ytøku Mkk[wt / Mkk[kt Au ?

	 (A) ÃkðLkÚke Äkuðký – yu þw»f yLku yÄoþw»f «Ëuþku{kt ðÄw òuðk {¤u Au.

	 (B) ¾z Äkuðký yLku fkuíkh Äkuðký yu s¤Úke ÄkuðkýLkk çku «fkhku Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª

209.	 Lke[uLkk Ãkife fÞk rðÄkLkku ¾kuxwt / ¾kuxkt Au ?

	 (A) yhçke Mk{wÿLke þk¾k yhçke Mk{wÿ WÃkhÚke ¼khíkeÞ ¼q¼køk WÃkh VqtfkÞ Au.

	 (B) �çktøkk¤Lkk WÃkMkkøkhLke Mkk¾k çktøkk¤Lkkk WÃkMkkøkh{ktÚke ¼us yufºk fhe BÞkt{kh yLku Ërûký Ãkqðo çkktø÷kËuþ  
Ãkh ºkkxfu Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª

210.	 ¼khík{kt fÃkkMkLkk Ãkkf ytøku Lke[uLkk Ãkife fÞwt / fÞk ðkõÞ / ðkõÞku Mkk[wt / Mkk[kt Au ?

	 1. fÃkkMkLkk ÃkkfLku Mkhuhkþ 50-75 Mku{e ðhMkkË sYhe Au.

	 2. fÃkkMkLkk ÃkkfLku 21-30 rzøkúe Mku. W»ýíkk{kLk sYhe Au.

	 3. fÃkkMkLkk ÃkkfLku ôze fk¤e s{eLk sYhe Au yLku Ãkz¾kW íkÚkk fktÃkLke s{eLk{kt Ãký Wøke þfu Au.

	 (A) 1, 2 yLku 3		  (B) Võík 2 yLku 3

	 (C) Võík 1 yLku 3		  (D) Võík 1 yLku 2

211.	 Lke[uLkk Ãkife fÞwt rðÄkLk / rðÄkLkku hk»xÙeÞ ½kuhe {køko yLku s÷ {køko {kxu Mkk[wt / Mkk[kt Au ?

	 (A) hk»xÙeÞ s¤{køko - 4 yu ËuþLkku MkkiÚke ÷ktçkku s¤{køko Au.

	 (B) þYykíkLkk 5 s¤{køkkuo ÃkifeLkku {kºk yuf s¤ {køko økwshkík{ktÚke ÃkMkkh ÚkkÞ Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª

212.	 Lke[uLkk Ãkife fÞk òuzfkt ÞkuøÞ heíku òuzðk{kt ykÔÞk Au ?

	 1. xkuzk òrík – íkkr{÷Lkkzw		  2. çkkuLzk – ykurhMMkk

	 3. ykuLøku – yktÄú«Ëuþ		  4. yøkrhÞk – W¥kh«Ëuþ

	 (A) 1, 2, 3 yLku 4		  (B) Võík 1, 2 yLku 4

	 (C) Võík 2 yLku 3		  (D) Võík 1 yLku 4

213.	 Lke[uLkk Ãkife fÞwt / fÞk rðÄkLk / rðÄkLkku ¼khík{kt Mkkûkhíkk çkkçkíku Mkk[wt / Mkk[kt Au ?

	 (A) 1951{kt ¼khík{kt Mºke Mkkûkhíkk Ëh 8.86% níkku.

	 (B) 2011{kt ¼khík{kt Mºke Mkkûkhíkk Ëh 65.46% níkku.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª
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208.	 Which of the following statement(s) is/are correct regarding Soil Erosion?

(A) Wind Erosion – it is significant in arid and semi arid regions

(B) Sheet Erosion and Gully Erosion are the two types of Water Erosion

(C) Both (A) and (B)

(D) Neither (A) nor (B) 

209.	 Which of the following statement(s) is/are INCORRECT?

(A) Arabian Sea branch blows over Arabian sea and enters Indian landmass.

(B) �Bay of Bengal branch gathers moisture from the Bay of Bengal and strikes Myanmar and 
South east Bangladesh.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

210.	 Which of the following statements is/are correct regarding cotton crop in India?

1. Cotton crop required average rainfall of 50-75 cms

2. Cotton crop required 21-30 degree centigrade temperature

3. Cotton crop required Deep black soil, it grows even in alluvial and laterite soil

(A) 1, 2 and 3		 (B) 2 and 3 only

(C) 1 and 3 only		 (D) 1 and 2 only

211.	 Which of the following statement(s) is/are correct regarding national highways and 
waterways?

(A) National Waterway 4 is the longest waterway in the country

(B) Out of initial 5 national waterways only one waterway is going through Gujarat

(C) Both (A) and (B)

(D) Neither (A) nor (B)

212.	 Which of the following pairs are correctly matched?

1. Toda Tribe – Tamil Nadu

2. Bonda – Odisha

3. Onge – Andhra Pradesh

4. Agariya – Uttar Pradesh

(A) 1, 2, 3 and 4		 (B) 1, 2 and 4 only

(C) 2 and 3 only		 (D) 1 and 4 only

213.	 Which of the following statement(s) is/are correct regarding literacy in India?

(A) In 1951 India’s literacy rate among women was 8.86% 

(B) In 2011 India’s literacy rate among women was 65.46%

(C) Both (A) and (B)

(D) Neither (A) nor (B)
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214.	 ¼khíkLkk Lke[uLkk Ãkife fÞk «Ëuþku{kt {uLøkúkuð,çkkh{kMke ÷e÷k yLku ÃkkLk¾h støk÷kuLkwt r{©ý òuðk {¤u Au ?

	 (A) yktËk{kLk yLku rLkfkuçkkh rîÃkMk{qn	 (B) Ërûký Mkkihk»xÙ

	 (C) Ërûký Ãkrù{ çktøkk¤		  (D) WÃkh ÃkifeLkwt fkuE Lk®n

215.	 Lke[uLkk ÃkifeLkk fÞk ¾Lkeòu Äkhðkz ¾zf Mkth[Lkk{ktÚke {¤e ykðu Au ?

1. Wå[ fûkkLkwt fk[wt ÷ku¾tz 2. íkktçkw 3. MkkuLkwt

	 (A) Võík 1 yLku 2 (B) Võík 2 yLku 3

	 (C) 1, 2 yLku 3 (D) Võík 1 yLku 3

216.	 Lke[uLkk Ãkife fÞk òuzfk ÞkuøÞ heíku òuzu÷kt LkÚke ?

	 (A) hks{nk÷ xufheyku – ¾tz Ãkðoík (B) fkuxkuÃkkûke – ßðk¤k{w¾e Ãkðoík

	 (C) yuÂLzÍ – økuz Ãkðoík		  (D) Lke÷økehe – þu»k Ãkðoík

217.	 Lke[uLkk Ãkife økwshkíkLkk fÞk rsÕ÷k{kt ûkkhÚke yMkh Ãkk{u÷e ¾hkçkkLke s{eLk {kuxk «{ký{kt LkkUÄkÞu÷e Au ?

	 (A) fåA		  (B) ¼kðLkøkh

	 (C) ¼Y[		  (D) WÃkh Ãkife fkuE Ãký Lk®n

218.	 òu røkúLke[ ({wÏÞ hu¾ktþ - «kE{ {urhrzÞLk) ¾kíku çkÃkkuh Lkk 12.00 ðkøÞk nkuÞ, Ãkhtíkw Ãk]ÚðeLkk yLÞ yuf ¼køk{kt òu 
÷kufku MÚkkrLkf Mk{Þ {wsçk MkðkhLke [k 6.00 f÷kfu Ãkeíkk nkuÞ íkku íku søÞkLkku hu¾ktþ ..........

	 (A) 45 rzøkúe Ãkrù{ (B) 45 rzøkúe Ãkqðo

	 (C) 90 rzøkúe Ãkrù{ (D) WÃkh Ãkife fkuE Ãký Lk®n

219.	 Lke[uLkk Ãkife fE LkËe íkuLkk ðnLk{kt çku ð¾ík rð»kwðð]¥k Lku Ãkkh fhu Au ?

	 (A) LkkE÷	 (B) fkUøkku (C) LkkEÍh (D) yu{uÍkuLk

220.	 MkkíkÃkwzk røkrh{k¤kLkku ¼køk çkLkíkk Lke[uLkk ÃkðoíkkuLku Ãkrù{Úke Ãkqðo íkhV síkk ¾hk ¢{{kt økkuXðku.

	 (A) hks{nk÷, {nkËuð, {if÷ yLku hksÃkeÃk¤k	 (B) hksÃkeÃk¤k, {if÷, {nkËuð yLku hks{nk÷

	 (C) hksÃkeÃk¤k, {nkËuð, {if÷ yLku hks{nk÷	 (D) WÃkh Ãkife fkuE Ãký Lk®n

221.	 ¼khíkLkk Wå[ík{ LÞkÞk÷Þ çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

1. �MktMkËLkk Ëhuf øk]n{kt MktçkkuÄLk ÃkAe hk»xÙÃkríkyu fhu÷k nwf{ rMkðkÞ Wå[ík{ LÞkÞk÷ÞLkk LÞkÞkÄeþLku íku{Lkk nkuÆk
WÃkhÚke Ëqh fhe þfkÞ Lk®n.

2. �nkuÆk WÃkhÚke Ëqh fhðkLkku «Míkkð yu Ëhuf øk]nu íku øk]nLke fw÷ MkÇÞ MktÏÞkLke çknw{íkeLkk íkÚkk íku øk]nLkk nksh hneLku
{ík ykÃkLkkh ykuAk{kt ykuAk çku ík]íkeÞktþ MkÇÞkuLke çknw{íkeLkk xufkðk¤ku nkuðku òuEyu.

3. Wå[ík{ LÞkÞk÷ÞLke fkÞoðkne yu ytøkúuS yÚkðk rnLËe{kts nkÚk Ähðk{kt ykðu Au.

4. �Wå[ík{ LÞkÞk÷ÞLkk LÞkÞkÄeþ íkhefu nkuÆku Ähkðe [qfu÷e fkuE Ãký ÔÞÂõík yu ¼khíkLkk Wå[ík{ LÞkÞk÷Þ rMkðkÞLkk
fkuE Ãký LÞkÞk÷Þ{kt yÚkðk fkuE Mk¥kkrÄfkh Mk{ûk fk{fks fhe þfþu Lk®n.

(A) 1, 2, 3 yLku 4	 (B) {kºk 1 yLku 2	 (C) {kºk 3 yLku 4	 (D) {kºk 1, 2 yLku 3
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214.	 Which one of the following regions of India has a combination of mangrove forest, evergreen 
forest and deciduous forests?

(A) Andaman and Nicobar Islands	 (B) Southern Saurashtra

(C) South West Bengal		 (D) None of the above 

215.	 Which of the following minerals are found in the Dharwar rock system?

1. High grade iron ore

2. Copper

3. Gold

(A) 1 and 2 only	 (B) 2 and 3 only	 (C) 1, 2 and 3	 (D) 1 and 3 only

216.	 Which one of the following pairs is not correctly matched?

(A) The Rajmahal Hills – The Block Mountains

(B) The Cotopaxi – Volcanic Mountains

(C) The Andes – Fold Mountains

(D) The Nilagiris – Residual Mountains

217.	 Which one of the following districts of Gujarat has recorded moderately larger area under 
salt affected wasteland?

(A) Kutch	 (B) Bhavnagar	 (C) Bharuch	 (D) None of the above

218.	 If it is 12:00 noon at Greenwich (prime meridian) but at a place in other part of the Earth, 
people are taking bed tea at 6:00 am local time. The meridian of the place is _______.

(A) 45 degrees west		  (B) 45 degrees east

(C) 90 degrees west		  (D) None of the above

219.	 Which of the following rivers crosses the Equator twice in its flow?

(A) Nile	 (B) Congo	 (C) Niger	 (D) Amazon

220.	 Find out the correct sequence of hills from West to East that constitute the Satpura range.

(A) Rajmahal, Mahadeo, Maikal and Rajpipla

(B) Rajpipla, Maikal, Mahadeo, and Rajmahal

(C) Rajpipla, Mahadeo, Maikal and Rajmahal

(D) None of the above

221.	 Which of the following statements are correct regarding Supreme Court of India?

1. �A Judge of the Supreme Court cannot be removed from office except by an order of the
President passed after an address in each House of Parliament.

2. �The motion of removal supported by a majority of the total membership of that House and
by a majority of not less than two-thirds of members present and voting.

3. The proceedings of the Supreme Court are conducted in English and Hindi only.

4. �A person who has been a Judge of the Supreme Court is debarred from practising in any
court of law or before any other authority in India except Supreme Court.

(A) 1, 2, 3 and 4	 (B) 1 and 2 only	 (C) 3 and 4 only	 (D) 1, 2 and 3 only
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222.	 ¼khík{kt MktMkËeÞ «ýk÷e çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

1. 1952 MkwÄe ¼khíkLke MktrðÄkLk Mk¼k yu fk{ [÷kW MktMkË íkhefu fkÞohík níke.

2. �rðÄuÞf fu su ¼khíkLkk yufºkeík Vtz (Consolidated Fund of India) {ktÚke ¾[o fhðkLkwt Úkíkwt nkuÞ, íkuLku hk»xÙÃkríkyu
rð[khýk fhðk {kxu øk]nLku ¼÷k{ý fhe Lk nkuÞ, íkku MktMkËLkk çku{ktÚke fkuE øk]n{ktÚke ÃkMkkh fhe þfkÞ Lk®n.

3. �yæÞûk yÚkðk LkkÞçk yæÞûkLke økuhnkshe{kt yæÞûk îkhk Lkk{ktrfík fhðk{kt ykðu÷e ÷kufMk¼kLkk 20 MkËMÞkuLke
çkLku÷e Mk¼kÃkrík ÃkuLk÷ yu øk]nLke yæÞûkíkk fhu Au.

4. �Mk¼kÃkrík yÚkðk LkkÞçk Mk¼kÃkríkLke økuhnkshe{kt Mk¼kÃkrík îkhk Lkk{ktrfík fhðk{kt ykðu÷e hkßÞMk¼kLkk 10
MkËMÞkuLke çkLku÷e WÃk-Mk¼kÃkrík ÃkuLk÷ yu øk]nLke yæÞûkíkk fhu Au.

(A) 1, 2, 3 yLku 4		  (B) {kºk 1, 2 yLku 3

	 (C) {kºk 3 yLku 4		  (D) {kºk 1 yLku 2

223.	 Lke[uLkk Ãkife fÞk rðÄkLkku yu Mkt½ yLku hkßÞ ðå[uLkk MktçktÄku çkkçkíku Ãkqt[e ykÞkuøkLke ¼÷k{ýku Au ?

1. �Ãkt[kÞíke hks MktMÚkkyku{kt yLkwMkqr[ík òrík, yLkwMkqr[ík sLkòrík yLku {rn÷kyku {kxu yLkk{ík çkuXfkuLkku ¢{kLkwðíkeo
VuhVkh fhðk çkkçkíkLkku rð[kh.

2. �Mk{ðíkeo Mkqr[Lkk fkÞËkykuLke çkkçkík{kt Mkt½yu hkßÞkuLkk Mk÷kn - Mkq[Lk ÷uðk ykð~Þf Au.

3. �hkßÞÃkk÷Lke {wËík yu Ãkkt[ ð»ko {kxuLke MkwrLkrùík fhu÷e Au yLku íkuykuLku ÃkË¼úü fhðkLke Mk¥kk yu fuLÿ{kt hnu÷e
MkhfkhLke EåAkþÂõík yLkwMkkh nkuðe Lk òuEyu.

4. yk ykÞkuøk îkhk ‘MÚkkrLkf fxkufxe’Lkku ÏÞk÷ Ëk¾÷ fhðk{kt ykÔÞku.

(A) 1, 2, 3 yLku 4		  (B) {kºk 2, 3 yLku 4

	 (C) {kºk 3 yLku 4		  (D) {kºk 1 yLku 2

224.	 ¼khík{kt WÃkfh (Cess) ÷kËðk yLku íkuLku W½hkððk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt/Mkk[kt LkÚke ?

1. WÃkfh (Cess) yu ¼khíkLkk yufrºkík Vtz{kt s{k ÚkE þfu Lk®n.

2. ¼khíkLkwt Lkkýk ykÞkuøk yu Mkt½ yLku hkßÞku ðå[u WÃkfhLke ðnU[ýe çkkçkíku ¼÷k{ý fhu Au.

3. WÃkfh {kxu ¼khíkLkk yufrºkík ¼tzku¤Úke y÷øk yuðwt Mk{ŠÃkík ¼tzku¤ W¼wt fhðk{kt ykðþu yLku rLk¼kððk{kt ykðþu.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

	 (C) {kºk 3 (D) {kºk 1 yLku 2

225.	 ÷kufMk¼kLkk yæÞûk çkkçkíku Lke[uLkk Ãkife fÞwt fÞk rðÄkLkku Mkk[kt Au ?

1. �yæÞûkLku nkuÆk WÃkhÚke Ëqh fhðkLkk Xhkð ÃkMkkh fhðkLkk WÆuþ{kt ykuAk{kt ykuAk 30 rËðMkLke LkkuxeMk ykÃkðe
VhSÞkík Au.

2. �÷kufMk¼kLke Mkk{kLÞ nuíkw Mkr{rík (General Purposes Committee) yLku fkÞËk Mkr{ríkyku yu yæÞûkLkk ðzÃký
nuX¤ fkÞo fhu Au.

3. �yks rËLk MkwÄe ÷kufMk¼kLkk yæÞûku ÃkkuíkkLkk yLkLÞ {íkËkLkLkku WÃkÞkuøk çku ð¾ík fÞkuo Au.

4. �yæÞûk Lkkýkt rðÄuÞfLku «{krýík fhu Au yLku yu çkkçkíkLkku ytrík{ rLkýoÞ ÷u Au fu íku rðÄuÞf{kt fE LkkýktfeÞ
çkkçkíkku Au fu suLkk fkhýu ÷kufMk¼kLku íku{kt rðþu»k Mk¥kk Au.

(A) 1, 2, 3 yLku 4	 (B) {kºk 2 yLku 4	 (C) {kºk 1 yLku 3	 (D) {kºk 1, 2 yLku 3
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222.	 Which of the following statement(s) is/are correct regarding the Parliamentary system in 
India?

1. The Constituent Assembly of India worked as Provisional Parliament till 1952.

2. �A Bill which involves expenditure from the Consolidated Fund of India cannot be passed
by either House of Parliament unless the President has recommended to that House.

3. �Panel of Chairman consists of 20 members of Lok Sabha nominated by the Speaker to
preside over the House in the absence of Speaker and Deputy Speaker.

4. �Panel of Vice-Chairman consists of 10 members of Rajya Sabha nominated by the Chairman 
to preside over the House in the absence of Chairman and Deputy Chairman.

(A) 1, 2, 3 and 4		 (B) 1, 2 and 3 only

(C) 3 and 4 only		 (D) 1 and 2 only

223.	 Which of the following(s) is/are the recommendations of Punchhi Commission on Centre 
and State relations?

1. �The concept of rotation of reserved seats for Scheduled Castes, Scheduled Tribes and
women in Panchayat Raj Institutions.

2. Centre must consult the States while legislating on matters in Concurrent List.

3. �Governors should be given a fixed tenure of five years and their removal should not be at
the sweet will of the Government at the Centre.

4. The Concept of ‘Localized Emergency’ was introduced by the commission.

(A) 1, 2, 3 and 4		 (B) 2, 3 and 4 only

(C) 3 and 4 only		 (D) 1 and 2 only

224.	 Which among the following statement(s) is/are INCORRECT regarding imposition and 
collection of the Cess in India?

1. The cess does not get credited to the Consolidated Fund of India.

2. �The Finance Commission of India recommends for the distribution of the cess between
the Centre and States.

3. �A dedicated fund outside the Consolidated Fund of India will be created and maintained
for the Cess.

(A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 3 only	 (D) 1 and 2 only

225.	 Which of the following statements are correct regarding the Speaker of the Lok Sabha?

1. �It is also mandatory to give a minimum of 30 days’ notice of the intention to move the
resolution for the removal of the Speaker.

2. �The General Purposes Committee and the Rules Committees of the Lok Sabha worked
under the chairmanship of Speaker.

3. �Till date, the Speaker of the Lok Sabha has exercised his unique casting vote for
two times.

4. �Speaker certifies Money Bills and decides finally what are money matters by reason of the
Lok Sabha’s overriding powers in financial matters.

(A) 1, 2, 3 and 4	 (B) 2 and 4 only	 (C) 1 and 3 only	 (D) 1, 2 and 3 only
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226.	 MktMkËeÞ Mkr{ríkykuLke çkkçkík{kt Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. �ònuh rnMkkçk Mkr{rík yu ÷kufMk¼kLkk yæÞûk îkhk Lkk{ktrfík fhðk{kt ykðu÷k ÷kufMk¼kLkk 15 MkËMÞkuLke çkLku÷e
nkuÞ Au.

2. �òu fkuE MkËMÞ yu fkuE Mkr{rík{kt [qtxkÞk çkkË {tºke íkhefu rLkÞwõík ÚkkÞ íkku íku yk rLkÞwÂõíkLke íkkhe¾Úke yu Mkr{ríkLkk
MkËMÞ íkhefu hne þfu Lk®n.

3. yæÞûk yu 22 MkËMÞkuLke Mkr{rík{ktÚke fkuE yufLke Mkr{ríkLkk [uh{uLk íkhefu rLk{ýqtf fhu Au.

	 (A) {kºk 2	 (B) {kºk 1 yLku 3	 (C) 1, 2 yLku 3 (D) {kºk 2 yLku 3

227.	 ÷kuf yËk÷ík rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. �hk»xÙeÞ fkLkqLke Mkuðk Mk¥kk{tz¤ yLku yLÞ fkLkqLke Mkuðk MktMÚkkyku ÷kuf yËk÷íkLke fkÞoðkne fhu Au.

2. �fkLkqLke Mkuðk Mk¥kkrÄfkh yrÄrLkÞ{ nuX¤ ÷kufyËk÷íkkuLku ðiÄkrLkf Ëhßòu ykÃkðk{kt ykÔÞku Au.

3. �òu Ãkûkfkhku yu ÷kuf yËk÷íkLkk rLkýoÞÚke Mktíkwü Lk nkuÞ íkku Ãký ykðk rLkýoÞÚke rðYØ yÃke÷ ytøku fkuE òuøkðkE LkÚke

4. �÷kuf yËk÷íkLkk MkÇÞkuLke ¼qr{fk yu {kºk ðiÄkrLkf Mk{kÄkLk fíkko íkhefuLke s nkuÞ Au yLku íku{Lke fkuE LÞkrÞf ¼qr{fk
nkuíke LkÚke.

(A) 1, 2, 3 yLku 4	 (B) {kºk 2, 3 yLku 4	 (C) {kºk 3 yLku 4	 (D) {kºk 1, 2 yLku 4

228.	 73 {k MktrðÄkLk MkwÄkhk yrÄrLkÞ{ ytøku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?

(A) �òu MktçktrÄík hkßÞ rðÄkLk{tz¤Lke [qtxýeykuLkk nuíkw {kxu íku Mk{Þu y{÷{kt nkuÞ íkuðk fkuE fkÞËkÚke yÚkðk íku nuX¤ 
íkuLku íkuðe heíku økuh÷kÞf Xhkðu÷ nkuÞ íkku íku Ãkt[kÞíkLkk MkÇÞ {kxu økuh÷kÞf økýkþu.

(B) �fkuEÃký ÔÞÂõík òu íku yufðeMk ð»koLke ô{hLke ÚkE økE nkuÞ íkku íku ÔÞÂõík Ãk[eMk ð»koÚke ykuAe ô{hLke Au íku fkhýu 
íkuLku økuh÷kÞf Xhkðe þfkþu Lk®n.

(C) (A) yLku (B) çktLku

(D) (A) yLku (B) Ãkife fkuE Lknª

229.	 1947Lkk ¼khík Mðíktºkíkk yrÄrLkÞ{ rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. íkuLkk îkhk ðkEMkhkuÞLkwt fkÞko÷Þ LkkçkqË ÚkÞwt yLku økðLkoh sLkh÷Lke òuøkðkE fhe.

2. økðLkoh sLkh÷Lke rLk{ýqtf yu rçkúrxþ hkò îkhk Mk¥kkÄkhe {tºke {tz¤Lkk Mk÷kn-Mkq[Lk yLkwMkkh fhðk{kt ykðíke níke

3. íku (yrÄrLkÞ{u) ¼khíkLkk hsðkzkykuLku ¼khík yÚkðk ÃkkrfMíkkLk{kt òuzkððk {kxuLke Mðíktºkíkk ykÃke níke.

4. íkuLkk (yrÄrLkÞ{Lkk) nuX¤ 1950 MkwÄe ònuh Mkuðfku ({qÕfe f{o[kheyku)Lke rLk{ýqtf fhðkLke [k÷w hne.

(A) 1, 2, 3 yLku 4	 (B) {kºk 2, 3 yLku 4	 (C) {kºk 1, 2 yLku 3	 (D) {kºk 3 yLku 4

230.	 MktrðÄkLk Mk¼kLke Lke[u Ëþkoðu÷e Mkr{ríkyku ÃkifeLke fE Mkr{rík/Mkr{ríkyku ÞkuøÞ heíku òuzkÞu÷e Au ?

1. «ktíkeÞ çktÄkhý Mkr{rík – MkhËkh Ãkxu÷

2. {q¤¼qík yrÄfkh Ãkuxk Mkr{rík – su.çke. r¢Ã÷kLke

3. ÷½w{íke Ãkuxk Mkr{rík – yçËw÷ økVkh ¾kLk

	 (A) {kºk 1		 (B) 1, 2 yLku 3

	 (C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3
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226.	 Which of the following statement(s) is/are correct regarding the Parliamentary Committees?

1. �The Public Accounts Committee consists of 15 members from Lok Sabha who are
nominated by the Speaker of the Lok Sabha.

2. �If a member, after his election to the Committee is appointed as a Minister, he ceases to
be a member of the Committee from the date of such appointment.

3. �The Chairman of the Committee is appointed by the Speaker from amongst the
22 members of the Committee.

(A) 2 only	 (B) 1 and 3 only	 (C) 1, 2 and 3	 (D) 2 and 3 only

227.	 Which of the following statement(s) is/are correct regarding the Lok Adalats?

1. �National Legal Services Authority and other legal services institutions conduct
Lok Adalats

2. Lok Adalats have been given statutory status under the Legal Services Authorities Act

3. �If the parties are not satisfied with the award of the Lok Adalat, though there is no provision
for an appeal against such an award.

4. �The Members of the Lok Adalats have the role of statutory conciliators only and do not
have any judicial role.

(A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 3 and 4 only	 (D) 1, 2 and 4 only

228.	 Which of the following statement(s) is/are correct regarding 73rd Constitutional  
Amendment Act?

(A) �A Panchayat member shall be disqualified by or under any law for the time being in force 
for the purposes of elections to the concerned State Legislature.

(B) �No person shall be disqualified on the grounds that he is less than 25 years of age, if he 
has attained the age of 21 years.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

229.	 Which of the following statement(s) is/are correct regarding Indian Independence Act  
of 1947?

1. It abolished the office of Viceroy and provided for a Governor General.

2. �The Governor General was to be appointed by the British King on the advice of dominion
cabinet.

3. It granted freedom to the Indian princely states either to join India or Pakistan

4. It continued the appointments of the Civil Servants till 1950.

(A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 1, 2 and 3 only	 (D) 3 and 4 only

230.	 Which of the following committees of Constituent Assembly is/are correctly matched?

1. Provincial Constitution Committee – Sardar Patel

2. Fundamental Rights Sub Committee – JB Kripalani

3. Minorities Sub Committee – Abdul Ghafar Khan

(A) 1 only	 (B) 1, 2 and 3	 (C) 1 and 2 only	 (D) 1 and 3 only
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231.	 Lke[uLkk Ãkife fE Mkr{ríkyu hkßÞkuLkk ¼k»kk ykÄkrhík ÃkwLkøkoXLkLkk ÏÞk÷Lkku yMðefkh fÞkuo níkku ?

1. yuMk. fu. Äkh Mkr{rík

2. su. ðe. Ãke. Mkr{rík

3. VÍ÷ y÷e Mkr{rík

	 (A) {kºk 1 yLku 2		 (B) 1, 2 yLku 3

	 (C) {kºk 2 yLku 3 (D) {kºk 1

232.	 Lke[uLkk Ãkife fE ÔÞÂõík LkkUÄýe îkhk ¼khíkLkk Lkkøkrhf íkhefu LkkUÄe þfkÞ ?

1. �¼khíkeÞ {q¤Lke yuðe ÔÞÂõík fu su LkkUÄýeLke yhS fÞko Ãknu÷ktLkk Mkkík ð»ko MkwÄe ¼khík{kt Mkk{kLÞ rLkðkMke íkhefu
hnuíke ykðe nkuÞ.

2. ¼khíkLkk Lkkøkrhf nkuÞ íkuðe ÔÞÂõíkykuLkk Mkøkeh çkk¤fku.

3. �ÃkwÏík ðÞLke yLku ÞkuøÞíkk Ähkðíke ÔÞÂõík fu su ykuAk{kt ykuAe ËMk ð»koÚke ¼khíkLkk rðËuþe Lkkøkrhf fkzo Äkhf íkhefu
LkkUÄkÞu÷ nkuÞ.

4. ¼khíkeÞ {q¤Lke ÔÞÂõík fu su yrð¼kSík ¼khíkLke çknkhLkk fkuE Ëuþ fu MÚk¤Lkk Mkk{kLÞ rLkðkMke nkuÞ.

(A) 1, 2, 3 yLku 4	 (B) {kºk 1, 2 yLku 3	 (C) {kºk 1 yLku 3	 (D) {kºk 1, 2 yLku 4

233.	 fkÞËk Mk{ûk Mk{kLkíkkLkk yÃkðkË çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?

(A) �hk»xÙÃkrík yÚkðk hkßÞÃkk÷ rðYØ íku{Lkk nkuÆkLke {wËík ËhBÞkLk fkuE Ãký «fkhLke VkusËkhe fkÞoðkne {ktze  
þfkþu Lk®n

(B) �fkuE ÔÞÂõík MktMkËLke fkuE Ãký fkÞoðkneLkk ðMíkwík: Mkk[k ynuðk÷Lke ðíko{kLkÃkºk{kt «rMkrØLkk MktçktÄ{kt fkuE 
LÞkÞk÷Þ{kt fkuE Ãký ËeðkLke fu VkusËkhe fkÞoðkneLku Ãkkºk Úkþu Lk®n.

(C) (A) yLku (B) çktLku

(D) (A) yLku (B) Ãkife fkuE Lknª

234.	 ¼khík{kt EWS nuX¤Lkk yLkk{ík{ktÚke çkkfkík hk¾ðkLke çkkçkík{kt Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

1. òu fkuE Ãký ÔÞÂõík 10 yufh yLku íkuÚke ðÄw ¾uíkeLke s{eLk Ähkðíkk nkuÞ.

2. 1000 [ku. Vqx yLku íkuÚke ðÄw ûkuºkV¤ Ähkðíkku hnuýktfLkku ^÷ux Ähkðíkk nkuÞ

3. LkkuxeVkEz Lkøkh Ãkkr÷fk{kt 100 [ku. Þkzo yLku íkuÚke ðÄw ûkuºkV¤ Ähkðíkku hnuýktf Ã÷kux Ähkðíkk nkuÞ.

4. LkkuxeVkEz Lkøkh Ãkkr÷fk rMkðkÞLkk ûkuºk{kt 200 [ku. Þkzo yLku íkuÚke ðÄw ûkuºkV¤ Ähkðíkku hnuýktf Ã÷kux Ähkðíkk nkuÞ

(A) 1, 2, 3 yLku 4	 (B) {kºk 2, 3 yLku 4	 (C) {kºk 3 yLku 4	 (D) {kºk 1 yLku 3

235.	 ¼khík{kt {q¤¼qík nfku çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

1. yLkwåAuË 33 yu ÷~fhe fkÞËkLku Wå[ík{ LÞkÞk÷Þ yLku ðze yËk÷íkLkk hex yrÄfkh ûkuºk{kt Mk{krðü fhíkk LkÚke.

2. ÷~fhe fkÞËkLkku ÏÞk÷ yu çktÄkhý{kt õÞktÞ ÔÞkÏÞkrÞík fhu÷ LkÚke.

3. ÷~fhe fkÞËku ÷kËðkÚke {q¤¼qík nfku Ãkh fkuE yMkh ÚkE þfu Lk®n.

4. ÷~fhe fkÞËku yu ËuþLkk fkuE [ku¬Mk ¼køk{kt Lk®n Ãkhtíkw Mk{økú Ëuþ{kt ÷kËðk{kt ykðu Au.

(A) 1, 2, 3 yLku 4	 (B) {kºk 2, 3 yLku 4	 (C) {kºk 1 yLku 2	 (D) {kºk 3 yLku 4
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231.	 Which of the following committees rejected the idea of Linguistic based reorganization of 
the states?

1. SK Dhar Committee

2. JVP Committee

3. Fazal Ali Committee

(A) 1 and 2 only	 (B) 1, 2 and 3	 (C) 2 and 3 only	 (D) 1 only

232.	 Who among the following persons can register as a citizen of India by Registration?

1. �A person of Indian origin who is ordinarily resident in India for seven years before making
an application of registration.

2. Minor children of persons who are citizens of India

3. �A person of full age and capacity who has been registered as an Overseas Citizen of India
cardholder for at least 10 years.

4. �A person of Indian origin who is ordinarily resident in any country or place outside
undivided India.

(A) 1, 2, 3 and 4	 (B) 1, 2 and 3 only	 (C) 1 and 3 only	 (D) 1, 2 and 4 only

233.	 Which of the following statement(s) is/are correct regarding Exception of Equality  
Before Law?

(A) �No Civil proceedings against the President or Governor shall be instituted during the 
term of office.

(B) �No person shall be liable to any civil or criminal proceedings in any court in respect to the 
publication in a newspaper of true report of any proceedings of the Parliament.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

234.	 Which of the following statements are correct regarding the exclusions under EWS 
reservation in India?

1. If any person has 10 acres of Agricultural land and above.

2. Residential flat of 1000 sq. ft and above.

3. Residential plot of 100 sq. yards and above in notified municipalities

4. Residential plot of 200 sq. yards and above in areas other than notified municipalities.

(A) 1, 2, 3 and 4		  (B) 2, 3 and 4 only

(C) 3 and 4 only		  (D) 1 and 3 only

235.	 Which of the following statements are correct regarding Fundamental Rights of India?

1. �Article 33 can also exclude the court martial from the writ jurisdiction of the Supreme
Court and High Courts.

2. The concept of Martial Law has not been defined anywhere in the Constitution.

3. Imposition of Martial Law will not affect the fundamental rights.

4. Martial Law will be imposed to the whole country, not to any particular part.

(A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 1 and 2 only	 (D) 3 and 4 only
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236.	 hkßÞLkeríkLkk {køkoËþof rMkØktíkku çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?
1. ©e çke yuLk hkðu ¼khíkeÞ Lkkøkrhfku {kxu çku ©uýeLkk nfkuLke ¼÷k{ý fhe níke LÞkÞÃkkºk yLku rçkLkLÞkÞÃkkºk.
2. WÃkhLke ¼÷k{ýku MkkÚku hkßÞLkeríkLkk {køkoËþof rMkØktíkku yu çktÄkhý{kt Mk{krðü fhðk{kt ykÔÞk.
3. �{eLkhðk r{ÕMk fuMk{kt Wå[ík{ LÞkÞk÷Þu ½kur»kík fÞwO fu {q¤¼qík nfku WÃkh {køkoËþof rMkØktíkkuLkwt ð[oMð yu

økuhçktÄkhýeÞ Au.
(A) 1, 2 yLku 3		  (B) {kºk 2 yLku 3

	 (C) {kºk 1 yLku 2		  (D) {kºk 1 yLku 3

237.	 ¼khíkeÞ çktÄkhýLkk MkwÄkhýkLke «r¢Þk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?
1. çktÄkhý{kt MkwÄkhkLke «r¢ÞkLkku «kht¼ MktMkË yÚkðk hkßÞ rðÄkLk{tz¤{kt s fhe þfkÞ.
2. MkwÄkhýk rðÄuÞf yu {kºk {tºkeyku îkhk s Ëk¾÷ fhe þfkÞ.
3. MktrðÄkLkLke fux÷ef òuøkðkEykuLke MkwÄkhýk {kxu ¼khíkLkk hk»xÙÃkríkLke Ãkqðo {tsqhe ykð~Þf Au.
4. �hk»xÙÃkríkyu çktÄkhý MkwÄkhýk rðÄuÞfLku yLkw{kuËLk ykÃkðwt s Ãkzu, íku yk rðÄuÞf Lku yxfkðe þfu Lk®n fu Ãkhík

{kuf÷e þfu Lk®n.
(A) 1, 2, 3 yLku 4		  (B) {kºk 2, 3 yLku 4

	 (C) {kºk 3 yLku 4		  (D) {kºk 4

238.	 Lke[uLkk Ãkife fÞwt ÷ûký yu ¼khíkeÞ MktrðÄkLkLkk {q¤¼qík {k¤¾kLkk ¼køk YÃk LkÚke ?
1. LÞkÞ {kxuLke yMkhfkhf Mkwøk{íkk (Effective Access to Justice)

2. hk»xÙLke yuõíkk yLku y¾trzíkíkk
3. MktrðÄkLkLke MkwÄkhýk {kxu MktMkËLke {ÞkorËík Mk¥kk
4. ÔÞÂõíkøkík Mðíktºkíkk yLku økkihð.
(A) 1, 2, 3 yLku 4 (B) {kºk 2, 3 yLku 4

	 (C) {kºk 1, 2 yLku 3 (D) {kºk 2 yLku 3

239.	 Mkt½ - hkßÞ ðå[uLkk MktçktÄku çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?
	 (A) {kºk MktMkË s ðÄkhkLkk «kËurþf fkÞËk (Extra territorial legislation) çkLkkðe þfu Au.
	 (B) MktMkËLkk fkÞËkyku ¼khíkeÞ Lkkøkrhfku yLku íku{Lke rðËuþ{kt fkuE Ãký søÞkyu hnu÷e r{÷fík Lku ÷køkw Ãkzu Au.
	 (C) hkßÞ{kt yLkqMkwr[ík fhu÷k ûkuºk{kt MktMkËLkk yrÄrLkÞ{ ÷køkw Ãkzíkk LkÚke íkuðku ykËuþ fhðkLke Mk¥kk hkßÞÃkk÷ Ähkðu Au.
	 (D) WÃkhLkk ík{k{

240.	 yr¾÷ ¼khíkeÞ Mkuðkyku çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?
1. yr¾÷ ¼khíkeÞ Mkuðkyku WÃkh ytrík{ rLkÞtºký Mkt½Lkwt nkuÞ Au ßÞkhu hkßÞ yu íðrhík rLkÞtºký Ähkðu Au.
2. 1947{kt {kºk çku s yr¾÷ ¼khíkeÞ Mkuðkyku níke ºkeS Mkuðk íÞkh çkkË þY fhðk{kt ykðe.
3. ÷kufMk¼kLkk XhkðLkk ykÄkhu MktMkËLku Lkðe yr¾÷ ¼khíkeÞ Mkuðkyku þY fhðkLke Mk¥kk Au.
(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

	 (C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2
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236.	 Which of the following statements are correct regarding Directive Principles of State Policy?

1. �Shri B. N. Rau has recommended for the two categories of rights for Indian Citizen,
i.e Justiciable, Non-Justiciable.

2. �With the above recommendation Directive Principles of State Policies are incorporated in
the Constitution.

3. �In Minerva Mills Case, Supreme Court has declared that the supremacy of the Directive
Principles over fundamental rights are unconstitutional.

(A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1 and 3 only

237.	 Which of the following statement(s) is/are correct regarding the amendment procedure of 
the Indian Constitution?

1. �An Amendment of the Constitution can initiate in the Parliament and State
Legislatures only.

2. The Amendment Bill can be introduced by the ministers only.

3. �Some provisions of the Constitution required the prior permission of the President of India
for amendments.

4. �The President must give his assent to the Constitution Amendment Bill, he can neither
withhold nor return the Bill.

(A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 3 and 4 only	 (D) 4 only

238.	 Which of the following features is not part of the basic structure of the Indian Constitution?

1. Effective Access to justice

2. Unity and Integrity of the nation

3. Limited power of the Parliament to amend the Constitution.

4. Freedom and Dignity of the Individual

(A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 1, 2 and 3 only	 (D) 2 and 3 only

239.	 Which of the following statement(s) is/are correct regarding the Centre-State relations?

(A) The Parliament alone can make extra territorial legislation.

(B) �The laws of the Parliament are also applicable to the Indian Citizens and their property in 
any part of the world.

(C) �The Governor is empowered to direct that an Act of Parliament does not apply to schedule 
area in the State.

(D) All of the above

240.	 Which of the following statements are correct regarding All India Services?

1. �The ultimate control on All India Services lies with the Centre while the immediate control
lies with the State.

2. In 1947 only two All India Services were there, the third one was created later.

3. �Parliament has authority to create new All India Services on the basis of resolution of
Lok Sabha.

(A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1 and 2 only
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241.	 yktíkh Mkhfkhe fhLke ûk{íkkyku (Inter-Government Tax Immunities) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au.

(A) �Mkt½Lke r{÷fíkLku hkßÞ yÚkðk hkßÞLkk fkuE Mk¥kkrÄfkh îkhk ÷kËðk{kt ykðu÷k ík{k{ «fkhLkk fh{ktÚke {wÂõík 
{¤u÷ nkuÞ Au.

	 (B) Ãkhtíkw hkßÞLke r{÷fík yLku ykðfLku Mkt½Lkk fhðuhk{ktÚke {wÂõík {¤íke LkÚke.

(C) (A) yLku (B) çktLku

(D) (A) yLku (B) Ãkife fkuE Lknª

242.	 hk»xÙeÞ fxkufxeLke WËT½ku»kýk çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

1. MktMkËLkk fkÞËk îkhk ÷kufMk¼kLke {wËík yuf Mk{Þu íkuLke Mkk{kLÞ {wËík fhíkkt yuf ð»ko {kxu ÷tçkkðe þfkÞ Au.

2. ÷kufMk¼kLkku fkÞofk¤ yu MktMkËLkk fkÞËk îkhk ðÄw{kt ðÄw 3 ð»ko {kxu ÷tçkkðe þfkÞ Au. (yuf Mk{Þu yuf ð»ko {kxu)

3. fxkufxe Ãkqhe ÚkE økÞk çkkË ÷kufMk¼kLkku fkÞofk¤ A {kMkÚke ðÄw Mk{Þøkk¤k {kxu [k÷w hne þfu Lk®n.

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 3

	 (C) {kºk 2 yLku 3 (D) {kºk 1 yLku 2

243.	 ¼khíkLkk hk»xÙÃkríkLke [qtxýe çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

1. �Mkk{kLÞ [qtxýeÚke y÷øk heíku, ¼khíkLkk hk»xÙÃkríkLke [qtxýe{kt W{uËðkhu hk»xÙÃkrík íkhefu [qtxkE ykððk {kxu {íkËkh
{tz¤ (Electoral College) {kt 50% + 1 {ík {u¤ððk sYhe Au.

2. �hk»xÙÃkríkLke [qtxýe MkkÚku Mktf¤kÞu÷k ík{k{ «&™ku yLku rððkËkuLke íkÃkkMk yLku rLkýoÞ yu [qtxýeÃkt[ îkhk fhðk{kt
ykðu Au suLkku rLkýoÞ yk¾he økýkÞ Au.

3. �{íkËkh {tz¤ (Electoral College) yÄqYt níkwt, íku ykÄkh Ãkh fkuE Ãký ÔÞÂõíkLke hk»xÙÃkrík íkhefuLke [qtxýe yu
Ãkzfkhe þfkÞ Lk®n.

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 3

	 (C) {kºk 1 yLku 2 (D) {kºk 2 yLku 3

244.	 Lke[uLkk Ãkife fÞwt Þwø{ yu Mkk[e heíku òuzkÞu÷wt / òuzkÞu÷kt Au ?

1. �rLkhÃkuûk rLk»kuÄkrÄfkh (Absolute Veto) – rðÄkLk {tz¤ îkhk Ãkkrhík fhðk{kt ykðu÷ rðÄuÞfLke {tsqhe yxfkðe
hk¾ðe.

2. þhíke rLk»kuÄkrÄfkh (Qualified Veto) – íku rðÄkLk {tz¤ îkhk ¼khu çknw{íkeÚke MkðkuoÃkhe ÚkE þfu.

3. rLk÷tçkLk - {kufqVe rLk»kuÄkrÄfkh (Suspensive Veto) – íkku rðÄkLk {tz¤ îkhk Mkk{kLÞ çknw{íkeÚke MkðkuoÃkhe ÚkE þfu.

4. ¾eMkk rLk»kuÄkrÄfkh (Pocket Veto) – íku MktMkË îkhk 2/3 çknw{íke íku{s yzÄk hkßÞkuLkk {ík îkhk MkðkuoÃkhe ÚkE þfu.

(A) 1, 2, 3 yLku 4	 (B) {kºk 1, 2 yLku 3	 (C) {kºk 1 yLku 2	 (D) {kºk 4

245.	 ¼khík MkhfkhLke fuçkeLkux Mkr{ríkyku rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?

1. fuçkeLkux Mkr{ríkyku çku «fkhLke nkuÞ Au. MÚkkÞe Mkr{rík yLku íkËÚko Mkr{rík

2. MÚkkÞe Mkr{ríkyku çktÄkhýeÞ Au ßÞkhu íkËÚko Mkr{ríkyku ðiÄkrLkf Au.

3. hk»xÙÃkrík îkhk «ÄkLk{tºkeLke Mk÷kn yLkwMkkh yk Mkr{ríkykuLke h[Lkk ÚkkÞ Au.

	 (A) {kºk 1 (B) {kºk 1 yLku 2	 (C) 1, 2 yLku 3 (D) {kºk 1 yLku 3

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight



M

[PSP] 69

241.	 Which of the following statement(s) is/are correct regarding the Inter-Government Tax 
Immunities?

	 (A) �The Property of Centre is exempted from all taxes imposed by a State or any authority 
within a State.

	 (B) But the property and income of a State is not exempted from Central taxation.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

242.	 Which of the following statements are correct regarding the proclamation of National 
Emergency?

	 1. �The Life of the Lok Sabha may be extended beyond its normal term by a law of Parliament 
for one year at a time.

	 2. �The Tenure of Lok Sabha can be extended up to 3 years of period only by law of Parliament 
(one year at a time).

	 3. �The extension of the tenure of the Lok Sabha cannot continue beyond a period of  
6 months after the Emergency has ceased to operate.

	 (A) 1, 2 and 3	 (B) 1 and 3 only	 (C) 2 and 3 only	 (D) 1 and 2 only

243.	 Which of the following statements are correct regarding the election of Indian President?

	 1. �Unlike general elections, in the election of President of India the candidate needs 50%+1 
votes in electoral college to get elected as President.

	 2. �All doubts and disputes in connection with election of President are inquired into and 
decided by Election Commission whose decision is final.

	 3. �The election of a person as President cannot be challenged on the grounds that the 
electoral college was incomplete.

	 (A) 1, 2 and 3	 (B) 1 and 3 only	 (C) 1 and 2 only	 (D) 2 and 3 only

244.	 Which of the following pair(s) is/are correctly matched?

	 1. Absolute veto – Withholding of assent to the Bill passed by the legislature

	 2. Qualified veto – Which can be overridden by the higher majority by the legislature

	 3. Suspensive veto – Which can be overridden by the legislature with ordinary majority

	 4. �Pocket veto – Which can be overridden by the Parliament with 2/3 majority and half of the 
States.

	 (A) 1, 2, 3 and 4	 (B) 1, 2 and 3 only	 (C) 1 and 2 only	 (D) 4 only

245.	 Which of the following statement(s) is/are correct regarding the Cabinet Committees of 
Indian Government?

	 1. Cabinet Committees are two types, i.e. Standing Committees and Adhoc Committees.

	 2. The Standing Committees are constitutional where the Adhoc Committees are statutory.

	 3. These committees are set up by the President on the advice of the Prime Minister.

	 (A) 1 only	 (B) 1 and 2 only	 (C) 1, 2 and 3	 (D) 1 and 3 only
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246.	 ÷kufMk¼kLke h[Lkk ytøku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1. �42{k çktÄkhýeÞ MkwÄkhk yrÄrLkÞ{ 1976 yu 1971 Lke ðMíkeøkýíkheLkk ykÄkhu hkßÞkuLku ÷kufMk¼kLke çkuXfkuLke 
Vk¤ðýe MkwrLkrùík fhe.

	 2. MkLk 2001Lkk 84{kt MkwÄkhkLkk yrÄrLkÞ{ yLkwMkkh ðÄw 25 ð»ko {kxu íku MkwrLkrùík fhðk{kt ykðe.

	 3. �87{k çktÄkhýeÞ MkwÄkh yrÄrLkÞ{ 2003 yu 2001Lke ðMíke økýíkheLkk ykÄkhu rLkðko[Lk ûkuºkLkwt Mke{ktfLk fhðkLkwt 
sýkÔÞwt.

	 (A) {kºk 3	 (B) {kºk 1 yLku 2	 (C) {kºk 2 yLku 3	 (D) 1, 2 yLku 3

247.	 fkuE ÔÞÂõík yu MktMkËLkk MkËMÞ íkhefu [qtxkððk {kxu økuh÷kÞf XuhðkÞ Au òu .......... .

	 1. ¼khík Mkhfkh yÚkðk hkßÞ Mkhfkh nuX¤ çkeòu fkuE ÷k¼ ËkÞf nkuÆku Ähkðíke nkuÞ.

	 2. íku {wõík Lk®n Xhkðu÷e LkkËkh nkuÞ

	 3. �íkku íkuýe Mkhfkh su{kt ykuAk{kt ykuAku 25% sux÷ku rnMMkku Ähkðíke nkuÞ íkuðk rLkøk{{kt rLkÞk{f yÚkðk ÔÞðMÚkkÃkf 
yusLx íkhefu Lkku nkuÆku Ähkðíkku Lk nkuðku òuEyu.

	 (A) 1, 2 yLku 3	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 3	 (D) {kºk 1 yLku 2

248.	 rðÄkLk {tz¤{kt çkuðzwt (double) MkÇÞÃkËLke çkkçkík{k Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1. �òu fkuE ÔÞÂõík MktMkËLkk çktLku øk]nkuLkk MkËMÞ íkhefu ÃkMktË ÚkkÞ íkku íkuýu/íkuýeyu Ãkkuíku fÞk øk]n{kt òuzkððk EåAu Au íku 
30 rËðMkLke ytËh sýkððwt Ãkzu.

	 2. òu íku ykðe òý fhðk{kt rLk»kV¤ òÞ íkku íkuLke hkßÞMk¼kLke Mkex ¾k÷e Ãkzþu.

	 3. �òu fkuE ÔÞÂõík øk]n{kt çku çkuXf WÃkhÚke [qtxkÞu÷ nkuÞ íkku íkuýu fkuE yuf çkuXfLkku rðfÕÃk ykÃkðkLkku hnuþu yLÞÚkk çktLku 
çkuXfku ¾k÷e Ãkzu÷e økýkþu.

	 (A) 1, 2 yLku 3	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 3	 (D) {kºk 1 yLku 2

249.	 MktMkË{kt «Míkkðk çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku ÞkuøÞ heíku òuzkÞu÷k Au ?

	 1. �Mk¥kk Mkq[f «Míkkð (Substantive motion) íku MðÞt ÃkÞkoÃík Mðíktºk Ëh¾kMík Au fu su hk»xÙÃkrík Ãkh {nkr¼Þkuøk suðe 
yrík {n¥ðLke çkkçkík MkkÚku Mkt÷øLk Au.

	 2. �yðuS «Míkkð (Substitute motion) íku yuf {q¤ «MíkkðLke yðuS{kt [÷kððk{kt ykðíkku yðuS «Míkkð Au yLku 
íku {q÷ «MíkkðLkk rðfÕÃkLke Ëh¾kMík fhu Au.

	 3. �Mk{kÃkLk «Míkkð (Closure motion) íku «Míkkð yu MkÇÞ îkhk øk]n{kt fkuE {wÆk Ãkh [[koLku xqtfkððk {kxu fhðk{kt 
ykðíkku «Míkkð Au.

	 (A) 1, 2 yLku 3	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 3	 (D) {kºk 1 yLku 2

250.	 MktMkË{kt rðÄuÞfku çkkçkíku Lke[uLkk Ãkife fE òuze/òuzeyku ÞkuøÞ heíku òuzkÞu÷e Au ?

	 (A) MkkðosrLkf rðÄuÞf (Public Bill) : íkuLku øk]n{kt Ëk¾÷ fhðk {kxu 14 rËðMkLke LkkuxeMk sYhe Au.

	 (B) rçkLk Mkhfkhe rðÄuÞf (Private Bill) : íkuLku øk]n{kt Ëk¾÷ fhðk {kxu 1 {rnLkkLke LkkuxeMk sYhe Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª
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246.	 Which of the following statement(s) is/are correct regarding the composition of the  
Lok Sabha?

	 1. �The 42nd Constitutional Amendment Act 1976 froze the allocation of seats in the  
Lok Sabha to the states at 1971 census level.

	 2. This was again frozen by the 84th Amendment Act of 2001 for another 25 years.

	 3. �87th Constitutional Amendment Act 2003 provided for the delimitation of constituencies 
on the basis of 2001 census.

	 (A) 3 only	 (B) 1 and 2 only	 (C) 2 and 3 only	 (D) 1, 2 and 3

247.	 A person shall be disqualified for being elected as a Member of Parliament if ________.

	 1. he holds any office of profit under the Union or State Government.

	 2. he is an undischarged insolvent.

	 3. �he /she must not be a director or managing agent nor hold an office of profit in a corporation 
in which government has at least 25% share.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

248.	 Which of the following statements are correct regarding Double Membership in the 
legislatures?

	 1. �If a person is elected to both the Houses of Parliament he/she must intimate within 30 
days in which House he desires to serve.

	 2. If he/she fails to intimate, his seat in Rajya Sabha becomes vacant.

	 3. �If a person is elected to two seats in a House, he should exercise his option for one, 
otherwise both the seats become vacant.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

249.	 Which of the following pairs are correctly matched regarding the motions in the Parliament?

	 1. �Substantive Motion : It is a self-contained independent proposal dealing with a very 
important like impeachment of the President etc.

	 2. �Substitute Motion : It is a motion that is moved in substitution of an original motion and 
proposes an alternative to it.

	 3. �Closure Motion : It is a motion moved by a Member to cut short the debate on a matter 
before the House.

	 (A) 1, 2 and 3		  (B) 2 and 3 only

	 (C) 1 and 3 only		  (D) 1 and 2 only

250.	 Which of the pair(s) is/are correctly matched regarding the Bills in the Parliament?

	 (A) Public Bill – Its introduction in the House requires 14 days notice

	 (B) Private Bill – its introduction requires one month’s notice

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)
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251.	 ¼khíkeÞ LkkýkfeÞ ÔÞðMÚkk{kt (Indian Financial System) yLkwËkLk çkkçkíku Lke[uLkk Ãkife fE òuze/òuzeyku Mkk[e 
heíku òuzkÞu÷e Au ?
(A) �Ãkqhf yLkwËkLk : ßÞkhu su íku ð»ko {kxu MktMkË îkhk fkuE yuf Mkuðk {kxu Vk¤ððk{kt ykðu÷ hf{ yu yÃkqhíke nkuÞ íÞkhu 

yk yLkwËkLk {tsqh fhðk{kt ykðu Au.
(B) �ðÄkhkLkwt yLkwËkLk : [k÷w LkkýkfeÞ ð»ko ËhBÞkLk ßÞkhu fkuE Lkðe Mkuðk {kxu ðÄkhkLkk ¾[o çkkçkíku sYrhÞkík W¼e 

ÚkE nkuÞ íÞkhu {tsqh fhðk{kt ykðu Au.
(C) (A) yLku (B) çktLku
(D) (A) yLku (B) Ãkife fkuE Lknª

252.	 Lke[uLkk Ãkife fÞk ykÄkh Ãkh ÄkhkfeÞ yrÄrLkÞ{ yÚkðk fkhkuçkkheLke çktÄkhýeÞ {kLÞíkkyu Wå[ík{ LÞkÞk÷Þ yLku 
ðze yËk÷íkLku Ãkzfkhe þfkÞ Au ?

	 (A) íku Mk¥kkrÄfkhe fu suýu íkuLku h[e Au íkuLke Mk¥kkLke çknkhLke çkkçkík Au.
	 (B) íku çktÄkhýeÞ òuøkðkEykuLkku ríkhMfkh fhíke nkuÞ

(C) (A) yLku (B) çktLku
(D) (A) yLku (B) Ãkife fkuE Lknª

253.	 Lke[uLkk Ãkife fÞk rðÄkLkku yu rðÄkLk Ãkrh»kËLke MktÏÞk yLku h[Lkk çkkçkíku Mkk[kt Au ?
1. �rðÄkLk Ãkrh»kËLkk MkÇÞkuLke fw÷ MktÏÞk íkku hkßÞLke rðÄkLkMk¼kLkk MkÇÞkuLke fw÷ MktÏÞkLkk yuf ík]íkeÞktþ fhíkkt ðÄw

hnuþu Lk®n.
2. rðÄkLk Ãkrh»kËLkk MkÇÞkuLke fw÷ MktÏÞk ykuAk{kt ykuAe 40Lke hnuþu.
3. rðÄkLk Ãkrh»kËLkk fw÷ MkÇÞku{ktÚke 4/6 ([kh A ¢{ktþ) MkÇÞku Ãkhkuûk heíku [qtxkÞu÷k nkuÞ Au.
(A) 1, 2 yLku 3	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 2	 (D) {kºk 1 yLku 3

254.	 fuLÿeÞ ðneðxe íkÃkkMk Ãkt[ (Central Administrative Tribunal) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?
1. nk÷{kt Mk{økú ¼khík{kt íkuLke 17 fkÞ{e ¾tzÃkeXkuAu.
2. CAT Lkwt yrÄfkh ûkuºk yr¾÷ ¼khíkeÞ Mkuðk yLku fuLÿeÞ Mkuðk MkwÄe rðMík]ík Au.
3. �¾kMk ÃkhðkLkøke MkkÚku Wå[ík{ LÞkÞk÷ÞLkk yrÄfkheyku yLku f{o[kheyku íku{s MktMkËLkk Mkr[ðk÷ÞLkk f{o[kheyku

yk yrÄfkh ûkuºk nuX¤ Mk{krðü ÚkkÞ Au.
4. �Wå[ík{ LÞkÞk÷ÞLkk ðíko{kLk LÞkÞkÄeþLke yæÞûíkk nuX¤Lke Wå[ Mk¥kkrÄfkhe ÃkMktËøke Mkr{ríkLke ¼÷k{ýkuLkk

ykÄkhu CATLkk MkÇÞku Lk¬e fhðk{kt ykðu Au.
(A) 1, 2, 3 yLku 4	 (B) {kºk 2, 3 yLku 4	 (C) {kºk 1, 2 yLku 4	 (D) {kºk 2 yLku 3

255.	 økúk{ LÞkÞk÷Þku çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?
1. økúk{ LÞkÞk÷ÞkuLke MÚkkÃkLkk økúk{ LÞkÞk÷Þ yrÄrLkÞ{ 2008 ytíkøkoík fhðk{kt ykðe Au.
2. LÞkÞk÷ÞLkk «{w¾ yrÄfkheLke rLkÞwÂõíkyu hkßÞ Mkhfkh îkhk ðze yËk÷íkLkk Mk÷kn Mkq[Lk yLkwMkkh fhðk{kt ykðu Au.
3. �økúk{ LÞkÞk÷Þku yu Vhíke yËk÷ík (Mobile Court) Au yLku íku VkusËkhe yLku ËeðkLke yËk÷ík çktLku Mk¥kkLkku WÃkÞkuøk

fhe þfu Au.
4. økúk{ LÞkÞk÷ÞLke çkuXf yu rsÕ÷k Ãkt[kÞíkLkk {wÏÞ {Úkf ¾kíku ÂMÚkík nþu.
(A) 1, 2, 3 yLku 4	 (B) {kºk 1, 2 yLku 3	 (C) {kºk 2, 3 yLku 4	 (D) {kºk 1 yLku 3
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251.	 Which of the following pair(s) is/are correctly matched regarding the grants in Indian financial 
system?

	 (A) �Supplementary Grant – It is granted when the amount authorized by the Parliament for 
one service is insufficient for that year.

	 (B) �Additional Grant – It is granted when a need has arisen during the current financial year 
for additional expenditure for a new service.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

252.	 On which of the following grounds the Constitutional validity of a legislative enactment or 
an executive can be challenged in the Supreme Court and High Court?

	 (A) It is outside the competence of the authority which has framed it.

	 (B) If it is repugnant to the constitutional provisions

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

253.	 Which of the following statements are correct regarding Strength and Composition of 
Legislative Council?

	 1. �The maximum strength of the council is fixed at one-third of the total members of the 
Legislative Assembly.

	 2. �The minimum strength of the Legislative Council is fixed at 40.

	 3. The 4/6 (four-sixth) of the total members of the Legislative Council are indirectly elected.

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 2 only	 (D) 1 and 3 only

254.	 Which of the following statements are correct regarding Central Administrative Tribunal?

	 1. At present it has 17 regular benches all over India.

	 2. CAT jurisdiction extends to the All India Service, Central Services.

	 3. �Officers & servants of the Supreme Court and secretarial staff of the Parliament are also 
covered under this jurisdiction with special permission.

	 4. �The members of CAT are made on the basis of recommendations of high powered 
selection committee chaired by a sitting judge of the Supreme Court.

	 (A) 1, 2, 3 and 4	 (B) 2, 3 and 4 only	 (C) 1, 2 and 4 only	 (D) 2 and 3 only

255.	 Which of the following statements are correct regarding Gram Nyayalayas?

	 1. The Gram Nyayalayas are established under the Gram Nyayalayas Act of 2008.

	 2. �The presiding officer of the Nyayalayas shall be appointed by the State Government in 
consultation with High Court.

	 3. �The Gram Nyayalayas shall be a mobile court and shall exercise the powers of both 
criminal and civil courts.

	 4. �The seat of the Gram Nyayalayas will be located at the headquarters of the zilla panchayat.

	 (A) 1, 2, 3 and 4	 (B) 1, 2 and 3 only	 (C) 2, 3 and 4 only	 (D) 1 and 3 only
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256.	 yLkwåAuË 371 ytíkøkoík hkßÞLkk rðrþü rðfkMk çkkuzo ytíkøkoík Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt LkÚke ?

	 (A) yk yLkwåAuË nuX¤ rðË¼o, Mkkihk»xÙ yLku fåA{kt y÷kÞËk rðfkMk çkkuzo Au.

	 (B) yk çkkuzoLkk ynuðk÷kuyu «íÞuf ð»kuo MktMkË Mk{ûk hsq fhðk{kt ykðu Au.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª

257.	 PESA yrÄrLkÞ{, 1996 Lkk nuíkwyku çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 1. Ãkt[kÞík MktçktÄe çktÄkhýLke IX{e yLkwMkqr[Lke òuøkðkEyku yu Ãkkt[{e yLkwMkqr[Lkk ûkuºkkuLku ÷køkw Ãkzíke LkÚke.

	 2. nk÷{kt ÃktËh hkßÞku Ãkkt[{e yLkwMkqr[Lkk ûkuºkku Ähkðu Au.

	 3. íkr{÷Lkkzw, fýkoxf yLku fuh¤ hkßÞku Ãkkt[{e yLkwMkqr[Lkk ûkuºkku Ähkðu Au.

	 (A) 1, 2 yLku 3	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 3	 (D) {kºk 1

258.	 rsÕ÷k ykÞkusLk Mkr{rík çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku Mkk[wt / Mkk[kt Au ?

	 (A) rsÕ÷k ykÞkusLk Mkr{ríkyu Ãkt[kÞíkku yLku LkøkhÃkkr÷fkyku îkhk íkiÞkh fhðk{kt ykðu÷e ÞkusLkkykuLku yufrºkík fhu Au.

	 (B) �rsÕ÷k ykÞkusLk Mkr{ríkLkk 4/5 MkËMÞkuyu rsÕ÷k Ãkt[kÞíkku yLku Lkøkh Ãkkr÷fkykuLkk [qtxkÞu÷k MkÇÞku îkhk [qtxkÞu÷k 
nkuðk òuEyu.

	 (C) (A) yLku (B) çktLku

	 (D) (A) yLku (B) Ãkife fkuE Lknª

259.	 Mkt½ hkßÞ ûkuºkku (Union Territories) çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku Mkk[kt Au ?

	 1. r{Íkuh{ yLku yYýk[÷ «Ëuþ yu Mkt½hkßÞ ûkuºkku níkk su çkkË{kt Ãkqýo hkßÞku íkhefu ÃkrhðŠíkík ÚkÞk.

	 2. 1961 ð»ko{kt [tËeøkZ yu Mkt½hkßÞ ûkuºk íkhefu ½kur»kík ÚkÞwt.

	 3. {rýÃkwh yLku rºkÃkwhk yu Mkt½ hkßÞ ûkuºkku níkk su çkkË{kt Ãkqýo hkßÞku íkhefu ÃkrhðŠíkík ÚkÞk.

	 (A) 1, 2 yLku 3	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 3	 (D) {kºk 1 yLku 2

260.	 Lke[uLkk Ãkife fE òuzeyku Mkk[e heíku òuzkÞu÷e Au ?

	 1. ÃkAkík ðøkkuo {kxuLkwt hk»xÙeÞ ykÞkuøk – yæÞûk, WÃkkæÞûk yLku 3 MkÇÞku

	 2. {rn÷kyku {kxuLkwt hk»xÙeÞ ykÞkuøk – yæÞûk, WÃkkæÞûk yLku 4 MkÇÞku

	 3. yLkwMkqr[ík òrík {kxuLkwt hk»xÙeÞ ykÞkuøk – yæÞûk, WÃkkæÞûk yLku 3 MkÇÞku

	 (A) 1, 2 yLku 3	 (B) {kºk 2 yLku 3	 (C) {kºk 1 yLku 3	 (D) {kºk 1 yLku 2

261.	 800 y™u 1000 ðå[u fux÷k …qýoð„o …qýkOfku Au ?
	 (A) 3		  (B) 4

	 (C) 5		  (D) WÃkh Ãkife yuf Ãký Lknª

262.	 14 ÷kufku yuf ðŒwo¤kfkh xuƒ÷™e VhŒu ƒuXk Au. Œku ƒu [ku¬‚ ÔÞrõŒyku òuzu s ƒu‚u Œu™e ‚t¼kð™k fux÷e ?

	 (A) 1/13		  (B) 2/13

	 (C) 1/7		  (D) WÃkh Ãkife yuf Ãký Lknª
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256.	 Which of the following statement(s) is/are INCORRECT regarding Special development 
boards of states under Article 371?

	 (A) Separate development boards for Vidharbha, Saurashtra and Kutch under this article.

	 (B) The reports of these boards would be placed every year before the Parliament.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

257.	 Which of the following statement(s) is/are correct regarding the objectives of the PESA Act 
of 1996?

	 1. �The provisions of IX Schedule of the Constitution relating to the panchayats are not 
applicable to the Fifth Schedule Areas.

	 2. At present fifteen States have Fifth Schedule Areas.

	 3. Tamil Nadu, Karnataka and Kerala are the states which have Fifth Schedule Areas.

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1 only

258.	 Which of the following statement(s) is/are correct regarding the District Planning Committee?

	 (A) �District Planning Committee consolidates the plans prepared by Panchayats and 
Municipalities.

	 (B) �The Four-Fifths of the members of a District Planning Committee should be elected by 
the elected members of the district panchayats and municipalities.

	 (C) Both (A) and (B)

	 (D) Neither (A) nor (B)

259.	 Which of the following statements are correct regarding Union territories?

	 1. �Mizoram and Arunachal Pradesh were Union territories later changed as full-fledged 
States

	 2. Chandigarh was declared as Union territory in the year 1961.

	 3. Manipur and Tripura were the Union territories later changed as the full-fledged States.

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1 and 2 only

260.	 Which of the following pairs are correctly matched?

	 1. National Commission for Backward Classes – Chairman, Vice-chairman and 3 members

	 2. National Commission for Women – Chairman, Vice-Chairman, and 4 members

	 3. National Commission for Scheduled Caste – Chairman, Vice-Chairman and 3 members

	 (A) 1, 2 and 3	 (B) 2 and 3 only	 (C) 1 and 3 only	 (D) 1 and 2 only

261.	 How many perfect square integers are there between 800 and 1000 ?

	 (A) 3	 (B) 4	 (C) 5	 (D) None of the above

262.	 14 people sit around a circular table. What is the probability of two particular people sitting 
together ?

	 (A) 1/13	 (B) 2/13	 (C) 1/7	 (D) None of the above
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263.	 yuf xÙu™ 400 {exh ÷ktƒwt ƒku„Ëwt …‚kh fhðk {kxu yzÄe r{r™x™ku ‚{Þ ÷u Au. sku xÙu™™e ÷tƒkR 100 {exh nkuÞ Œku 
xÙu™™e Íz… fux÷enþu ?

	 (A) 55 rf{e/f÷kf		  (B) 58 rf{e/f÷kf

	 (C) 60 rf{e/f÷kf		  (D) WÃkh Ãkife yuf Ãký Lknª

*	 r™Ëuoþ (264 – 268) : ™e[u yk…u÷e rð„Œku™ku yÇÞk‚ fhe yk…u÷k «§ku™k W¥kh þkuÄku.

	 yuf þk¤k{kt fw÷ 1200 rðãkÚkeoyku yÇÞk‚ fhu Au. þk¤k{kt Äkuhý 6 Úke 10 ™k 5 ð„kuo Au. þk¤k{kt Akufhkyku y™u 
Akufheyku™e ‚tÏÞk™ku „wýku¥kh 7 : 5 Au. Äkuhý 8 {kt 2/3 rðãkÚkeoyku Akufhkyku Au. þk¤k™k fw÷ rðãkÚkeoyku …ife 20% 
rðãkÚkeoyku Äkuhý 7 {kt Au. Äkuhý 6 {kt Akufheyku™e ‚tÏÞk 80 Au. Äkuhý 8 {kt fw÷ rðãkÚkeoyku 360 Au. Äkuhý 9 {kt 
Akufhkyku™e ‚tÏÞk Œu{kt Akufheyku™e ‚tÏÞk fhŒk 125% sux÷e Au, ßÞkhu Äkuhý 9 {kt Akufheyku™e ‚tÏÞk þk¤k{kt 
fw÷ Akufheyku™e ‚tÏÞk fhŒk 20% sux÷e Au. Äkuhý 10 {kt 75 Akufheyku Au. Äkuhý 7 {kt Akufhkyku y™u Akufheyku™e 
‚tÏÞk™ku „wýku¥kh 23 : 25 Au.

264.	 Äkuhý 8 {kt Akufhkyku™e ‚tÏÞk y™u Äkuhý 7 {kt Akufheyku™e ‚tÏÞk™ku „wýku¥kh fux÷ku Au ?

	 (A) 48 : 25		  (B) 45 : 28

	 (C) 24 : 35		  (D) WÃkh Ãkife yuf Ãký Lknª

265.	 òu Äkuhý 6 {kt fw÷ rðãkÚkeoyku™e ‚tÏÞk 200 nkuÞ, Œku Äkuhý 6, 7 y™u 8 ™k fw÷ rðãkÚkeoyku™e ‚tÏÞk þk¤k™k fw÷ 
rðãkÚkeoyku™e ‚tÏÞk™k fux÷k xfk Au ?

	 (A) 48.55%		  (B) 67.85%

	 (C) 57.76%		  (D) WÃkh Ãkife yuf Ãký Lknª

266.	 Äkuhý 7, 8 y™u 9 ™k fw÷ Akufhkyku™e ‚tÏÞk™e ‚huhkþ y™u Äkuhý 6,7 y™u 8 ™e fw÷ Akufheyku™e ‚tÏÞk™e ‚huhkþ™ku 
ŒVkðŒ ykþhu fux÷ku Au ?

	 (A) 48.25		  (B) 51.67

	 (C) 58.97		  (D) WÃkh Ãkife yuf Ãký Lknª	

267.	 òu Äkuhý 10 {kt rðãkÚkeoyku™e ‚tÏÞk 100 nkuÞ Œku, Äkuhý 8 ™e Akufheyku y™u Äkuhý 6 ™e Akufheyku™e ‚tÏÞk™k 
ŒVkðŒ fhŒk, Äkuhý 10 ™k Akufhkyku y™u Äkuhý 9 ™k Akufhkyku™e ‚tÏÞk™ku ŒVkðŒ fux÷ku ykuAku Au ?

	 (A) 25		  (B) 40

	 (C) 45		  (D) WÃkh Ãkife yuf Ãký Lknª

268.	 Äkuhý 7, 8 y™u 9 {kt rðãkÚkeoyku™e fw÷ ‚tÏÞk fux÷e Au ?
	 (A) 925		  (B) 746

	 (C) 825		  (D) WÃkh Ãkife yuf Ãký Lknª

269.	 7 ™k «Úk{ 21 „wýfku™e ‚huhkþ fux÷e Úkþu ?
	 (A) 49		  (B) 66

	 (C) 77		  (D) WÃkh Ãkife yuf Ãký Lknª
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263.	 A train takes half a minute to cross a tunnel of 400 m long. If the length of the train is  
100 m what is the speed of the train ?

	 (A) 55 km/hr		  (B) 58 km/hr

	 (C) 60 km/hr		  (D) None of the above

*	 Directions (264 – 268) : Study the following information carefully and answer the questions 
given below:

	 A total of 1200 students are studying in a school. There are 5 classes in the school from 
standards 6 to 10. The ratio of the number of boys to girls in school is 7: 5. In class 8,  
2/3rd of total students are boys. 20% of total students in school belongs to class 7. The 
number of girl students in class 6 is 80. The total number of students in class 8 is 360. 
Number of boys in class 9 is 125% of number of girls in that class, where the number of girls 
in class 9 is 20% of total number of girls in the school. Class 10 has 75 girls. The ratio of the 
number of boys to girls in class 7 is 23 : 25.

264.	 What is the ratio between the no. of boys in class 8 and the no. of girls in class 7 ?

	 (A) 48 : 25		  (B) 45 : 28

	 (C) 24 : 35		  (D) None of the above

265.	 If the total no. of students in class 6 is 200, the no. of boys from classes 6, 7 and 8 together 
form what % of total no. of boys in school ?

	 (A) 48.55%		  (B) 67.85%

	 (C) 57.76%		  (D) None of the above

266.	 What is the difference between the average number of boys from classes 7, 8 and 9 together 
and the average number of girls from classes 6, 7 and 8 together approximately ?

	 (A) 48.25		  (B) 51.67

	 (C) 58.97		  (D) None of the above

267.	 If the no. of boys in class 10 is 100, the difference between number of class 10 boys and 
class 9 boys is how much less than the difference between number of class 8 girls and  
class 6 girls ?

	 (A) 25		  (B) 40

	 (C) 45		  (D) None of the above

268.	 What is the total number of students in classes 7, 8 and 9 ?

	 (A) 925		  (B) 746

	 (C) 825		  (D) None of the above

269.	 What is the average of first 21 multiples of 7 ?

	 (A) 49		  (B) 66

	 (C) 77		  (D) None of the above
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270.	 yuf ‚{½™™e ‚…kxe™wt ûkuºkV¤ 1350 [ku {e nkuÞ Œku, Œu™e «íÞuf ƒksw™e ÷tƒkE fux÷e nþu ?
	 (A) 5 {exh		  (B) 15 {exh
	 (C) 27 {exh		  (D) WÃkh Ãkife yuf Ãký Lknª

271.	 sku yuf ÔÞrõŒ 8 rf{e/f÷kf ™e Íz…u 24 rf{e [k÷u Œku Œu 25 r{r™x {kuzku …nkut[u Au. sku Œu yux÷wt s ytŒh 12 rf{e/
f÷kf™e Íz…u [k÷u Œku fux÷ku ðnu÷ku …nkut[þu ?

	 (A) 35 r{r™x		  (B) 45 r{r™x
	 (C) 65 r{r™x		  (D) WÃkh Ãkife yuf Ãký Lknª

272.	 ËqÄ y™u …kýe™k 3:1 «{ký™k 24 r÷xh™k r{©ý{kt 8 r÷xh …kýe W{uhðk{kt ykðu Au. Œku …rhýk{u {¤Œk r{©ý{kt 
ËqÄ y™u …kýe™wt «{ký fux÷wt Úkþu ?

	 (A) 7 : 8		  (B) 7 : 9
	 (C) 9 : 7		  (D) WÃkh Ãkife yuf Ãký Lknª

273.	 M y™u R y™w¢{u Yk. 12,000 yLku Yk. 15,000™wt hkufký fhe yuf ÔÞð‚kÞ þY fhu Au. Q fux÷wtf hkufký fhe Œu{™e 
‚kÚku òuzkÞ Au. su ‚{Þ {kxu Œuyku {qzehkufký fhu Au Œu y™w¢{u 5 ð»ko, 6 ð»ko y™u 8 ð»ko Au. fw÷ ™Vku Yk. 28,382 ÚkkÞ 
Au su{ktÚke R ™ku ¼k„ Y 11,106 Au. Œku Q yu ÔÞð‚kÞ{kt fux÷e {qze™wt hkufký fÞwO nþu ?

	 (A) Yk. 10,000		  (B) Yk. 12,000

	 (C) Yk. 15,000		  (D) WÃkh Ãkife yuf Ãký Lknª
274.	 X yuf fk{ 24 rËð‚{kt y™u Y Œu s fk{ 36 rËð‚{kt fhu Au. òu X ºký rËð‚ fk{ fhu y™u Yk. 3,600 {u¤ðu, ŒÚkk 

ƒkfe™wt fk{ Y îkhk …qýo fhðk{kt ykðu Œku, Y yu fux÷k Yr…Þk {u¤ÔÞk nþu ?
	 (A) Yk. 22,500		  (B) Yk. 25,200

	 (C) Yk. 28,800		  (D) WÃkh Ãkife yuf Ãký Lknª

275.	 yuf ‚ktfurŒf ¼k»kk{kt þçË ‘RADIOCHEMIST’ ™u ‘TBFJQDJFOJUU’ Œhefu ÷¾ðk{kt ykðu Œku Œu s ‚ktfurŒf 
¼k»kk{kt ‘MICROBIOLOGY’ fE heŒu ÷¾kþu ?

	 (A) OJDTQCJQQHZ		  (B) OKDTQCJQMQHZ

	 (C) OKDTPDJQMQHA	 (D) WÃkh Ãkife yuf Ãký Lknª

*	 r™Ëuoþ : (276 – 279) : ™e[u™e rð„Œku™ku æÞk™ …qðof yÇÞk‚ fhku y™u ™e[u yk…u÷k «§ku™k W¥kh yk…ku.
	 yuf ‚ktfurŒf ¼k»kk{kt,
	 ‘speak nicely to all’ ™ku ‚tfuŒ “ka cu ma he”

	 ‘all are like us’ ™ku ‚tfuŒ “sifo he to”

	 ‘teach us lesson nicely’ ™ku ‚tfuŒ “po ma fo re”

	 ‘lesson like all humans’ ™ku ‚tfuŒ “he re gusi” Au.

276.	 yk…u÷ ¼k»kk{kt ‘are’ ™ku ‚tfuŒ fÞku Au ?
	 (A) si		  (B) to

	 (C) fo		  (D) WÃkh Ãkife yuf Ãký Lknª
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270.	 If the surface area of a cube is 1350 sq. m, what is length of its each side ?

	 (A) 5 m		  (B) 15 m

	 (C) 27 m		  (D) None of the above

271.	 If a man walks 24 Km at 8 Km/hr, he will be late by 25 min. If he walks same distance at  
12 Km/hr, how early will he reach ?

	 (A) 35 min		  (B) 45 min

	 (C) 65 min		  (D) None of the above

272.	 Eight litres of water is added to 24 litres of a solution containing milk and water in the ratio 
3:1. What is the ratio of milk to water in the resulting solution ?

	 (A) 7 : 8		  (B) 7 : 9

	 (C) 9 : 7		  (D) None of the above

273.	 M and R started a business by investing Rs. 12,000 and Rs. 15,000 respectively. Q joined 
them with some investment. The time for which they invested their capital is 5 years, 6 years 
and 8 years respectively. The total profit occurred from the business is Rs. 28,382 out of 
which share of R is Rs. 11,106. Then how much amount has Q invested in the business ?

	 (A) Rs. 10,000		  (B) Rs. 12,000

	 (C) Rs. 15,000		  (D) None of the above

274.	 X can do a piece of work in 24 days and Y can do the same work in 36 days. If X works for 
three days and got Rs. 3,600, and the remaining work is completed by Y, then how much 
rupee Y earned ?

	 (A) Rs. 22,500		  (B) Rs. 25,200

	 (C) Rs. 28,800		  (D) None of the above

275.	 In a certain code language the word ‘RADIOCHEMIST’ is written as ‘TBFJQDJFOJUU’ then 
how would ‘MICROBIOLOGY’ be written in that code language ?

	 (A) OJDTQCJQQHZ		  (B) OKDTQCJQMQHZ

	 (C) OKDTPDJQMQHA		  (D) None of the above

*	 Directions : (276 – 279) : Read the information carefully and answer the questions given 
below:

	 In a certain code language, 

	 ‘speak nicely to all’ is coded as “ka cu ma he”

	 ‘all are like us’ is coded as “sifo he to”

	 ‘teach us lesson nicely’ is coded as “po ma fo re”

	 ‘lesson like all humans’ is coded as “he re gusi”

276.	 What is the code for ‘are’ in the given language ?

	 (A) si		  (B) to

	 (C) fo		  (D) None of the above
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277.	 ‘humans teach’ {kxu™ku ‚tfuŒ fÞku nþu ?
(A) gufo	 (B) he fo

(C) gupo	 (D) WÃkh Ãkife yuf Ãký Lknª

278.	 ‘speak to me’ {kxu™ku ‚tfuŒ fÞku nþu ?
(A) maka go	 (B) lo ma fo

(C) re ma ku	 (D) WÃkh Ãkife yuf Ãký Lknª

279.	 ‘nicely’ {kxu™ku ‚tfuŒ fÞku Au ?
(A) he	 (B) ma

(C) si	 (D) WÃkh Ãkife yuf Ãký Lknª

* r™Ëuoþ (280 – 281) : ™e[u™e rð„Œku™ku æÞk™…qðof yÇÞk‚ fhku y™u Œu™e ™e[u yk…u÷k «§ku™k W¥kh yk…ku :

P, Q, R, S, T y™u U yuf s {fk™{kt yuf Úke A ™tƒh™k y÷„ y÷„ {k¤ …h hnu Au (¼kUÞŒr¤Þk™k {k¤™u
1 ™tƒh, Œu™e ŒhŒ W…h™k {k¤™u 2 ™tƒh y™u yk„¤ Œu heŒu ™tƒh yk…u÷k Au ŒÚkk ‚kiÚke W…h™k {k¤™u 6 ™tƒh
ykÃÞku Au). P yu Þwø{ ‚tÏÞk™k {k¤ …h hnu Au. S y™u U su {k¤ …h hnu Au Œu{™e ðå[u 2 {k¤ Au. U su {k¤ …h
hnu Au Œu S ™k {k¤™e W…h Au. S 2 ™tƒh™k {k¤ …h hnuŒku ™Úke. Q yÞwø{ ‚tÏÞk™k {k¤ …h hnuŒku ™Úke. R yu U
™k {k¤™e ™e[u™k fkuR {k¤ …h hnuŒku ™Úke. T yu Q ™e ŒhŒ W…h fu ŒhŒ ™e[u™k {k¤ …h hnuŒku ™Úke.

280.	 S y™u U ™e ƒhkƒh ðå[u™k {k¤ …h fkuý hnu Au ?
(A) T, P		 (B) R, Q

(C) T, R		 (D) WÃkh Ãkife yuf Ãký Lknª

281.	 Q fÞk {k¤ …h hnu Au ?

	 (A) Aak (B) [kuÚkk

	 (C) ƒeò (D) ™¬e ™ fhe þfkÞ

282.	 yuf ‚tÏÞk 81943275 ™k «Úk{ y™u …kt[{k ytf™e yË÷kƒË÷e fhðk{kt ykðu Au. Œus heŒu, ƒeò y™u Aêk ytf™e 
y™u yu s heŒu yk„¤ [kuÚkk y™u ykX{k ytf ‚wÄe™k ytfku™e yË÷kƒË÷e fhðk{kt ykðu Au. Œku yk yË÷kƒË÷e ƒkË 
s{ýk AuzkÚke ºkeòu ytf fÞku nþu ?
(A) 1		 (B) 9

(C) 2		 (D) WÃkh Ãkife yuf Ãký Lknª

283.	 yuf ð„o{kt M ™ku huLf W…hÚke ykX{ku y™u ™e[uÚke 17{ku Au. Œku Œu ð„o{kt fux÷k rðãkÚkeoyku nþu ?
(A) 24		  (B) 25

(C) 26		  (D) WÃkh Ãkife yuf Ãký Lknª

284.	 ™e[u …ife fÞku rðfÕ… ƒkfe™k ºký ‚kÚku ƒtÄƒu‚Œku ™Úke ?

	 (A) Vkuƒku‚ (B) xkRx™

	 (C) Þwhku…k (D) ‚ehu‚
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277.	 What would be the code for “humans teach” ?

(A) gufo		 (B) he fo

(C) gupo		 (D) None of the above

278.	 What would be the code for ‘speak to me’ ?

(A) maka go		 (B) lo ma fo

(C) re ma ku		 (D) None of the above

279.	 What would be the code for ‘nicely’ ?

(A) he		 (B) ma

(C) si		 (D) None of the above

* Directions (280 – 281) : Read the following information carefully and answer the questions
which follow:

P, Q, R, S, T and U live on different floors in the same building having six floors numbered
one to six (the ground floor is numbered 1, the floor immediately above it number 2 and so
on and the topmost floor is numbered 6). P lives on an even numbered floor. There are two
floors between the floors on which S and U live. U lives on a floor above S’s floor. S does not
live on floor number 2. Q does not live on an odd numbered floor. R does not live on any of
the floors below U’s floor. T does not live on a floor immediately above or immediately below
the floor on which Q lives.

280.	 Who amongst the following live on the floors exactly between S and U ?

(A) T, P		  (B) R, Q

(C) T, R		  (D) None of the above

281.	 On which of the following floors does Q live ?

(A) 6th		 (B) 4th

(C) 2nd		 (D) Cannot be determined

282.	 The positions of the first and the fifth digits of the number 81943275 are interchanged. 
Similarly, the positions of the second and the sixth digits are interchanged and so on till the 
fourth and the eighth digits. Which of the following will be the third digit from the right end 
after the rearrangement ?

(A) 1		 (B) 9

(C) 2		 (D) None of the above

283.	 M ranked 8th from top and 17th from bottom in a class. How many students are there in the 
class ?

(A) 24		  (B) 25

(C) 26		  (D) None of the above

284.	 Which of the following option does not fit with other three ?

(A) Phobos		 (B) Titan

(C) Europa		 (D) Ceres
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285.	 ™e[u™e {krnŒe™ku {æÞf fux÷ku Úkþu ?

	

W{h (ð»ko{kt)  10 15 14 8 12 

Akufhkyku™e ‚tÏÞk  3 2 6 4 5 

	 (A) 10.8		  (B) 11.8

	 (C) 12		  (D) WÃkh Ãkife yuf Ãký Lknª

286.	 ™e[u™e ©uýe{kt yk„k{e …Ë fÞw nþu ?
	 EJO, TYD, INS, XCH, ( ?)
	 (A) MSX		  (B) NSX

	 (C) NRW		  (D) WÃkh Ãkife yuf Ãký Lknª

287.	 M™k r…Œk yu N ™k s{kE Au. M ™e ƒnu™ Q yu P ™e …wºke Au. P ™ku N ‚kÚku fÞku ‚tƒtÄ Au ?

	 (A) …wºke		  (B) …wºkðÄw

	 (C) s{kE		  (D) r™rùŒ fhe ™ þfkÞ

288.	 òu yuf ÷tƒ[kuh‚™wt ûkuºkV¤ 1440 [ku ‚u{e nkuÞ y™u Œu™e ƒkswyku 8:5 ™k „wýku¥kh{kt nkuÞ Œku Œu ÷tƒ[kuh‚™e  
…rh{eŒe fux÷e Úkþu ?

	 (A) 104 ‚u{e		  (B) 156 ‚u{e

	 (C) 312 ‚u{e		  (D) WÃkh Ãkife yuf Ãký Lknª

289.	 P yu Q fhŒk 150% ðÄw fkÞoûk{ Au y™u Q yu R fhŒk 20% ykuAku fkÞoûk{ Au. òu R [kuÚkk ¼k„™wt fk{ 5 rËð‚{kt 
fhu, Œku P, Q y™u R yuf‚kÚku {¤e fux÷k rËð‚{kt fk{ …qýo fhþu ?

	 (A) 5
5

19
 rËð‚		  (B) 8

5

19
 rËð‚

	 (C) 6
5

19
 rËð‚		  (D) WÃkh Ãkife yuf Ãký Lknª

290.	 16641 ™wt ð„o{q¤ fux÷w Úkþu ?
	 (A) 121		  (B) 131

	 (C) 129		  (D) 211

291.	 K Œu™k ™„hÚke þnuh™ku «ðk‚ fhu Au. Œu ‚kÞf÷ …h 25 rf{e/f÷kf™e Íz…u þnuh òÞ Au y™u 4 rf{e/f÷kf™e Íz…u 
…hŒ Vhu Au. òu Œu™u Œu™e Þkºkk …qhe fhðk{kt 5 f÷kf y™u 48 r{r™x ÷k„u, Œku Œu™k ™„h y™u þnuh ðå[u™wt ytŒh fux÷wt 
Úkþu ?

	 (A) 15 rf{e		  (B) 22 rf{e

	 (C) 25 rf{e		  (D) WÃkh Ãkife yuf Ãký Lknª

292.	 45 rðãkÚkeoyku™k yuf ð„o{kt, Akufhkyku y™u Akufheyku™e ‚tÏÞk™ku „wýku¥kh 5:4 Au. Akufhkyku™e ‚huhkþ ô{h 36 
ð»ko y™u Akufheyku™e ‚huhkþ ô{h 22.5 ð»ko Au. ð„o™e ‚huhkþ ô{h fux÷e Úkþu ?

	 (A) 30 ð»ko		  (B) 32 ð»ko

	 (C) 34 ð»ko		  (D) WÃkh Ãkife yuf Ãký Lknª
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285.	 What is the mean of following data ?

Age in years 10 15 14 8 12

No of Students 3 2 6 4 5

	 (A) 10.8		  (B) 11.8

	 (C) 12		  (D) None of the above

286.	 What will be next term in following series ?

	 EJO, TYD, INS, XCH, ( ?)

	 (A) MSX		  (B) NSX

	 (C) NRW		  (D) None of the above

287.	 M’s father is N’s son-in-law. M’s sister Q is the daughter of P. How is P related to N ?

	 (A) Daughter		  (B) Daughter-in-law

	 (C) Son-in-law		  (D) Cannot be determined

288.	 If the area of rectangle equals to 1440 sq cm and its sides are in the ratio of 8:5, then what 
is the perimeter of the rectangle ?

	 (A) 104 cm		  (B) 156 cm

	 (C) 312 cm		  (D) None of the above

289.	 P is 150% more efficient than Q and Q is 20% less efficient than R. If R completes one-fourth 
of the work in 5 days, then in how many days P, Q and R together can complete the work ?

	 (A) 5
5

19
 days		  (B) 8

5

19
 days

	 (C) 6
5

19
 days		  (D) None of the above

290.	 The square root of 16641 is ?

	 (A) 121		  (B) 131

	 (C) 129		  (D) 211

291.	 K travels from his town to city. He goes to city by bicycle at the speed of 25 km/h and comes 
back at the speed of 4 km/h. If he takes 5 hours and 48 min to complete his journey, what is 
the distance between his town and city ?

	 (A) 15 km		  (B) 22 km

	 (C) 25 km		  (D) None of the above

292.	 In a class of 45 students, boys and girls are in the ratio of 5 : 4. The average age of boys is 
36 years and that of girls is 22.5 years. What is the average age of the class ?

	 (A) 30 years		  (B) 32 years

	 (C) 34 years		  (D) None of the above
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293.	 6 …wY»kku y™u 5 Mºkeyku{ktÚke 3 ‚ÇÞku™e ‚r{rŒ ƒ™kððk™e Au. Œku ‚r{rŒ{kt ykuAk{kt ykuAe 2 Mºkeyku nkuÞ Œu™e 
‚t¼kð™k fux÷e ?
(A) 14/37		  (B) 14/33

(C) 16/33		  (D) WÃkh Ãkife yuf Ãký Lknª

294.	 Yyu fux÷ef hf{™k 25% X ™u ykÃÞk. X yu «kÃík fhu÷ hf{{ktÚke, Œuýu 20% …wMŒfku ¾heËðk{kt y™u 35% 
½rzÞk¤ ¾heËðk{kt ¾[o fÞko. Ëþkoðu÷ ¾[o fÞko ƒkË, X …k‚u Yk. 2,700 ƒåÞk. Œku Y …k‚u þYykŒ{kt fux÷k  
Yr…Þk nþu ?

	 (A) Yk. 16,000 (B) Yk. 15,000

	 (C) Yk. 24,000 (D) WÃkh Ãkife yuf Ãký Lknª

295.	 36, 48, 64 y™u 72 ™ku „w.‚k.y y™u ÷.‚k.y y™w¢{u
(A) 2 y™u 576		 (B) 4 y™u 288

(C) 4 y™u 576 (D) WÃkh Ãkife yuf Ãký Lknª

296.	 …kt[ ‚ÇÞku™k fwxwtƒ™e nk÷™e ‚huhkþ ô{h 40 ð»ko Au. òu ‚kiÚke ™k™k ‚ÇÞ™e nk÷™e ô{h 10 ð»ko nkuÞ, Œku ‚kiÚke 
™k™k ‚ÇÞ™k sL{™k yuf rËð‚ …qðuo fwxwtƒ™e ‚huhkþ ô{h fux÷e nþu ? ({k™e ÷ku fu yk ‚{Þ„k¤k{kt fwxwtƒ{kt yLÞ 
fkuE ‚ÇÞ W{uhkÞku fu Ëqh ÚkÞku ™Úke.)
(A) 36.5 ð»ko		 (B) 37.5 ð»ko
(C) 38.5 ð»ko (D) WÃkh Ãkife yuf Ãký Lknª

297.	 ƒu xuƒ÷™e {q¤ ®f{Œ™ku ‚hðk¤ku Yk. 62,500 Au. yk xuƒ÷ku y™w¢{u 20% y™u 30% ™k ™VkÚke ðu[kÞ Au. òu Œu{™e 
ðu[ký ®f{Œ ‚h¾e nkuÞ, Œku Œu{™e {q¤ ®f{Œ™ku ŒVkðŒ fux÷ku Úkþu ?

	 (A) Yk. 2,300		  (B) Yk. 2,700

	 (C) Yk. 2,500		  (D) WÃkh Ãkife yuf Ãký Lknª

298.	 ‚h¤ Y… yk…ku : 0.7683 + 0.369 + 0.05 + 0.8 = ?
(A) 1.9872		 (B) 1.9873

(C) 1.9783 (D) WÃkh Ãkife yuf Ãký Lknª

299.	 fux÷kf Akufhkyku y™u Akufheyku ðå[u 42 ™kht„e ðnU[ðk{kt ykðu Au. òu Ëhuf Akufhku 3 ™kht„e {u¤ðu, Œku Ëhuf 
Akufhe™k ¼k„u 6 ykðu Au. …htŒw òu Ëhuf Akufhku 6 ™kht„e {u¤ðu y™u Ëhuf Akufhe 3 ™kht„e {u¤ðu Œku ðÄkhk™e 6 
™kht„e™e sYh …zþu. Œku Akufheyku™e ‚tÏÞk fux÷e nþu ?
(A) 4		 (B) 6

(C) 8		 (D) WÃkh Ãkife yuf Ãký Lknª

300.	 yuf „k{{kt fux÷kf ÷kufku™e ‚huhkþ ô{h 42 ð»ko Au. …ý [fk‚ýe ƒkË {k÷q{ …zâwt fu yuf ÔÞÂõík™e ô{h Œu™e 
ðkMŒrðf ô{h fhŒk 20 ð»ko ykuAe æÞk™u ÷uðkE Au. ykÚke ‚wÄkhk ƒkË, ™ðe ‚huhkþ 1 sux÷e ðÄu Au. Œku ÷kufku™e fw÷ 
‚tÏÞk fux÷e nþu ?
(A) 18		 (B) 19

(C) 20		 (D) WÃkh Ãkife yuf Ãký Lknª
___________________________
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293.	 A committee of 3 members is to be made out of 6 men and 5 women. What is the probability 
that the committee has at least two women ?

(A) 14/37		  (B) 14/33

(C) 16/33		  (D) None of the above

294.	 Y gave 25% of a certain amount of money to X. From the money X received, he spent 
20% on buying books and 35% on buying a watch. After the mentioned expenses, X has  
Rs. 2,700 remaining. How much did Y have initially ?

(A) Rs. 16,000		 (B) Rs. 15,000

(C) Rs. 24,000		 (D) None of the above

295.	 H.C.F. and L.C.M. of numbers 36, 48, 64 and 72 respectively are

(A) 2 and 576		 (B) 4 and 288

(C) 4 and 576		 (D) None of the above

296.	 The average age of a family of five members is 40 years now. If the age of the youngest 
member is 10 years as of now, what was the average age of the family just a day before the 
birth of the youngest member ? (Assume that no other members have been added to or 
removed from this family in this period)

(A) 36.5 years		 (B) 37.5 years

(C) 38.5 years		 (D) None of the above

297.	 Sum of Cost Prices of two tables is Rs. 62,500. These tables were sold at a profit of 20% and 
30% respectively. If their Selling Prices are same, then what is the difference between Cost 
Prices of both tables ?

(A) Rs. 2,300		 (B) Rs. 2,700

(C) Rs. 2,500		 (D) None of the above

298.	 Simplify : 0.7683 + 0.369 + 0.05 + 0.8 = ?

(A) 1.9872		 (B) 1.9873

(C) 1.9783		 (D) None of the above

299.	 42 oranges are distributed among some boys and girls. If each boy gets 3 oranges, then 
each girl gets 6. But if each boy gets 6 oranges and each girl gets 3 oranges then 6 more 
oranges are needed. What is number of girls ?

(A) 4		 (B) 6

(C) 8		 (D) None of the above

300.	 In a village the average age of certain people is 42 years. But after the verification it was 
found that the age of a person had been considered 20 years less than the actual age.  
So the new average, after the correction, increased by 1. The number of people is _______ .

(A) 18		 (B) 19

(C) 20		 (D) None of the above

_______________________
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